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A IMPORTANT INSTRUCTIONS TO CANDIDATES b

1. Questions 'in Section A are to be answered in the medium opted by the
candidate. If a candidate has not opted for Hindi medium, his/her answers in
Hindi, will not be evaluated.

2. Questions in Section B, are to be.answered in English only, by all the
candidates, including those who have opted for Hindi medium.

3. Answers to both the Sections are to be written in the same answer‘book.

SECTION A — (60 Marks)

Question No. 1 is compulsory.
Answer any FOUR questions from the remaining FIVE questions.

In case, any candidate answers extra question(s)/sub-question(s) over and above the required
number, then only the requisite number of questions first answered in the answer book
shall be valued and subsequent extra question(s) answered shall be ignored.

SECTION A

1. (a). X, Y and Z are partners in a firm. They jointly promised to pay Rs. 3,00,000 to D.
Y become insolvent and his private assets are sufficient to pay 1/5 of his share of
debts. X is compelled to pay the whole amount to D. Examining the provisions of the
Indian Contract Act, 1872, decide the extent to which X can recover the amount
from Z. (4 Marks)
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Ravi Private Limited has borrowed Rs. 5 crores from Mudra Finance Ltd. This debt
is ultra vires to the company. Examine, whether the company is liable to pay this

debt? State the remedy if any available to Mudra Finance Ltd.? (4 Marks)
What is meant by delivery of goods under the Sale of Goods Act, 1930? State various
.modes of delivery. (4 Marks)

State the exceptions to the rule "An agreement without consideration is void".
(5 Marks)

What are the essential elements to form a LLP in India as per the LLP Act, 2008?
(5 Marks)

() Distinguish between wagering agreement and contract of insurance. (2 Marks)

OR
(i) Examine with reason that the given statement is correct or incorrect "Minor is
liable to pay for the necessaries supplied to him". (2 Marks)
Distinguish between dissolution of firm and dissolution of partnership. (2 Marks)

What are the consequences of Non-Registration of a Partnership Firm? Discuss.
(4 Marks)

M Ltd., contract with Shanti Traders to make and deliver certain machinery to them
by 30.6.2017 for Rs. 11.50 lakhs. Due to labour strike, M Lid. could not manufacture
and deliver the machinery to Shanti Traders. Later, Shanti Traders procured the
machinery from another manufacturer for Rs. 12.75 lakhs. Due to this Shanti‘
Traders was also prevented from performing a contract which it had made with
Zenith Traders at the time of their contract with M Ltd. and were compelled to pay
compensation for breach of contract. Advise Shanti Traders the amount of
compensation which it can claim from M Ltd., referring to the legal provisions of the
Indian Contract Act, 1872. i - (6 Marks)
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What is appropriation of goods under the Sale of Goods Act, 1930? State the
essentials regarding appropriation of unascertained goods. ' (6 Marks)

X, Y and Z are partners in a Partnership Firm. They were carrying their business
successfully for the past several years. Spouses of X and Y fought in ladies club on
their personal issue and X's wife was hurt badly. X got angry on the incident and he
convinced Z to expel Y from their partnership firm. Y was expelled from partnership
without any notice from X and Z. Considering the provisions of the Indian
Partnership Act, 1932, state whether they can expel a partner from the firm. What
are the criteria for test of good faith in such circumstances? (6 Marks)

Mr. D sold some goods to Mr. E for Rs.5,00,000 on 15 days credit. Mr.D delivered the
goods. On due date Mr. E refused to pay for it. State the position and rights of Mr.D
as per The Sale of Goods Act, 1930. (6 Marks)

Define OPC (One Person Company) and state the rules regarding its membership.

Can it be converted into a non-profit company under Section 8 or a private company?
(6 Marks)

Define Fraud. Whether "mere silence will amount to fraud" as per the Indian
Contract Act, 18727 . (5 Marks)

What is the conclusive evidence of partnership? State the circumstances when

partnership is not considered between two or more parties. (4 Marks)

State the limitations of the doctrine of indoor management under the Companies Act,
2013. (8 Marks)
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SECTION B — (40 Marks)
Question No.7 is compulsory.
Answer any THREE questions from the remaining FOUR questions.

All candidates (including those who have opted for Hindi Medium) are required
'to answer the questions in Section B, in English only.

In case, any candidate answers extra question(s)/sub-question(s) over and above the
required number, then only the requisite number of questions first answered in the
answer book shall be valued and subsequent extra question(s) answered shall be ignored.

(a) Read the passage carefully and answer the questions given below :

A life of action and danger moderates the dread of death. It not only gives us
fortitude to bear pain, but teaches us at every step the precarious tenure on which we
hold our present being. Sedentary and studious men are the most apprehensive on
this score. Dr. Johnson was an instance in point. A few years seemed to him soon
over, compared with those sweeping contemplations on time and infinity with which
he had been used to pose himself. In the still life of a man of letters there was no
obvious reason for a change. He might sit in an arm chair and pour out cups of tea to
all eternity would it had been possible for him to do so. The most rational cure after
all for the inordinate fear of death is to set a just value on life. If we mere wish to
continue on the scene to indulge our head-strong humour and tormenting passions,
we had better be gone at once; and if we only cherish a fondness for existence

according to the good we desire from it, the pang we feel at parting it will not be very

server.
(1) What type of people are afraid ef death and Why? (1 Mark)
(ii) How can we get rid of fear of death? (1 Mark)
(111) What idea do you form about Dr. Johnson from this passage? (1 Mark)
(iv) Write Summary of the Passage. (2 Marks)

MKHZ P.T O
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(b) Read the passage :

(i) Make Notes, using headings, sub headings, and abbreviations whenever
necessary. (3 Marks)

(11) Write Summary. (2 Marks)

(I) Anything printed and bound in a book size can be called a book, but
the quality or mind distinguishes the value of it.

What is a book? This is how Anatole France describes it:” A series of little
printed signs essentially only that. It is for the reader to supply himself the
forms and colors and sentiments to which these signs correspond. It will depend
on him wheather the book be dull or brilliant, hot with passion or cold as ice. Or
if you prefer to put it otherwise each word in a book is a magic finger that sets a -
fibre of our brain vibrating like a hard string and so evokes a note from the
sounding board of our soul. No matter how skilful, how inspired the artist’s
hand, the sound it makes depends on the quality of the strings within

ourselves”.

Until recently books were the preserve of a small section —the urban
upper classes. Some, even today, make it a point to call themselves
intellectuals. It would be a pity if books were meant only for intellectuals and

not for housewives, farmers, factory workers, artisans and , so on.

In India there are first generation learners, whose parents might have
been illiterate. This poses special challenges to our authors and to those who
are entrusted with the task of disseminating knowledge. We need much more
research in the use of language and the development of techniques by which
knowledge can be transferred to these people without transmission loss:
Publishers should initiate campaigns to persuade people that a good book
makes a beautiful present and that reading a good book can be the most
relaxing as well as absorbing of pastimes. We should aim at books of quality no
less than at quantitative expansion in production and sale. Unless one is

constantly exposed to the best, one cannot develop a taste for the good.

MKHZ
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(2) Define visual communication. (2 Marks)

(b) (@) Choose the word which best expresses the meaning of the given word :

(1 Mark)
Perpetual
(1) General 2) Emotional
(8) Stubborn 4) Continuous
(i1)  Select a suitable antonym for the word given in question : (1 Mark)
Disparage
(1) Eulogise (2 Belittle
(3) Alert “) Defame
(1i1) Change the following sentence to indirect speech :
The policeman said to the stranger who are you. (1 Mark)

(¢) Write a précis and give appropriate title to the passage given below :

Teaching is the noblest of professions. A teacher has a scared duty to perform.
It is he on whom rests the responsibility of moulding the character of young children.
Apart from developing their intellect, he can inculcate in them qualities of good
citizenship, remaining neat and clean, talking decently and sitting properly. These
virtues are not easy to be imbibed. Only he who himself leads a life of simplicity,
purity and rigid discipline can successfully cultivate these habits in his pupils.
Besides a teacher always remain young. He may grow old in age, but not in spite.
Perpetual contact with budding youths keeps him happy and cheerful. These are
moments when domestic worries weigh heavily on his mind, but the delightful

company of innocent children makes him overcome his transient moods of despair.
(5 Marks)
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(a) Write any four barriers to effective communication?

(b) Choose the word which best expresses the meaning of the given word ;

(i) Despot
(1) Tyrant (2) Storage
(3) Hot meal (4) Against

(i) Illieit
(1) Storage @) FEmotional

(3) Unlawful (4) Grand

(111) Change the following sentence into indirect speech :

The Shopkeeper says, "prices are shooting up alarmingly.

(e) Write circular addreésiﬁg_ﬁo_ theemployees regardmg -i)'fﬁ!gé_-timings;

(8) @) Whatare the characteristics of effective communication?
OR
(i) What is diagonal communication?

MKHZ
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(b) (@) Complete the expression by supplying a suitable preposition or adverb particle.
Choose your answer from the options given in brackets.

We will take this issue when we meet next week. (1 Mark)
(up/on/over)
(i) Rewrite the following sentence in Passive Voice (1 Mark)

The customer should receive the delivery by Friday.

(iii) Rewrite the following sentence in Active Voice. (1 Mark)

He will be given a ticket for over speeding by the police officer.

(c) Write an article of about 250 words on the topic "Global warming"." (6 Marks)

(a) What are the main steps in the process of communication? (2 Marks)

(b) Select the correct meaning of idioms / phrases given below :
(1) Storm in tea cup (1 Mark)
(1) Crave for something
(2) Drink tea often
(3) Get into quarrel
(4) Making a big issue out of a small thing.

@) To grease the palm (1 Mark)
(1) Treat suffer - (2)  To offer bribe ‘
(3) To swim in deep sea @ To be in deep thought.

(i) Rewrite the following sentences in the active voice : (1 Mark)

The entire district was destroyed by cyclone.

(© Write a memo letter informing the employees of all branches about the suspension

order of Mr.Z, cashier, on charge of misappropriation of fund of the same office.
(5 Marks)

MKHZ P.T.O.
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evaluated.

Questions in Section B, are to be answered in English only, by all the candidates,

including those who have opted for Hindi medium.

Answers to both the Sections are to be written in the same answer book.

No. of Printed Pages — 20

Maximum Marks - 100

Questions in Section A are to be answered in the medium opted by the candidate. If a
candidate has not opted for Hindi medium, his/her answers in Hindi, will not be

SECTION - A (60 Marks)

Question No. 1 is compulsory.
Answer any four questions from the remaining five questions.

Marks

(@) Mr. X and Mr. Y entered into a contract on 1% August, 2018, by which

Mr. X had to supply 50 tons of sugar to Mr. Y at a certain price strictly
within a period of 10 days of the contract. Mr. Y also paid an amount
of ¥ 50,000 towards advance as per the terms of the above contract.
The mode of transportation available between their places is roadway
only. Severe flood came on 2™ August, 2018 and the only road
connecting their places was damaged and could not be repaired within
fifteen days. Mr. X offered to supply sugar on 20" August, 2018 for
which Mr. Y did not agree. On 1% September, 2018, Mr. X claimed
compensation of ¥ 10,000 from Mr. Y for refusing to accept the supply
of sugar, which was not there within the purview of the contract. On
the other hand, Mr. Y claimed for refund of ¥ 50,000, which he had
paid as advance in terms of the contract. Analyse the above situation in
terms of the provisions of the Indian Contract Act, 1872 and decide on

Y’s contention.
MCQS-H
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(c)
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seerizu MEQSHiu8
A company regh@ie86niRE SERIIP S 8P e Companies Act, 2013,

earned huge profits during the financial year ended on 31* March,
2018 due to some favourable policies declared by the Government of
India and implemented by the company. Considering the development,
some members of the company wanted the company to distribute
dividends to the members of the company. They approached you to
advise them about the maximum amount of dividend that can be
declared by the company as per the provisions of the Companies Act,
2013. Examine the relevant provisions of the Companies Act, 2013

and advise the members accordingly.

Differentiate between Ascertained and Unascertained Goods with

example.

What is Contingent Contract ? Discuss the essentials of Contingent

Contract as per the Indian Contract Act, 1872.

Explain the essential elements to incorporate a Limited Liability

Partnership and the steps involved therein under the LLP Act, 2008.

“Though a minor cannot be a partner in a firm, he can nonetheless be

admitted to the benefits of partnership.”

(D) Referring to the provisions of the Indian Partnership Act, 1932,

state the rights which can be enjoyed by a minor partner.

MCQS-H
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(I A. State the liabilities of a minor partner both :

®) @

(i)

(i) Before attaining majority and
(i1) After attaining majority.
OR
B. State the legal position of a minor partner after attaining
majority :
(i) When he opts to become a partner of the same firm.
(ii) When he decide not to become a partner.

Mr. Ramesh promised to pay ¥ 50,000 to his wife Mrs. Lali so
that she can spend the sum on her 30" birthday. Mrs. Lali insisted
her husband to make a written agreement if he really loved her.
Mr. Ramesh made a written agreement and the agreement was
registered under the law. Mr. Ramesh failed to pay the specified
amount to his wife Mrs. Lali. Mrs. Lali wants to file a suit against
Mr. Ramesh and recover the promised amount. Referring to the
applicable provisions of the Contract Act, 1872, advise whether

Mrs. Lali will succeed.

A shop-keeper displayed a pair of dress in the show-room and a
price tag of ¥ 2,000 was attached to the dress. Ms. Lovely, looked
at the tag and rushed to the cash counter. Then she asked the
shop-keeper to receive the payment and pack up the dress. The
shop-keeper refused to hand-over the dress to Ms. Lovely in
consideration of the price stated in the price tag attached to the
dress. Ms. Lovely seeks your advice whether she can sue the
shop-keeper for the above cause under the Indian Contract Act,

1872.
MCQS-H
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4. (a) What is the Doctrine of “Caveat Emptor” ? What are the exceptions to

the Doctrine of “Caveat Emptor” ?

(b) @

(i1)

Mr. A, Mr. B and Mr. C were partners in a partnership firm
M/s ABC & Co., which is engaged in the business of trading of
branded furniture. The name of the partners was clearly written
along with the firm name in front of the head office of the firm as
well as on letter-head of the firm. On 1% October, 2018, Mr. C
passed away. His name was neither removed from the list of
partners as stated in front of the head office nor from the letter-
heads of the firm. As per the terms of partnership, the firm

‘continued its operations with Mr. A and Mr. B as partners. The

accounts of the firm were settled and the amount due to the legal
heirs of Mr. C was also determined on 10* October, 2018. But
the same was not paid to the legal heirs of Mr. C. On 16t
October, 2018, Mr. X, a supplier supplied furniture worth
¥ 20,00,000 to M/s ABC & Co. M/s ABC & Co. could not repay
the amount due to heavy losses. Mr. X wants to recover the
amount not only from M/s ABC & Co., but also f1"0m the legal
heirs of Mr. C.

Analyse the above situation in terms of the provisions of the
Indian Partnership Act, 1932 and decide whether the legal heirs
of Mr. C can also be held liable for the dues towards Mr. X,

Mr. M, Mr. N and Mr. P were partners in a firm, which was
dealing in refrigerators. On 1% October, 2018, Mr. P retired from

partnership, but failed to give public notice of his retirement.

MCQS-H
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After his retirement, Mr. M, Mr. N and Mr. P visited a trade fair
and enquired about some refrigerators with latest techniques. Mr. X,
who was exhibiting his refrigerators with the new techniques was
impressed with the interactions of Mr. P and requested for the
visiting card of the firm. The visiting card .also included the name
of Mr. P as a partner even though he had already retired. Mr. X
supplied some refrigerators to the firm and could not recover his
dues from the firm. Now, Mr. X wants to recover the dues not
only from the firm, but also from Mr. P.

Analyse the above case in terms of the provisions of the Indian
Partnership Act, 1932 and decide whether Mr. P is liable in this

situation.

(a) Mr. G sold some goods to Mr. H for certain price by issue of an

invoice, but payment in respect of the same was not received on that
day. The goods were packed and lying in the godown of Mr. G. The
goods were inspected by H’s agent and were found to be in order.
Later on, the dues of the goods were settled in cash. Just after
receiving cash, Mr. G asked Mr. H that goods should be taken away
from his godown to enable him to store other goods purchased by him.
After one day, since Mr. H did not take delivery of the goods, Mr. G
kept the goods out of the godown in an open space. Due to rain, some
goods were damaged.

Referring to the provisions of the Seﬂe of Goods Act, 1930, analyse the
above situation and decide who will be held responsible for the above
damage. Will your answer be different, if the dues were not settled in

cash and are still pending ?
MCQS-H
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(b) There are cases where company law disregards the principle of

(a)
(b)

(©)

corporate personality or the principle that the company is a legal emtity

distinct from its shareholders or members. Elucidate.

Explain the modes of revocation of an offer as per the Indian Contract
Act, 1872.

State any four grounds on which Court may dissolve a partnership firm

in case any partner files a suit for the same.

Mr. X had purchased some goods from M/s ABC Limited on credit. A
credit period of one month was allowed to Mr. X. Before the due date
Mr. X went to the conipany and wanted to repay the amount due from
him. He found only Mr. Z there, who was the factory supervisor of the
company. Mr. Z told Mr. X that the accountant and the cashier were on
leave, he is in-charge of receiving money and he may pay the amount
to him. Mr. Z issued a money receipt under his signature. After two
months M/s ABC Limited issued a notice to Mr. X for non-payment of
the dues within the stipulated period. Mr. X informed the company that
he had already cleared the dues and he is no more responsible for the
same. He also contended that Mr. Z is an employee of the company to
whom he had made the payment and being an outsider, he trusted the
words of Mr. Z as duty distribution is a job of the internal management

of the company.

Analyse the situation and decide whether Mr. X is free from his

liability.

MCQS-H
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W ‘37 % JEAT BT IR wteef§ 3 A aremm g 8, Sud A 3 | a7 wlameff e
fa< mem o g 8, A et A s dm d, A swF A AR R T =
TR T | |
ot rhanfeiat (=< wrem & whenfiat @ aftfea «&) # wm T, F gt
1 IR S 4 & @ R |
7ot IT gfrent o Q1 T BT ST SR |

T - A Marks : 60

ovA T 1 e R |
Ay Ui y3=1 @ T wm v % I AR |

(a) #MH X T #iWH Y, 1 3R 2018 B Th FIeY FW 8, b 4
FTER AAE X b ffvad it w sgeey & g@ feq @ sfinm Y =t
fafeea fiwa w50 o7 it i gl wR ot | S Y T ogEy &
FTER T 50,000 3B o0 & ¥4 T 31er W & | I ¥ Haw
TS AT & THATT T o7 | 2 30T, 2018 i ofiwor 1@ Hi
T8 9 I 9 H ThAE geh M A A TR LA 6 15 RA T v
3t oft 7T B whet off | ot X, 20 3R, 2018 6 <A+ smfd
1 ITe Td 3 Foereh fore st Y aewa 7 8 & 1 1 fraw, 2018
&1 A X, T Y G 399 STE 1 g % TES 7 10,000
g T H € S 59 agEy % ogER T8 ot | vt '
$iu Y, % 50,000 St fo 3= eifim gmafy & v 8 foy & 39ht g:
Wi Hid & | Wt dfeer sifafem, 1872 % wEuEl % AER IR
fufcr =1 ferscraor SAIfe e Y % marmww fofa v |
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(b) T FR, F fefam, 2013 F w8 F vl chFa WA Y 4
T FEHR G Hifve 3B el it e st g0 st amp e
Ik | 31 7, 2018 H W O A et w1 § w1 g
FATH & | 79 T 1 3w gu w50 wew e ¥ i e
39 gt e fafa | e s, 2013 % st %
AR Foft i e wmie Y iwon F g & w9 gEE
< fo70 3 ammed worh e # | eeeht arffam, 2013 % o TEyE
1 Siter AT 3R IE AR wewd w gama AR |

()~ Truffe aen srfauffe arer % s aft s wam | 4

(2) ‘W T R1E E 7 W W P, 1872 F omER. 4
G STHEw % ATTIH T T IeoRg BT |

(b) Hiftre i wTPIe & wume ¥Y oTTevES o oo @it Tt S
AT ffEm, 2008 % FFER 36 faftv o i smen S |

(a) “Ueh IRAGH 7 A1 BH HT WHEK 9 THaT 8, 71 & e F ol &
sifer sforer € Fepan & 1

O R wrgrer rffm, 1932 & weue $ vl ¥ © smw 4
TTSIER B! YT B T STIHR FaTed |

MCQS-H
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) A. T AT WIHGR & e FaTed :

b) ®

(ii)

() BRI
(ii) TIERAT T A & T
e
B. Th AU WHIGR $H qhal I T & 918 a1
e wared
() 998 3 64§ GPeR IR |
(i) 9 HHGR T T T ol |

AT R T It it Tl 2 50,000 2 T TRy TR E
@ o8 1 303 Sl W W w1 st Al o afy
! foRea s & fore snfera et @ v oY o0 w=n ww B @
& | ot T fefea R o 23 E e e R Riftra oo
2 T R | ST W e T st el 3 T8 it T
o e 8 ma # | sl e, s W 3 freg 918 e
FHT TAT I e Y T TGA BT 1w 2 | AT Gy
ffrm, 1872 % sgEm 38 fRfy w ] 87 I weuE ¥
He # gema i % st weft 5 aheran faeh |

T THMGR 30 Wiew & o el 39 wehfa w8 e =
% 2,000 <t i ot ot | Fore et 3@ i Y Y@ gHHER
% T 3Tt 3R IE MR Y i et 39 0w & R
FEA R | THMGR 30 38 H IR ot Ha & e #§ 33 3@
& R EHR R A R | e wreht s ggm e & fr 7o 9w
WRde wfoer sfufam, 1872 % aria 3w gwmeR ¥ fiwg
ITh SRV H F1E T L T & |

MCQS-H
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(2) “shal Y™ @ Fram & ag 7 e § 2 Far aevE @ an
T IS 8 2

® @

#iTT A, B W C, M/s ABC & Co. T RIS BH § @TEeR
Sit fop w1ifes weiter 1 =R el oft | et & AW 9 w
% AW afdd v F TE wEiew F 9 a9y @ i 5
Setdes W RTA A | 1 FrRER, 2018 Y AR C IR E |
IFHT A AT N TIW FETEE 5 STel ot wrfierd Y g F @
I AT R AeRTE | g e R | Wt F Frewgen v fir
wrifaferat A 3ik B Erdart % are e et § | ek o -
SITET R ST foram v & 3 10 37, 2018 9% S C
HIE SR A 27 TR 7@ A T @ g v
AT C % B SR A o T B R | 16 3R,
2018 1 #WH X I M/s ABC & Co. & % 20,00,000 % F+ffert Y
Y 6l oy FE B A e B S & ST I8 U 3T
T 1 775 | S X 3 T A1 e M/s ABC & Co. & &t #im,
C % T Iqurrenit & off sgeT AT =R § |
WA AEer Afufem, 1932 % Teuml % FER SRe
feufa <6t smen HifSre aen fofa AR 7% @ st c &1 wrh
STitesT oft A X 37 uf S e Rt R

MCQS-H

© The Institute of Chartered Accountants of India

Marks
6



5.

(11)
MCQS-H

(i) M, N 3R P & "r@grt w3 areier 9, 5t e Wi
IR FTt ot | 1 3TRE, 2018 F P R S qrwte g
faa i & Qanfrge &1 I & | 3T Fanfram B F g A M,
N T P U% SR AT 3@ 9o & oK %5 78 ae-ifat ame
Wrfer & e qoams #@ & | s X, S R oy =
FRIfRal o W A eRfa R B A N e P & 7
Hare | wwifed gia € o 9@ 37t vl ot fafifen g atma &
3 fafifen i & anft oft 37 T v wdieR F w9 et
BT @ FGf 9% Aangd & T 2 | fiwe X 5 Wi Hi
Y 39 % H Fea € e ol @ areedt 3 ofin g T W
qTd § | 37e #fiwr X Ao 3 i A1 et w4 @ A AW P A
+ft S T AEA E |
R wrgiert Sififam, 1932 % WEUHT % SR SRS T HY
ST ity qe fofa Hifv % @ sfwr psw fRufa derht § |

(@) #MH G @& Ffved Fima | v nite =% $5 91 AHuq H #

I § TIfehd STh! I 39 fe ITH T K & | 9T ATl 3 g
U G % e H 91 tga & | 9 7Tt St H % 3ifivepwt ot fdeqon
o |t g H 9 BT ] | 91E § W WIS HT WA Fehe W w2 S
8 | The W A o 91 oM G, WM H 9 98 Wit 35 M 8 o
S % foT wed & wif% 97 oA o wilier gan At W § wam B
T | T T & ae oft sfive H 31 A1t ) gt T o | 3@ W
AT G TR AT TMe™ | FreX Feprel = @l d @@ <4 € | SR fY
98 § S AT AT B A2 |

aeg fosra arfafaam, 1930 % wauml & ded § swime RAfy
Treetwor e qen fofr it 6 soiie afy & g = st
BN | 3R < TR Tohg # 379l b ereft €T St A e 3w Ry
ST T TG WA 7 |

MCQS-H
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(b) T8 FB W A el S af e Shuie safea % g a1 19

(a)

(b)

©

forgr=r it arawht Feen & fop et T A T R W oo wat
N FAUTH A TUF 2 | AREIR e i |

WG ey Affaem, 1872 % @R J&E ¥ frgves & ale &
T I | . :
1§ IR AR Farsy e W =rmrer Rt vaeR 3 a1g Teqe e @
T WIHIEH BH T AT T Tl & |

#WH X, M/s ABC foifiRe § %o 7o ore W @die § | v X 5
g AT 1 78R @ et B foheg a8 T @ ved & S ¥ S
<@ TR g e € | el et St s z frew #, W 5 sm
Fot & R Priers € | s z, i X ) 9an ¥ 7 e
Td WS Gt T E, S 9 WTE o 61 g R o s x 3 afr
37ET L Fehd B | A Z 3T TRITER Widd 4 ) TWig aiia W 39
2 | 1 7E 918 M/s ABC feiftrds s X % fe sratam 3 ofr A
M o Te7T T Ffem Tt 60 et R | ofimm X ot o ghve
1o w18 wepran Ui vee & arer W o § ok < orw T fovw SR
TEl € | 9% FPO Y G HQ & 6 R 6w it S Z
S T TR o | wTe Safe 8 % HRor IR AW Z F el
TR R T ifes Fwt & sheicit shi o 37 ST Y
HTHAT BXT R | '

@ foufa &t =men AR ot foly +ifte fF @ sfimm x o
TRE A GH A |

MCQS-H
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SECTION-B (40 Marks)

Question No. 7 is compulsory.

Answer any three questions from the remaining four questions.

All candidates (including those who have opted for Hindi Medium) are required

7.

to answer the questions in Section B, in English only.

(@) Read the passage carefully and answer the questions given below :

“Your room is so ugly that no one can enter your room except
yourself, son. Please take care of yourself at least.” Harish’s mother
was simply shouting at Harish. It was a beautiful Sunday morning and
Harish was in no mood to get up from bed even it was already 9.00
AM. His mother had completed cleaning the whole house except
Harish’s Room. Harish got up and finished his daily routine. Still, he
was only at the receiving end. “All your friends have finished morning
walk, breakfast and completed their weekly homework given in the
college. Just clean your room and take the whole garbage and throw
outside.” Harish was surprised. What is mom speaking about ?
Yesterday only his mom was teaching him about “Swachh Bharat
Abhiyan” and today asking him to throw the garbage outside ! “What’s
this Mom ? Yéu advised me so much and today hallsking to throw

garbage outside ?” Harish had two options, either to follow his

MCQS-H
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mother’s last night advice or to follow her present order. He decided to
follow the first and raised objection. His Mom said, “It was just a book
son, I was téaching from that only.” Harish still objected and threw the

garbage inside a dustbin, located around 200 metres away from his

house.

Is it only a matter of reading only ? Is really cleanliness not
necessary ? Is it a duty of the politicians and Government servants ?
Harish asked himself all the questions to himself and decided to do
what he thought to be proper. If all of us with a little effort try it in our
daily life, slowly, but surely we can clean our environment. Only we
are responsible for all this non-sense. Therefore we have to act. We
have to avoid the use of polythene bags to save our environment; we
have to give up our habit of throwing garbage and used plastic bags
and bottles here and there. Otherwise day will come, when we and our
future generation will be struggling to find a clean road to walk. Think

seriously and act accordingly.

(i) What was the subject matter of the book, which Harish’s mother X
was teaching him last night ?

(i) Who has to act properly to ensure a clean environment ? 1

(iii) Who will suffer if we do not ensure clean environment ? 1

(iv) Write a summary of the above paragraph. 2

MCQS-H
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(b) Read the passage :

(i) Make notes, using headings, sub-headings and abbreviations 3
wherever necessary.
(ii) Write Summary. 2

A good business letter is one that gets results. The best way to get
results is tQ develop a letter that in its appearance, style and content,
conveys information efficiently. To perform this function, a business
letter should be concise, clear and courteous. The business letter must
be concise, don’t waste words. Little introduction or preliminary chat
is necessary. Get to the point, make the point, and leave it. It is safe to
assume that your letter is being read by a very busy person with all
kinds of papers to deal with. Re-read and revise your message until the
words and sentences you have used are precise. This takes time, but is
a necessary part of a good business letter. A short business letter that
makés its point quickly has much more impact on a reader than a long-
winded, rambling exercise in creative writirig. This does not mean that
there is no place for style and even, on occasion, humour in the
business letter. While it conveys a message in its contents, the letter
also provides the reader with an imprgssion of you, its author, the
medium is part of the message. The business letter must be clear. You
should have a very firm idea of what you want to say, and you should
let the reader know it. Use the structure of the letter — the paragraphs,
topic sentences, introduction and conclusion- to guide the reader point
by point from your thesis, through your reasoning, to your conclusion.

Paragraph often, to break up the page and to lend an air of organization

MCQS-H P.T.O.
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to the letter. Use an accepted business letter format. Re-read what you
have written from the point of view of someone who is seeing it for the
first time, and be sure that all explanations are adequate, all
information provided (including reference numbers, dates and other
identification). A clear message, clearly delivered, is the essence of
business communication. The business letter must be courteous.
Sarcasm and insults are ineffective and can often work against you, If
you are sure you are right, point that out as politely as possible, explain
why you are right, and outline what the reader is expected to do about
it. Another form of courtesy is taking care in yoﬁr writing and‘:t’)}ping
of business letter. Grammatical and spelling errors (even if you call
them typing errors) tell a reader that you don’t think enough of him or
can lower the reader’s opinion of your personality faster than anything
you say, no matter how idiotic. There are excuses for ignorance; there
are no excuses for sloppiness. The businesg letter is your custom-made
representative. It speaks for you and is a permanent record of your
message. It can pay big dividends on the tir‘he you invest in_ giii.ng ita

concise message, a clear structure, and a courteous tone.

(@) Describe the term “paralanguage”, a mode of communication.

(b) (i) Choose the word which best expresses\ the meaning of the given

word :

Proficient

(1) Regular (2) Expert
(3) Weak (4) Reserve

MCQS-H
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(ii) Selecta suitable antonym for the following word :

Support
(1) Disturb (2) Attend
(3) Oppose . (4) Attack

(iii) Change the following sentence into indirect speech :
Suchi asked Sunil, “Are you interested to visit the temple ?”
Write a précis and give appropriate title to the passage given below :

Trees give shade for the benefit of others, and while they themselves
stand in the sun and endure the scorching heat, they produce the fruit
of which others profit. The character of good men is like that of trees,
What is the use of this perishable body if no use is made of it for the
benefii of mankind ? Sandalwood, the more it is rubbed, the more
scent dies it yield. Suga:rcane the more it is peeled and cut up into
pleces, the more juice dies it produce The men who are noble at heart
do not lose their qualmes even in losmg their lives. What matters
whether men praise them or not ? What difference does it make
whether they die at this moment or whether lives are prolonged ?
Happen what may, those who tread in the right path will not set foot in
any other. Life itself is unprofitable to a man who does not live for
others. To live for the mere sake of living one’s life is to live the life of
dogs and crows. Those who lay down their lives for the sake of others

will assuredly dwell forever in a world of bliss.

MCQS-H
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9. (a) (i) Discuss “Cultural barrier” in communication. 2
OR

(ii) What do you mean by (A) Vertical and (B) Horizontal formal 2

communication ? -

(b) Choose the word which best expresses the meaning of the given word :

(i) Fiction ... i {01 by 1
(1) Fantasy (2) Story
(3) Fact (4) Reality

(i) Demote 1
(1) Rise (2) Upgrade
(3) Decline (4) -Downgrade

(iii) Change 'the following sentence into indirect speech : “ 1

Shalini gave order to her - younger sister, “Go home
_immediately.”
(c) Write a circular addressmg to the employees regarding re-organization 5
of manpower and their respons1b111ty in finance department of the

company.

10. (a) How do Technology barriers effects communication ? Explain. 2

® @ F111 up the blank with the most suitable preposmon or adverb

glven in the brackets.
He apologized his teacher for his misbehaviour.
(to / from / with / against)

MCQS-H
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(i) Rewrite the following sentence in Passive Voice. 1
Sunita said, “Please give me a glass of water.”
(iii) Rewrite the following sentence in Active Voice. 1
The case should be handled by you carefully since it is critical in
nature, '
(c) Writea NeWspaper Report in 250 words on the topic : 5

“Daughter of Gardener Tops Board Exams,”

1. (a) Non-verbal is also one of the Broad Categories of Communication ? 2

Explain.

| 3

(b) (i) Select the correct meaning of the following idioms/phrases
among the alternatives given below :

Out of the blye
(1) Something happens that was.unexpected.
(2) Something happens that was very much expected.
(3) From the sky
(49) From the Ocean
(ii) Day in and day out , 1
(1) Coming and returning in day time
 (2) The day of importance
(3) Continuously
- (4 Within a day
(iii) Rewrite the following sentence in the' Active Voice : 1
Th;: deer was trapped by the cunning fox.
MCQS-H | P.T.0.

© The Institute of Chartered Accountants of India



(20)
MCQS-H ‘ : Marks
(¢) Mr. Mohit Agarwal, a resident of Meerut, have recently come across 5
an advertisement, for a job vacancy in a leading TV Channel for the |
post of journalist, in The Times of India dated August 1, 2018:
Draft a Resume alongwith a cover letter in response to the

advertisement.

MCQS-H
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usiness Law & Business - : '
Correspondence and Reporting i

BIROTLINGW, o S50y or sy insions coiar s R o s s i - Total No. of Printed Pages : 16

Total No. of Questions: 11 Maximum Marks : 100

Time allowed : 3 Houi-s

. i . IMPORTANT INSTRUCTIONS TO CANDIDATES o

1.  Questions in Section A are to be answered in the medium opted by the
candidate. If a candidate has not opted for Hindi medlum, his/her answers in
Hindi will not be evaluated.

2, ‘Questlons in Sectlon B, are to be answered in English only by all the
candidates, including those who have opted for Hindi medium.

' 8. Answers to both the Sections are to be written in the same answer book.

. : . : | ' )

S-ECTION A — (60 Marks) '

Question No. 1 is compulsory.
Answer any FOUR questions from the remaining FIVE questions.

1. (a) Mr. Sohanlal sold 10 acres of his agricultural land to Mr. Mohanlal on
25th  September 2018 for T 25 Lakhs. The Property papers mentioned a

- condition, -amongst other details, that whosoever purchases the land is free to

~'use 9 acres as per his choice but the remaining 1 acre has to be allowed to be
used by Mr. Chotelal, son of the seller for carrying out farming or other
activity of his choice. On 12th Oct 2018, Mr. Sohanlal died leaving behind his
son and wife On 15th Oct 2018 purchaser started construction of an
auditorium on the whole 10 acres of land and denied any land to the son.

Now Mr. Chotelal wants to file a case agamst the purchaser and get a suitable
redressed. Discuss the above in light of provisions of Indian Contract Act,
1872 and decide upon Mr. Chotelal’s plan of action? (4 Marks)

MAP2
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(b) Sound Syndicate 1td‘i a public company, its articles of association empowers
.tvhelmanag'ing'. agents to borrow both short and long term loans on behaif of
the Cchpany.l Mr. Liddle, the director of the company, approached Ea_sy
finance Ltd. a nonbanking finance ‘corﬁpan.)f for a i(__)an of Rs. 25,00,000 in

name of the company.

The Lender agréed and ,_pr‘o‘vided ‘the above said loan. Later on Sound
Syn‘dicateA Ltd. refused to repay the money borrowed on the pretext that no
‘resolution ‘authorizing such loan have been actually passed by the company

- and the lender should have enquired about the same prior providing such loan

" hence company not liable to pay such loan.

Analyse the above situation in terms of the provisions of Doctrine of Indoor
Management under the :Companies Act, 2013 and examine whether the

contention of Sound Syndicate Ltd. is correct or not? (4 Marks)

(¢) Discuss the various types of implied warranties as per the Sales of Goods Act

119307 | (4 Marks)
MAP2
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“Mere silence is not fraud” but there are some Circumsfanées where the
“silence is fraud”. Explain the circumstances as per the provision of Indian
Contract Act 18727 ' . (7 Marks)

“LLP is an alternative corporate business. form that gives the benefits of
limited 11ab111ty of a company and the ﬂex1b111ty of a partnership”. Explain.
k i (5 Marks)

(1) What is the provision related to the effect of notice to an actmg partner
of the flrm as per Indian Partnership Act 1932? ‘ ' (2 Marks)

L

OR

(i) Discuss the provisions regarding personal profits earned by a partner
under the Indian Partnership Act 19327 i 13 (2 Marks)

“Whet_her a group of persons is or is not a firm, or whether a person is or not a
partner in a firm.” Explain the mode of determining existernce of partnership
as per The Indian Partnership Act 1932? i M .. (4 Marks).

Mr. Rich asplred to get a self- portrait made by an artist. He went to the
workshop of Mr. C an artist and asked whether he could sketch the former’s
portrait on ‘011 pa1nt1ng canvass. Mr. C agreed to the offer and asked for
3 50,000 as full advance payment for the above creative work, Mr. ¢ clar1f1ed
that the painting shall be completed in 10 s1tt1ngs arid-shall take 3 months.

MAP2 ' PT.O.
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On reaching to the workshop for the 6th sitting, Mr. Rich was informed that
Mr. C became paralyzed and would not be able to paint for near'futur'e
Mr. C had a son Mr. K who was still pursuing h1s studies and had not taken

up his father S professmn yet?
Discuss in light of Indian Contract Act 18727

(1) Can Mr. .Rich ask Mr. K to complete the artistic work in lieu of his
father? '

@i1) Could Mr. Rich ask Mr K for refund of money paid in advance to his
father? : (6 Marks)

. (a). “A non-owner can convey better title to the bonafide purchaser of goods for
’ value.” Discuss the cases when a person other than the owner can transfer
title in goods as per the provisions of Sales of Goods Act 1930? - (6 Marks)

(b) M/S. XYZ & Associates, a partnership firm with X, Y, 7 as senior partners
were engaged in the business of carpet manufacturing and exportmg to
foreign countries. On 25th Aug 2016 they inducted Mr. G an expert in the field
of carpet manufacturing as their partner. On 10t Jan 2018, Mr. G .was
blamed for unauthorized activities and thus expelled from the partnership by
united approval of rest of the partners.

(i) Examine whether action by the partners was justified or not?

(i) What should have the factors to be kept in mind prior expelling a
partner from the firm by other partners according to the provisions of the
Indian Partnership Act, 1932? ' : (6 Marks)

MAP2
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M/S Woodworth & Associates, a firm dealing with the wholesale and retail
buying and selling of various kinds of wooden logs, customized as per the
requirement of the .customers, They dealt with Rose Wood; Mango wood; Teak

wood; Burma wood etc.

Mr. Das a customer came to the shop arld askedlfor wooden logs measui‘ing ;

4 inches broad and 8 feet long as required by the carpenter. Mr. Das specifically

mentioned that he required the wood which would be best suited for the

purpose of making wooden doors and window frames. The Shop owner agreed

and arranged the wooden pieces cut into as per the buyers requirements.

The carpenter visited Mr. Das’s house next day, and he found that the seller
has supplied Mango Tree wood which Would most unsu1table for the purpose
The carpenter asked Mr. Das to return the wooden logs as it would not meet

his requirements.

The Shop owner refused to return the wooden logs on the plea that logs were

cut to specific requirements of Mr. Das and her_ice could not be resold.

(1) Explain the duty of the buyer as well as the seller according to the

doctrine of “Caveat Emptor’.

(11) Whether Mr. Das would be able to get the money back or the right k1nd

of wood as required serving his purpose? : o (6 Marks)

What do you mean by “Companies with chdritable purpose” (section 8) under
the Companies Act 2013? Mention the conditions of the issue and revocation

of the licence of such company by the government, (6 Marks)

MAP?2 PT.0.
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Discuss the essentials of Undue Influence as ~13er the Indian Conﬁract

Act, 1872. L ol (5 Marks)

“Indian Partnership Act does not make the registration of firms compulsory

nor does it impose ‘valny penalty for non-registration.” Explain.' ,Disc‘ﬁss the

various disabilities or disadvantages that a non- registered partnership firm

can fa_ce in brief? =5 ; ‘ : . ' (4 Marks)

Popular Products Ltd. is company incorporated in India, having a total Share

Cap-i’_cal of % 20 C,vrovx"es'. The Share capital comprises of 12 Lakh equity shares

. of f 100 each and' 8 Lakhs Preferendé Shares of T 100 eagh. D:eligh-isl Producté_

Ltd. And Happy products Ltd. fhdld 2,50,000 and 3,50,000 shares respectively
. e ‘ &

" in Popular PI‘Ovdl...lCtS 1td. Another 'cplmpanfy'f‘ Cheerfﬁﬂ prodﬁqts ltd. holds

2,550,.000 shares in Popular‘Pr‘(‘;)ducts Ltd. Jovial Ltd. is the holding cdmpa’ny’

* for all above three companies namely Delight Products Ltd; Happy products

1td; Cheerful produéts Itd. Can Jovial Ltd.; be te;riﬁéd aé subsidiary ,compélny

of Popular Prod’ucts‘Lt'd’., if it Controls composition of ‘dii'é‘ctors of Popular

' Products Ltd. State the related provision in the favour of your answer.

(3 Marks)

MAP2
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SECTION B — (40 Marks)

Question No.7 is compulsory.

Answer any THREE questions from the remaining FOUR questions.

(a) - Read the passage carefully and answer the questiQns given below :

Coral reefs are one of the most fragile, biologically éompiex, and diverse
marine ecosystems on Earth. This ecosystem is one of the fascinating
paradoxes of the biosphere. Found alonglt'he sea coasts they are formed in
various shapes and sizes. They constitute as one of the beautiful creations of
nature. Symbiotic cells of algae known as zooxanthellae carry out
photosynthesis using the metabolic wastes of the coral thereby producing food
for themselves, for their corals, hosts, and even for other members of the reef
community. This symbiotic process allows organisms in the reef community to

use sparse nutrient resources efficiently.

Unfortunately for coral reefs, hdwever, a variety of human activities are
causing worldwide degradation of shallow marine habitats by adding
nutrients to the water. Agriculture, slash-and-burn land clearing, sewage
disposal and manufacturing that create waste by-products all increase
nutrient loads in these waters. Typical symptoms of reef decline are
- destabilized herbivore populations and an Increasing abundance of algae and
filter-feeding animals. Declines in reef communities are consistent.with
observations that nutrient input is increasing in direct proportion to growing

~ human populations, thereby threatening reef communities sensitive to subtle

changes in nutrient input to their waters.

MAP2 | P.T.O.
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(1) What are the indicators of 1‘e.¢f decay? .(1 Mark)
(11) How does Algae carry out the process of photosynthesis? (_ll Mark)
(i11)) How is man re'spohsible for-destruction of Natural Reef? (1 Mark)
(iv) Write a Summary of the above.P'aIssétge. vy (2 Marks)

(b) Read the passage : I

(i) > Make Notes, using Headings, Sub headings and’abbreviations whenever

necess’éry. =l _‘ : | ' (3 Marks)

(i) Write Summary. ' : | * (2 Marks)

In most. sectors of the ec0ndmy, it is the seller who attémpts to
a‘ttr’acjc'é po_t'.epnti'al' buyer with -variéus ,.ihduéemepts of price, quality aEnojl
utility and it 1s' 1;he ‘buye’r who vmakes Ithe fde\ci'sion. Where circumstances
pérm'if the buyer no choice because theré is effectively only one .seller
and the prodﬁct 18 rel'éltiveiy eésentjal, government usually asserts

monopoly and- places the industry under price and other regulations.

Neither of fp’hese conditions prevails in most of the he’al"_th-c‘are industry.

MAP2
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: In thé health:(:ar'e industry, t'he dqctox-patient ;relati‘on_ship.i.s the‘
mirror imalgé of the ordinary rela;c.iOnship b.etﬂWe.e‘n pro_ducér’ and
consumer. Once an iridivid_hél has chbseﬁ to see "a ph}lrsiciar'l;.apdv 'e;ve"n
théh thére lriﬁalyfbe no real choice—it 1s the physician who usually makes
all sigriiffcant plﬁ'_chas_ing !décisiéns: whether the patient shogléi‘ return
“next Wednesdz;ly;”' whether X-réYs are needed, Wﬁether drugs should be-
préscribe,(i, etc. It is a ra;'e aA_nvd'so‘phis‘tic-:'at'é’d patieri_’g who w.iliichallénge‘
such prdfeséional de:c-isions or. raise in advance questions gbbut price,

esi)ecially when the ailment is regarded as_seﬁous.

This is particularly significant in relation to ‘hospi_tal‘ care.‘"Thé
phyé.iéian muSt certlzify, the n_e"éldf for hospitalizatioh, detefmiﬁe; what
proced_ﬁfes will be performed and alnnounce when the patient may be
diéchafgea. The patient may be 'coﬁsultéd about some (_)f these d.eci,si_o\r_ls'j
‘but in the‘ main it is the docfor-’ s,judgments that are fiﬁal. Little wonder
thep fhat in the eyes of the hospital it is the p‘hysipiéllzi who is thé réél
f‘céjnsufner.” As a consequence, the medical staff repres:e'nts.\the “power

centre” in 'hosl;ital policy and decision-making, not the administration.:

MAP2 P.T.O.
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Although usually there are in this sit_ix’ation four identifiable
participants—the physician, the hospital, the 'patien't and the payer —

the phys1c1an makes the essential decisions for all of them. The hospltal

Abecomes an extension of the phys1c1an the payer generally meets most of

the bonafide, a bill generated by the physmlan/hospltal and for the most
part the patient plays a passive role. In routme or minor illnesses, or just
plain worries, the pat1ents options are, of course, much greater with
respect to use and price. In illnesses that are of some s1gn1f1cance
however, such choices tend to evaporate or away: DISAPPEAR “my
despair evaporated J F. Wharton”, and it is for these 111nesses that the
bulk of the health-care dollar is spent. We est1mate that about 75 80

-percent of health-care expendltures are "determined by phys1c1ans not

patients. For this reason, economy measures directed at patlents or the .

general publics are relatively ineffective.

8. (a) Define Vertical & Chain Network under network in communication?

(b)

(1)

(2 Marks)

Choose the word which best expresses the meaning of the given word :

(1 Mark) .
Crooked
(1) ‘Straight (2) Tapering
(3) Twisted (4) Circle

MAP2
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(ii) Select a suitable antonym for the word given under: (1 Mark)
Predicament
(1) Injury . (2) Ease
(3) Accident (4) - Horrifying
(iii) Change the following sentence to indirect speech : (1 Mark)

Pari said to me “I have been living in London since last December”

(c). Write a précis and give appropriate title to the 'passaige.giv‘_en below :
India has witnessed great expansion of ,edﬁca'tional,o’ppo].ftunitie's since
the attainment 6f ihdependénce. However, the disabled children have not yet.
. benefited in any subStan£i31 mahnef from the growth in edﬁcatioﬁal facilitieé.
, " Education of handicapped children, ultimately- become more depen‘dent. and
non productive. It is therefore believ’e_ld that scarce national resources should
not be wasted on them. Fﬁft_her, it has been our mi;sconc'eived notion t’hét the
education of handicapped children requires highly s”peéializéd people and as
such, 1t must essentially be very costly. Maybe, precis‘,eb} for these wrong
notions we have not been able to involve clini_cal and educational
specialization programmers of tréining and education éxclusively ‘mea'rllt for
handicapped children. It is enéouraging to note fhat’ the néw National Policy

- MAP2 ‘ P.T.O.
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on Education has recommended the placelnent of such children in regular
'schools so as to provide’ ‘them 1ntegrated educatlon along with normal
students. The 1ntegrated education will take care of the different needs of
varlous categones and types of d1sabled chlldren The obJect1ve is to place the
‘d1sabled children in ordinary schools for 1mpart1ng educat1on w1th the help of
special teachers, aids and other resources.' For fulﬁlling this o'bjective an'l
array of the necessary infrastructure by Qay of training of teachers, provision
- of equipment and book etc are some of the bas1c pre requ181t1on Hopefully,

the parents and the1r hand1capped ch1ldren W1ll be greatly reheved when the

latter are transferred to regular schools. i (5 Marks)

(@) (1) Discuss the “Gender Barrier’ in communication. 2 Marks)
Or

(i) What do you mean by Informal Communication? (2 Marks)

(b)  Choose the word which best expresses the meaning of the given word :

(1 Reckless - (1 Mark)
(1) Cautious N (2) - Clear
(3) Careless | (4)  Fearless
MAP2
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(i) - Humongous et 2l (1 Mark)
(1) Minute - 2  Huge
(3) Hungry (4) Hassel
(iii) Change the following sentence into indirect speech : (1 Mark)

 She said “I am watching a’ te'levis_ion show”

(c) Draft Newspaper Report  0_‘n “Six Lane highway connecting two states

inaugurated” to be publisﬁed in a national ﬁewspép’er. I (5 Marks)
(@) “The listener has to be objective, practlcal and control hlS emotlons” Explain

with reference to importance of hstenmg in commumcatlon? ‘ (2 Marks)

(b) (). Change the sentence from Acti_ve to Passive Voice. (1 Mark)

The teacher always answers the students' questions.

[

(i1) Change the sentence from Passive to Active Voice: (1 Mark)

Every night, the office is vacuumed and dusted by the cleaning crew.

MAP2 ' P.T.O.
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' '(iii) Change the following sentence to indirect speech. (1 Mark)
She said “My Father came yesterday”.

(c)  Write an article of about 250 words on the topic “The Fearless Indian Army”.
' (5 Marks)

11. (a)  Define the importance of Para langﬁage in Non Verbal Communication.
i | (2 Marks)

(b) k _Select the correct meaning of idioms / phrases given below :
() Cry over spilled milk PRER (1 Mark)

(1) Drain milk }
(2) Complain about something that cannot be rectified
(8) Get into altercation with someone

(4) Misbehave wwith someone
() JuEge b e s | (1 Mark)
(1) Reading a book
(2) To detect a ffa_ud
(3) Rely on outward appearances

' (4) To be intimated by appearances °

MAP2
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* .. (i) ~Change the sentence into Active Voice : : (1 Mark)

The Grand Canyon is visited by thousands of tourists every year."

(iv) Choose the word which best expresses the meaning of the given word :

(1 Mark)
Mesmerized
(1) Enthrall (2)  Gruesome
(3.) Scary - " '(4) Harmony

(¢ Write a Formal E Mail: 'Mail is written by the Manager to the employees
about the changed di‘ess code for Republic déy function including time and

venue of function. - . . (4 Marks)

MAP2 P.T.0.
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IMPORTANT INSTRUCTIONS TO CANDIDATES

1. Questions in Section A are to be answered in the medium opted by the
candidate. If a candidate has not opted for Hindi medium, his/her answers in
Hindi, will not be evaluated.

2. Questions in Section B, are to be answered in English only, by all the )
candidates, including those who have opted for Hindi medium.

3. Answers to both the Sections are to be written in the same answer book.

N -

SECTION A — (60 Marks)

Question No. 1 is compulsory.

Answer any FOUR questions from the remaining FIVE questions,

1.© (a) X found a wallet in a restaurant. He enquired of all the customers present there but
the true owner could not be found. He handed over the same to the manager of the
restaurant to keep till the true owner is found. After a week he went back to the
restaurant to enquire about the wallet. The manager refused to return it back to X,
saying that it did not belong to him.

In the light of the Indian Contract Act, 1872, can X recover it from the Manager?
(4 Marks)

LTC




(b)

(©

(a)

(b)

(a)

(b)

()

(2)
LTC

Mr. Anil formed a One Person Company (OPC) on 16t April, 2018 for manufacturing
electric cars. The turnover of the OPC for the financial year ended 31st March, 2019
was about Rs. 2.25 Crores. His friend Sunil wanted to invest in his OPC, so they

decided to convert it voluntarily into a private limited company. Can Anil do so?
: (4 Marks)

State the various essential elements involved in the sale of unascertained goods and
its appropriation as per the Sale of Goods Act 1930. (4 Marks)

Define consideration. What are the legal rules regdrding consideration under the
Indian Contract Act, 18727 (7 Marks)

N

Discuss the conditions under which LLP will be liable and not liable for the acts of
the partner. , o (5 Marks)

(1) When the continuing guarantee can be revoked under the Indian Partnership
Act, 19327 ' | - (2 Marks)

OR

(i) What do you mean by Goodwill as per the provisions of Indian Partnership Act,
19327 (2 Marks)

With reference to the provisions of Indian partnership Act, 1932 explain the various
effects of insolvency of a partner. (4 Marks)

Mr. Sonumal a wealthy individual provided a loan of Rs. 80,000 to Mr. Datumal on
26.02.2019. The borrower Mr. Datumal asked. for a further loan of Rs. 1,50,000.
Mr. Sonumal agreed but provided the loan in parts at different dates. He provided
Rs. 1,00,000 on 28.02.2019 and remaining Rs. 50,000 on 03.03.2019.

On 10.03.2019 Mr. Datumal while paying off part Rs. 75,000 to Mr. Sonumal insisted
that the lender should adjusted Rs. 50,000 towards the loan taken on 03.03.2019 and
balance as against the loan on 26.02.2019.

LTC




(a)

(b)

(a)

(3)
LTC

Mr. Sonumal objected to this arrangement and asked the borrower to adjust in the
order of data of borrowal ¢f funds.

Now you decide:

() . Whether the contention of Mr. Datumal correct or otherwise as per the
provisions of the Indian Contract Act 1872?

(i) What would be the answer in case the borrower does not insist on such order of
‘adjustment of repayment?

(iii)) What would the mode of adjustment/appropriation of such part payment in case
neither Mr. Sonumal nor Mr. Datumal insist any order of adjustment on their
part? . (6 Marks)

What are the rights of an unpaid seller agalnst goods under the Sale of Goods Act,
19307 ! (6 Marks)

Master X was introduced to the benefits of partnership of M/s ABC & Co. with the
consent of all partners. After attaining majority, more than six months elapsed and
he failed to give a public notice as to whether he elected to become or not to become a
partner in the firm. Later on, Mr. L, a supplier of material to M/s ABC & Co., filed a
suit against M/s ABC & Co. for recovery of the debt due.

In the ljéht of the Indian Partnership Act, 1932, explain:

@ " To what extent X will be liable if he failed to give public notice after attaining
majority? :

(i) Can Mr. L recover his debt from X? "~ (6 Marks)

Mrs. Geeta went to the local rice and wheat wholesale shop and asked for 100 kgs of
Basmati rice. The Shopkeeper quoted the price of the same as Rs. 125 per kg to
which she agreed. Mrs. Geeta insisted that.she would like to see the sample of what

will be provided to her by the shopkeeper before she agreed upon such purchase.

The shopkeeper showed her a bowl of rice as sample. The sample exactly
corresponded to the entire lot.

LTC P.T.0.




(b):

(a)

(b)

()

(4)
LTC

The buyer examined the sample casually without noticing the fact that even though

the sample was that ¢f Basmati Rice but it contained a mix of long and short grains.

The cook on opening the bags complained that the dish if prepared with the rice
would not taste the same as the quality of rice was not as per requirement of the
dish.

Now Mrs. Geeta wants to file a suit of fraud against the seller alleging him of selling

mix of good and cheap quality rice. Will she be successful?
Explain the basic law on sale by sample under Sale of Goods Act 19307

Decide the fate of the case and option’s open to the buyer for grievance redressal as

per the provisions of Sale of Goods Act 19307

What would be your answer in case Mrs. Geeta specified her exact requirement as to
length of rice? { i (6 Marks)

o

“The Memorandum of Association is a charter of a company”. Discuss. Also explain in

‘brief the cbnteﬂts of Memoi'andum of Association. ° . (6 Marks)

Explain ‘the term ‘Coercion’ and what are the effects of coercion under Indian

Contract Act, 1872. (5 Marks)
“Dissolution of a firm is different from dissolution of Partnership”. Discugs. (4 Marks)

A, an assessee, had large income in the form of dividend and interest. In order to
reduce his tax liability, he formed four private limited company and transferred his
investments to them in exchange of their shares. The income earned by the
companies was taken back by him as pretended loan. Can A be regarded as separate

from the private limited company he formed? i (3 Marks)

i
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(a)

(iv) Write a Summary of the above Passage.

\ (5)
LTC

SECTION B — (40 Marks)
Question No.7 is compulsory.

]
Answer any THREE questions from the remaining FOUR questions.

Read the passage carefully and answer the questions given below :

Being the daughter of a physics professor, Marie who was born in 1867 in Warsaw,
Poland, was greatly influenced by the wonders of Science and technology. Since an
early age, she displayed a blithe personality. Her fascination for learning prompted
her to continue with her studies even after school. She become disgruntled, however,
when she learned that the university in Warsaw was closed for women. Determined
to complete higher education, she,defiantly left Poland and in 1891 entered the
Sorbonne, a French university, where she completed her doctorate in physics.

Marie met Pierre Curie at the Sorbonne along with some of the other greatest
scientists of her day. Marie¢ and Pierre were married in 1895 and spent many
prodlictive years working together in the physics laboratory. A short time after they
discovered radium, Pierre was killed by a horse-drawn wagon in 1906. For Marie it
was an horrible misfortune and heartbreaking event. Despondently she recalled their
close relationship and the joy _that they had shared. in scientific research. The fact
that she had two young daughters to raise by herself greatly increased her distress.

Curie’s feeling of desolation finally began to fade when she was asked to succeed her
husband as a physics professor at the Sorbonne. She was the first woman to be given
a professorship at the world-famous university. In 1911 she received the Nobel Prize
in physics for isolating radium. Although Marie Curie eventually suffered a fatal
illness from her long exposure to radium, she never became disillusioned about her
work. Regardless of the consequences, she had dedicated herself to science and to

" revealing the mysteries of the physical world.

(i) What did Marie did not like about the Warsaw University? (1 Mark)
(i) What was first step that Marie took towards her becoming a scientist? (1 Mark)

; (1i1) How did Marie deal with the 'desqlation caused by her husband’s death?

(1 Mark)
(2 Marks)

LTC " P.T.O.




iy

(b)
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Read the Passage :

@

(i1)

2

Make Notes, - using Headings, Subheadings and abbreviations whenever

necessary. 9 ’ @3 Marks)

Write summary ; (2 Marks)

\People do not always do the things we want them to do. No matter how

reasonable or minimal our expectations may be, there are tlmes ‘when we are
let down. Naturally, we feel upset and hurt when our ekpectations are not met.
We dread confrontations because they are unpleasant and can damage

relationships.

Yet not confronting a person does not solve the problem because unresolved
issues also affect relationships in an adverse way. Actually, the real problem

lies in our style of confrontation, not in the issue.

Typically, we use character-based confrontations. They help in venting our
anger and hurt, but that is the only thing they do. They lead to angry show-
downs and bring all discussions to a grinding halt. It is important to remember

that self-image is the most important possession of all human beings.

It is the way we view and regard ourselves in our own eyes and in the eyes of
others. As self-conscious beings, we are actually aware of our image and

constantly work towards protecting it from any damage.

We also seek approval from others about our own self-image. We feel distraughf
if we sense thét there is even a slight threat to our self image,. because our
character is the essence of our lives. To eflsure a rational dialogue over dashed
expectations, we need to deploy issued based confrontations. They involve an
exﬁlanation of which actions have bothered us, in what manner and what

changes we would like from the other person.

LTC




(a)

(b)

(7)

LTC

Discuss the process of communication.

@)

(ii)

(iii)

Choose the word which best expresses the meaning of the given word :

Abundant
(1) Plentiful
(2) Sufficient
(3) Enough

(4) Many

Select a suitable antonym for the word given under:

Adumbrate

(1) Elaborate
(2) Summarize
(3) Angry

(4) Happy

Change the following sentence to indirect speech:

Reena said, “Nobody can solve the problem on the earth”.

LTC
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(1 Mark)

(1 Mark)

(1-Mark)
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Write a Précis and give appropriate title to the passage given below:

DNA degrades quickly after an, animal dies, so researchers once believed it
impossible to find ancient genetic material. The search for primeval vestiges of DNA
took off in the late 1980s after the development of a technique called polymerase
chain reaction (PCR), which copies minute quantities of DNA. Armed - with PCR,
scientists could look for tiny fragments of DNA that might have weathered the
millennia unharmed.

In recent years, researchers have isolated DNA from 20-million-year-old magnolia
leaves and extracted DNA from a 135-million-year-old weevil found in amber.
Recently, a team extracts DNA from bone dating back millions of years for the first
time. In the frenzied hunt for ancient DNA, microbiologist Scott R. Woodward may
have bagged the biggest quarry. Drawing on lessons learned while growing up among
the fossil-rich rocks of eastern Utah Woodward and his team became the first people
to find genetic material belongmg to a dinosaur. ! '

Woodward, whose grandfather was a coal mirner, kﬁew that mines in the area often
contained dinosaur traces. After six months of looking Woodward pulled two bone
fragments from a Cretaceous siltstone layer direictly a top a coal seam. Impeded by

an unstable mine roof, Woodward’s team could not recover any more bone samples.

The siltstone apparently inhibited fossilization and preserved much of the original

cell structure in the bone. Researchers isolated strands of DNA from both.fragments
and used PCR to copy a segment that codes for a protein called cytochrome b. Once
they had made many copies, they could determine the DNA sequence.

Throughout their work, the biologists took precautions to avoid contaminating the
samples with modern DNA or ancient material found vﬁthin the coal. According to
Woodward, circumstantial evidence. indicates that the bone fragments belong to one
or two species of dinosaurs. Dinosaur tracks are abundant in this coal formation,
and the bones visible in the mine were larger than those of a crocodile — the biggest

non-dinosaur known in these rocks. ; ~ (5 Marks)

LTC
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(b)

(©)

(@)

(ii)

@

(i)

(i11)

(9)

LTC
Discuss the term “Visual Communication” in communication. (2 Marks)
OR
L ] -
What do you mean by an “Attitude Barrier”? (2 Marks)

Choose the word which best expresses the meaning of the given word: (1 Mark)

Relevant

(1) Related
(2) Important
(8) Pertinent

(4)  Common

Choose the word which best expresses the meaning of the given word: (1 Mark)

Unabashed

(1) Not fast

(2) Not Finding

(3) Not Embarrassed
(4) Not Angry

Change the following sentence to indirect speech: (1 Mark)

He said, “Will you all come for the meeting?”

Draft Newspaper Report on “Flood situation grim in southern, western states” to be

published in a National newspaper. (5 Marks)

LTC P.T.O.
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(a)

(b)

(c)

(a)

(b)

(10)
LTC
Explain how emotional awareness and control helps in communication? (2 Marks)
¥ N
(i) ' Change the sentence from Active to Passive Voice. (1 Mark)

The audience loudly cheered the Prime Minister’s speech.

(i) Change the sentence from Passive to Active Voice (1 Mark)

The Bird was killed by a cruel boy.

~(ili) Change the following sentence to indirect speech. (1 Mark)

He said, “My Mother is writing letters”.

Write an article of about 250 words on the topic, “The importance of water
conservation” : " (b Marks)

Define the areas where chain network of communication is found in an organization.
' ' (2 Marks)

Select the ¢orrect meaning of Idioms/Phrases given below:

(1) Takes Two to Tango (1 Mark)
(1) Two people are required for dancing |
(2) Two people are required for creating mischief.
(8) Two people required to clean floor.

(4) Two people required to help others.

(i) Storm in a teacup (1 Mark)
(i) Crave for something
(2) Least importance

(3) Emergency situation

(4) Make a big issue out of a small thing.
LTC




(11)
LTC

(iii) Change the sentence into Active Voice: (1 Mark)
They will be given a ticket for over speeding by the police inspector.

(iv): Choose the word which best expresses the meaning of the given word. (1 Mark)
Myriad
(1) Dramatic
(2) To Fetch
(3) Many

(4) Confusion

(c) Write a letter to a bank requesting them to stop payment of a cheque which has been
reported lost. o (4 Marks)

LTC P.T.O.
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Questions in Section—A are to be answered in the medium opted by the candidate. If a

candidate has not opted for Hindi medium, his/her answer in Hindi, will not be evaluated.

Questions in Section — B, are to be answered in English only, by all the candidates,

including those who have opted for Hindi medium.

Answer to both the Sections are to be written in the same answer book.

SECTION-A : Marks : 60

Question No. 1 is compulsory.

Answer any four questions from the remaining five questions.

Marks

1. (a) Mr. X a businessman has been fighting a'long drawn litigation with 4
Mr. Y an industrialist. To support his legal campaign he enlists the
services of Mr. C a Judicial officer stating that the amount of ¥ 10

lakhs would be paid to him if he does not take up the brief 6f Mr. Y.

Mr. C agrees but, at the end of the litigation Mr. X refuses to pay to
Mr. C. Decide whether Mr. C can recover the amount promised by

Mr. X under the provisions of the Indian Contract Act, 1872 ?
HYB-H P.T.O.
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(b)

(©)

(a)

(®)

)
| 5 HYB-H
ABC Limited has allotted equity shares with voting rights to XYZ
Limited worth ¥ 15 Crores and issued Non-Convertible Debentures
worth ¥ 40 Crores during the Financial Year 2019-20. After that total
Paid-up Equity Share Capital of the company is ¥ 100 Crores and

Non-Convertible Debentures Stands at ¥ 120 Crores.

Define the Meaning of Associate Company and comment on whether
ABC Limited and XYZ Limited would be called Associate Company

as per the provisions of the Companies Act, 2013 ?

Write any four exceptions to the doctrine of Caveat Emptor as per The

Sale of Goods Act, 1930.

Define Misrepresentation and Fraud. Explain the difference between

Fraud and Misrepresentation as per the Indian Contract Act, 1872.

State the circumstances under which LLP may be wound up by the

Tribunal under the Limited Liability Partnership Act, 2008.

1ot

() What do you mean by ‘Partnership at will’ “as per the Indian
Partnership Act, 1932 ?

OR

(i) Comment on ‘the right to expel partner must be exercised in

good faith’ under the Indian Partnership Act, 1932.

HYB-H
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(b) Referring to the Provisions of the Indian Partnetship Act, 1932, 4

answer the following :

(i) What are the consequences of Non-Registration of Partnership
firm ?

(i) What are the rights which won’t be affected by Non-Registration

of Partnership firm ?

(¢) In light of provisions of the Indian Contract Act, 1872 answer the 6

following :

(i) Mr. S and Mr. R made contract wherein Mr. S agreed to deliver
paper cup manufacture machine to Mr. R and to receive payment
on delivery. On the delivery date, Mr. R didn’t pay the agreed
price. Decide whether Mr. S is bound to fulfil his promise at the

time of delivery ?

(ii) Mr. Y given loan to Mr. G of INR 30,00,000. Mr. G defaultqd the
loan on due date and debt became time barred. After the time
barred debt, Mr. G agreed to settle the full amount to. Mr. Y.
Whether acceptance of time barred debt Contract is enforceable
in law 2

(iii) A & B entered into a contract to supply unique item, alternate of
which is not available in the market. A refused to supply the
agreed unique item to B. What directions could be given by the

court for breach of such contract ?

HYB-H P.T.O.
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(a)

(b)

(2)

@)
HYB-H
Explain any six circumstances in detail in which non-owner can

convey better title to Bona fide purchaser of goods for value as per The

Sale of Goods Act, 1930.

P, Q, R and S are the partners in M/S PQRS & Co., a partnership firm

which deals in trading of Washing Machines of various brands.

Due to the conflict of views between partners, P & Q decided to leave
the partnership firm and started competitive business on 31% July,
2019, in the name of M/S PQ & Co. Meanwhile, R & S have
continued using the property in the name of M/S PQRS & Co. in
which P & Q also has a share.

Based on the above facts, explain in detail the rights of outgoing

partners as per the Indian Partnership Act, 1932 and comment on the

following :

(i) Rights of P & Q to start a competitive business.

(i) Rights of P & Q regarding their share in property of M/S PQRS
& Co. :

Ms. R owns a Two Wheeler which she handed over Yo her friend
Ms. K on sale or return basis. Even after a week Ms. K neither
returned the vehicle nor made payment for it. She instead pledged the
vehicle to Mr. A to obtain a loan. Ms. R now wants to claim the Two

Wheeler from Mr. A. Will she succeed ?

HYB-H
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(i) Examine with reference to the provisions of the Sale of Goods

Act, 1930, what recourse is available to Ms. R ?

(i) Would your answer be different if it had been expressly provided
that the vehicle would remain the property of Ms. R until the

price has been paid ?

(b) What are the significant points of Section 8 Company which are not 6
applicable for other companies ? Briefly explain with reference to

provisions of the Companies Act, 2013.

(a) Enumerate the differences between ‘Wagering Agreements’ and S
‘Contract of Insurance’ with reference to provision of the Indian

Contract Act, 1872.

(b) Explain in detail the circumstances which lead to liability of firm for 4
misapplication by partners as per provisions of the Indian Partnership

Act, 1932,

(c) Mike Limited company incorporated in India having Liaison office at 3
Singapore. Explain in detail meaning of Foreign Company and
analysis..on whether Mike Limited would be called as Foreign
Company as it established a Liaison office at Singapore as per the

provisions of the Companies Act, 2013 ?

HYB-H P.T.O.
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mﬁaﬁhﬁﬁ@ﬁwﬁ@%%aﬁmﬂm% WIT-31 H T¥1 o IR hareT 31sh &
g
a1g wiierelf forea <) mmeam 7 g 8, 9 R A s Am R, A ser R A R
ST T e ATeh TE G |
aft wteTfeT gRT SIT-w % et % SO haw sieh § @ 23 €, 3 whenfi g o
e & wiem 1 == e @
g1 9T o ST T & Sei-gfent  fora # |
- Marks : 60
¥ AT 1 31fE §
A gfe e # @ b TR et % I AR |

Marks

L (@ XU =q@rfl @ St O Samfa Y % @ o o<t qeeiesh & 4
HHEHAT T &1 & | 379 St SR w61 gmel o % fve e ¢, o
=AM ST Hi Fanait A gehag fr B T8 ¢ B 7 10 @@ 3m
I C, Y 1 ugg TE S |

C 3@ T8 wEwa &) T Ui YeeRETSh 3k 3 § X ¥ ¢ @ 4 23X
w1 R e | Fofer & fo st srgeey arferfm, 1872 % W %

JerTiel T C, X & FF TN Gt 9 ThaT 8 7

(b) ABC . 9% 15 FU Teo % WATREHR Ao TWAT 31 A1 T 40 FAS 4
A o JfEdeiie o fef o 2019-20 % O Xyz f1. |
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TS w1 a1 afeTii s 3R feuroft i fo6 wm ABC fo1. 3k
XYz . = yredia st srfufrm, 2013 & STgER dg™s FE
HET T ?

g Torsrar arfufrm, 1930 % SIER “Sha Ty @ o fagid & I8
TR HAYETE [ |

fireamaula qer wue i aRTig @t | W Agey rfafem, 1872 %
FTHR FY2 a2 foreamauls & 37adi i fae=mn =t |

- iftra SR wied stfufEm, 2008 % Ir=mta fosme & g fod

yhferfm & Hifte efra arier o1 gaea foaan s awar @ |

() W argert fifaEm, 1932 % FgER wfves dEedt § A

T T @ 7
FHY

(i) “GEeR w1 Frehifih w0 % PR #1 T FgWE § g
TIfRe” TR drger) AT, 1932 % Jwid ST HYH T
feoquft &% | |

R wriert i, 1932 % TawFi % gey # Frfofed 1 ew e :

(i) e wH % R defiehor 7 U 3 F1 IR g ?

(i) YSTeRtoT 7 U I T H AR B B § ARHR THIRIG
TE & 7

T 3Ty SR, 1872 % Saur % ded # fe w1 I ¢

Q) fsaﬂxk%mwgm%s&mwmﬁmmﬂqﬁ

[t R w1 & 3R agert 3 qu & e e | wgert st faf
T R 3 37 Ul 1 e T R | fofar Hifsre fe =0 s Tt
% U U =1 B (A % fee sea g 2
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() Y G I 30,00,000 FrH0 fean | G 3 Rifer ¢ swwr bt e
"TE 9T 3R O qHF A1 B AT | RO gHY RGN %
915 G, Y % |1y I U fAven & fore wewa € | @ wwe
SR 07 STe4 3h1 Tiepf T b A=ia a9 8 ?

(iii) A @1 B ¥ Afgdta awqatt i smyfd # sgaey fora, Vet s
a1 STe # W1 famrea 7 81 | A 7 B Y ffee orfefi sregaft
<61 Jfet <t & 7 T e | U@ e W @ived €1 o g i
AT g fdw feu smEsha § ¢

&g forsht srferfram, 1930 % S1qER foheel ©: uftfeuforit w1 foramgdes
0 < fH TR-Tareft aTfereh Shl Bl e % SEo SR T ST
e Y R THATR |
M/SPQRS&CO,@a@aﬁwﬁﬁP,Q,R,s@%ﬁ%shﬁsm@
i q1eft 73 o fafie sl #§ =R s R |

HRERl % 76y faae 3O BN % R, P 3R Q 4 wEer wH H
Big 1 favia form 3 31 ST, 2019#%3&1%9@1%&1
&= T M/S PQ & Co. T@T | 34t &R R 3R S & wEafy %1 S
T §UM/S PQRS & Co; % 1 & =ye@r It Tt R p 3t Q 1
ot feemm o | 1

ST HUAT % HUR N, m?ﬁawréaﬁaﬁ%rﬁm 1932 % 3TIHR

' @maﬁa@a@aﬁ%mwm%aﬁtﬁmﬁﬁamﬁwﬁ

W

(i) P 3R Q % Wit SHUR T & AARFR

(i) P 3 QF M/S PORS & Co. it Graferdi & faedl it ST
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R S 7% & e arew ) qmefeT 8, 3aq 3ot f K @l fsea an

9 F HATUR T ATET W1 | Teh HATE sie o §1g | K o 7 O e

it R 3R 7 & SHeT AW 60 | 36 SO 3T 0 I HH

¥ e amea 1 A % o e @ A | s R, A @ ) ufgEn ST

S AT AT 2 | 1 TE FHA B 7

() &g fesh srfufem, 1930 % wEgH! % Hed § R & I ITTey
fepeat =1 fftaor & |

(i) =T 3T TR = g 9fe 98 wose kA R g 6 amEA R
61 & Tty @it 91« qeh hiFa BT YA A1 fRa1 AT ?

U1 8 % IF=rid WG HHAET $ F AFAP! fog § H 6 gl
mﬁa‘immqﬁaﬁ ? et AAffam, 2013 % JEYE % AR
T § Fam |

ST I ST, 1872 % FUTH! % SRR aTeft % &0 3

Wi arErerd arfifam, 1932 % IgWR wTgieR g fey e TR %
fore o % e w1 fereamgees avi & |

Mike f1. el it 6 s § widifer g #, e gerh e
g # ® | e AfifaEm, 2013 % TEUE % SHER wH foe
w1 7 wand oft fawdwor i f6 # Mike 1, 1w facHft
HET T T Hehell & e ST TPTeh Hraterd g § wmfua € 2
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SECTION-B Marks : 40

Question No. 7 is compulsory.

Answer any three questions from the remaining four questions.

(a) Mr. Ramesh, the HR Head of ABC Insurance Co. Ltd., who is having

charge of training and development also, during his twelve years with
the Company. He had the experience of training and developing
numerous employees, only to see many of them leave the firm after
getting their advanced degrees. The Company has a Policy of
reimbursement of 90% of the cost incurred on tuition fee, books etc.
for acquiring such qualifications. Only those employees who have
taken prior permission of HR before enrolment in such program/degree
and completed three years of service are eligible for seeking the
reimbursement. A proof of its popularity was that most of the junior
and middle level managers had availed this facility’ to advance their
qualifications.

Mr. Kumar, a Sales Executive, who had joined the Company just three
years ago had also availed the aforesaid facility for pursuing a course
in Business Management and had recently competed his master’s
degree in business management and submitted the same to the
Company for seeking reimbursement and recdfding additional

qualifications acquired in official records.

Mr. Ramesh congratulated him and added the additional qualifications
acquired by him in the Company records and assured him to consider
him for higher position keeping in view his qualifications in near
future and of course subject to availability of vacancy as per the
approved Organisation Chart. Further Mr. Ramesh allowed
reimbursement of 90% of the cost incurred as per the Policy.

Mr. Kumar on his achievement when he came to'see and thank HR

HYB-H
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Head, but was strongly taken aback when he expressed his intention to
leave the Company in favour of a competitor because he did not see
any future for himself in ABC Insurance Co. Ltd. Head HR was
annoyed as this had happened so many times in the past. He
immediately rushed to see the Marketing Director to seek support for
reviewing and discontinuing the Policy of educational reimbursement
with immediate effect or to put a condition that all those employees
who acquired such qualifications and reimbursed 90% of the expenses
shall at least serve the Company for a minimum of 3 years after

seeking such reimbursement.

(i) What could be the possible reasons behind employees quitting
the Company after acquiring higher qualifications ?

(i) Is there any need to amend or abandon the Policy of educational

reimbursement ?

(iii) What measures do you suggest for overcoming high employee

attrition problem ?

Read the Passage :

() Make Notes, using Headings, Subheadings and abbreviations

whenever necessary.
(i) Write Summary

Recycling is simply the process of reusing the items from which utility
can still be derived. It is important to recycle waste so that we can at
least conserve some of our natural resources for the generations to
come. Many products such as paper, cardboards, and cups come from
trees. In fact trees are our natural assets; you can conserve trees by
recycling the paper products as by doing so we can minimize the

number of trees cut down a year. This is one form of waste recycling.

HYB-H
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Recycling waste will not only save our natural resources but will also
help save energy. By simply recycling an item or making a basic fix to
it, we can save all the energy that would have been consumed in the
process of making it. The same example can be taken with plastic
items. A large amount of energy can be saved by simply reusing the
plastic items. To recycle waste is to simply reduce pollution. By
recycling plastic material, we can reduce air pollution as well as water
pollution. Plastic factories produce a large amount of smoke while
producing plastic material at the same time; if we don’t have a proper
waste disposal system then those waste emissions will cause water
pollution. Recycling helps reduce pollution too.

In simple words, recycling waste is essential for both the natural
environment and humans. To sum up, recycling minimizes the need
for raw materials so that the rainforests can be preserved. Great
amounts of energy are used when making products from raw materials.
Recycling requires much less energy and therefore helps to preserve
natural resources. One needs to know the importance of recycling; at
the same time being earth friendly can help make our planet a better

place to live in.

(a) Body language speaks the truth while speaker may play with words to )]
hide the truth, comment ?

(b) (i) Choose the word which best expresses the meaning of the given 1
word :

SCINTILLATING
(1) Smouldering
(2) Glittering
(3) Touching
(4) Warming:

HYB-H
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(ii) Select a suitable antonym for the word given under : 1
Fidelity

(1) Commitment

(2) Inconstancy

(3) Ambitious

(4) Devotion
(iii) Change the following sentence to indirect speech : 1

Varun Said, “Every Kid should learn coding”.

(c) Write a précis and give an appropriate title to the passage given below : 5

These days, il is not unusual to see people listening to music or using
their electronic gadgets while crossing busy roads or travelling on
public transport, regardless of the risks involved. 1 have often
wondered why they take such risks, is it because they want a sense of
independence, or is it that they want to tell everybody to stop bothering
them ? Or is it that they just want to show how cool they are? Whether
it is a workman or an executive, earphones have become an
inseparable part of our lives, sometimes even leading to tragicomic

situations.

The other day, an electrician had come to our home to repair iron. We
told him in detail what the fault was and needed to be done. But after
he left, I found that the man had done almost nothing and iron was not
working even after repair. It later turned out that he could not hear our
directions clearly because he had an earphone on. Many of such
earphones addicts commute by the Metro every day. While one should
not be grudge anyone their moments of privacy or their love for music,

the fact is ‘iPod oblivion’ can sometimes be very dangerous.

HYB-H P.T.O.
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Recently, I was travelling with my wife on the Metro. Since the train
was approaching the last station, there weren’t too many passengers. In
our compartment, other than us, there were only two women sitting on
the other side of the aisle. And then suddenly, I spotted a duffel bag.
The bomb scare lasted for several minutes. Then suddenly, a youth
emerged from nowhere and picked up the bég. When we tried to stop
him, he looked at us, surprised. Then he took off his earpieces, lifted
the bag, and told us that the bag belonged to him and that he was going
to get off at the next station.

We were stunned but recovered in time to ask him where he was all
this while, His answer was that in the compartment, leaning against the
door totally involved in the music. He had no clue about what was
going on around him. When he got off, earplugs in his hand, we could

hear strains of the song.

(a) What is formal communication, explain. 2
OR
Encoding the matter is an important element of communication, 2
comments ?
(b) (1) Choose the word which best expresses the meaning of the given 1
word :
Concise
(1) Brief
(2) Better

(3) Important

(4) Interesting
HYB-H
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(ii) Choose the word which best expresses the meaning of the given

word :
Cryptic
(1) Pertinent
(2) Common
(3,) Mysterious
(4) Loyalty
(iii) - Change the following sentence to indirect speech :

“Do you suppose you know better than your own father ?” jeered

his angry mother.

Draft Newspaper Report on “Project to interconnect rivers in India” to

be published in a national newspaper.

Explain how listening for Understanding helps in communication.

(i) Change the sentence from Active to Passive Voice.

Question — The crew cleaned the entire stretch of highway.

(ii) Change the sentence from Passive to Active Voice.

Question — The house was remodelled by the homeowners to

help it sell.

(iii) Change the following sentence to indirect speech.

Question — Socrates said, “Virtue is its own reward.”

Write an article of about 250 words on the topic, “The Pros and cons

of online education in India”.

"HYB-H
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11. (a) Explain Wheel & Spoke network in communication. 2

(b) Select the correct meaning of Idioms/Phrases given below :

(i) To be a mastermind 1
(1) To be a pioneer
(2) To be an entrepreneur
(3) To be an amateur
(4) To be a villain

(i) At wit’s end | 1
(1) Impoverished
(2) Drained
(3) Completed
(4) Perplexed

(iii)) Change the sentence into Passive voice : ~ 1
Question — Will you tell me a story ?
(iv) Choose the word which best expresses the mcéning of the given 1
word :
COMBAT
(1) Conflict
(2) Quarrel
(3). Feud
(4) Fight

(c) Write a letter to anapplicant informing him about the postponement of =~ 4
his interview date.

HYB-H
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Business Law & Business r JAN 2021
ROll NO. .......................... Gonespondence and Reporﬁng
Total No. of Questions — 11 Total No. of Printed Pages — 16
 Time Allowed — 3 Hours Maximum Marks — 100

ZPF-H
IMPORTANT INSTURCTIONS TO CANDIDATES

1. Questions in Section A are to be answered in the medium opted by the
- candidate. If a candidate has not opted for Hindi medium, his/her answers in

Hindi, will not be evaluated.

2. Questions in Section B, are to be answered in English only, by all the
candidates, including those who have opted for Hindi medium.

3. Answers to both the Sections are to be written in the same answer book.

SECTION -A (60 Marks)
Question No. 1 is compulsory.

Answer any four questions from the remaining five questions. _

1. (a) Mr. S aged 58 years was employed in a Govt. Department. He was
going to retire after two years, Mr, D made a proposal to Mr. S to
apply for voluntary retirement from his post so that Mr. D can be
appointed in his place. Mr. D offered a sum of ¥ 10 Lakhs as
consideration to Mr. S in order to induce him to retire.

Mr. S refused at first instance but when he evaluated the amount
" offered as consideration is just double of his cumulative remuneration

to be received during the tenure of two years of employment, he

agreed to receive the consideration and accepted the above agreement

to receive money to retire from his office.

Whether the above agreement is valid ? Explain with reference to

provision of Indian Contract Act, 1872,

ZPF-H
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ABC Limited was registered as a public company. There were 245
members in the company. Their details are as follows :
Directors and their relatives 190
Employees 15

Ex - employees

_ (shares were allotted when they were employees) 20

Others 20
(Including 10 joint holders holding shares jointly in the name of father
and son)

The Board of directors of the company propose to convert it into a
private company. Advice whether reduction in the number of members

is necessary for conversion.

What are the rules which regulate the Sale by Auction under the Sale
of Goods Act, 1930 ?

Define the term acceptance under the Indian Contract Act, 1872,
Explain the legal rules regarding a valid acceptance.

State the circumstances under which a LLP and its partners may face
unlimited liability under the Limited Liability Partnership Act, 2008.

() What do you mean by “Particular Partnership” under the Indian
Partnership Act, 1932 ?

OR

(i) Who is a nominal partner under the Indian Partnership Act, 1932 ?
What are his liabilities ?

“Business carried on by all or any of them acting for all.” Discuss the
statement under the Indian Partnership Act, 1932.

ZPF-H
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Mr. B makes a proposal to Mr. S by post to sell his house for ¥ 10

lakhs and posted the letter on 10% April 2020 and the letter reaches to

Mr. S on 12" April 2020. He reads the letter on 13% April 2020.

Mr. S sends his letter of acceptance on 16% April 2020 and the letter

reaches Mr. B on 20" April 2020. On 17" April Mr. S changed his

mind and sends a telegram withdrawing his acceptance. Telegram

reaches to Mr. B on 19 April 2020.

Examine with reference to the Indian Contract Act, 1872 :

(i) On which date, the offer made by Mr. B will complete ?

(ii) Discuss the validity of acceptance.

(iii) What would be ;Ialidity of acceptance if letter of revocation and
letter of acceptance reached together ?

What are the differences between a ‘Condition’ and ‘Warranty’ in a
contract of sale ? Also explain, when shall a ‘breach of condition’ be
treated as ‘breach of warranty’ under provisions of the Sale of Goods
Act, 1930 ? '

M, N and P were partners in a firm. The firm ordered JR Limited to
supply the furniture. P dies, and M and N continues the business in the
firm’s name. The firm did not give any notice about P’s death to the
public or the persons dealing with the firm. The furniture was
delivered to the firm after P’s death, fact about his death was known to
them at the time of delivery. Afterwards the firm became insolvent and
failed to pay the price of furniture to JR Limited.

Explain with reasons :
(i) Whether P’s private estate is liable for the price of furniture
purchased by the firm ?

(i) Whether does it make any difference if JR Limited supplied the
furniture to the firm believing that all the three partners are

alive ?
ZPF-H
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Mr. T was a retail trader of fans of various kinds. Mr. M came to his
shop and asked for an exhaust fan for kitchen. Mr. T showed him
different brands and Mr. M approved of a particular brand and paid for
it. Fan was delivered at Mr. M’s house; at the time of opening the
packet he found that it was a table fan. He informed Mr. T about the
delivery of the wrong fan. Mr. T refused to exchange the same, saying
that the contract was complete after the delivery of the fan and

payment of price.

(i) Discuss whether Mr. T is right in refusing to exchange as per
provisions of Sale of Goods Act, 1930 ?

(i) What is the remedy available to Mr. M ?

Explain Doctrine of ‘Indoor Management’ under the Companies Act,
2013. Also state the circumstances where the outsider cannot claim
relief on the ground of ‘Indoor Management’.

The general rule is that an agreement without consideration is void.
Discuss the cases where the agreement though made without
consideration will be valid and enforceable as per Indian Contract Act,
1872.

Discuss the liability of a partner for the act of the firm and liability of
firm for act of a partner to third parties as per Indian Partnership Act,
1932.

SK Infrastructure Limited has a paid-up share capital divided into
6,00,000 equity shares of INR 100 each. 2,00,000 equity shares of the
company are held by Central Government and 1,20,000 equity shares
are held by Government of Maharashtra. Explain with reference to
relevant provisions of the Companies Act, 2013, whether SK
Infrastructure Limited can be treated as Government Company.

ZPF-H
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SECTION B - (40 Marks)
Question No.7 is compulsory.

Answer any THREE questions from the remaining FOUR questions.
All candidates (including those who have opted for Hindi Medium)
are required to answer the questions in Section — B, in English only.

(@) Read the passage carefully and answer the questions given below :

Success of any organization depends on offering quality products at
competitive prices. All over the world, it is being realized that quality
control be ensured through inspection and test alone. Every department
and individual has a contribution to make in the achievement of
quality. Quality product at competitive prices is the most significant
factor in determining the long - run success of any organization. High
quality of products can give a competitive edge to an organization. On
the other hand, good quality generates satisfied customers who reward
the organization with continued patronage and favourable word of

mouth advertising.

Growth in consumer quality awareness has put a greater strain on
businesses. Consumer demand and dynamic technological changes
have opened up new and highly competitive markets. The quality of
goods and services can no longer be taken for granted.

The rapid growth of the service sector has also introduced new
perceptions of quality management. Institutions, such as the
Giovernment, banks and hospitals do not produce tangible goods. The
interaction between employees and customers is much more critical in
such organizations. As a result, the skills, attitudes and training of
service personnel affect the quality of the services delivered.
Information processing represents a large component of the work done
by service organizations and poses special quality considerations. Errors
in computer billing, or airline and hotel reservations are the results of
poor quality control of computer software and data input systems.

Marks
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In view of globalization of markets, Governments have begun to
realize that quality is essential to international trade and the national
economy. Therefore, public purchasing authorities have been

instructed to buy goods that conform to the quality standards.

(i) In what manner good quality products give rewards to
organizatiorns ?
(i) Most significant factor which determines the long run

success of an organization ?

(iii) Quality of goods and services cannot be compromised by

organizations, give reasons.

(iv) Write the summary of the above passage.

Read the Passage :

Whether one runs a large business, or is starting out with a new
venture, or works as a corporate professional, chances are that at some
point, one would be required to make a business presentation. Whether
you are selling. a product to a client, sharing your vision with your
employees, or looking for new investors for your business, your

presentation will always matter.

Making a good business presentation can be intimidating - you want to
capture as much information as possible to answer any prospective
questions from your audience, yet you want to keep your audience

constantly engaged and interested. So, what makes a good presentation ?

It is important to connect with your audience with a story. And no, it'

doesn’t mean your presentation needs to be the most exciting work of

fiction. Take your audience on a journey. When trying to convince

ZPF-H
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potential investors, make them see the success you are striving for and
what it will do for you and for them. To win over your employees with
your new staff policy, take them through the journey of why you are
introducing a new policy and how does it benefit them. Tell personal
stories, give analogies and cite examples. Get your audience
emotionally involved and you will be more likely to get them to side
with you.

You want to keep ylour audience engaged at all times. Do not
overwhelm them with a lot of information. Settle on three to five key
messages that you want them to absorb and stick with them. You do
not want to include everything. Instead, choose out powerful points
that you want to make. It is important to keep your presentation as

straightforward and concise as possible.

At the same time, you need to know your content extremely well.
While you keep your presentation short and to the point, it is no excuse
for you fo not have more detailed information regarding the subject of
your presentation. It is likely you would need to answer questions from
your audience at the end of the presentation. You must review all
pertinent information and key facts and figures before your
presentation. Not only will it help you answer questions later, but it
will also give you more confidence during your presentation, so you

refer to your notes less and conncct with your audience more.

In the end, a business presentation is about selling ideas. Do your

researches well, describe your ideas crisply, weave them intoan

interesting story and you are more likely to succeed.

() Make notes, using headings, sub— headings and abbreviations 3
whenever necessary.

(1) Write Summary. 2
ZPF-H P.T.O.
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8. (a) Emotional barriers affect communication, discuss. 2

(b) (i) Choose the word which best expresses the meaning of the given 1

word
Repulsive

(1) Attractive
(2) Normal
(3 Disgusting
4) _,Cor_llt;u;s;cd

(i) Select a suitable antonym for the word given under : 1
Gratify
(1) Frustrate
) Depreés ik
(3) Discourége
(4) Distress

(iii) Change the following sentence to indirect speech : 1

He said, “The horse died in the night”.

(¢) Write a precis and give appropriate title to the passage given below : 5

Gratitude implies thankfulness or an appreciation of benefits conferred
together with a desire, when practicable, to return those benefits. It
should be distinguished from thanks, which is too often a matter of
words and not accompanied by a feeling of thankfulness or by those
actions which indicate a grateful mind. The grateful man feels joy at
the kindness of his benefactor and cultivates a respect that is akin to

love.

ZPF-H
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In almost all the relations of ordinary life the feelings of gratitude should
be aroused. The child owes thanks to his parents for food, clothes,
education and tender care; the scholar to his teachers for the training of
his intelligence; personal friends to one another for mutual services.

The frequent use of the phrase, “Thank you,” though often not more
than a polite convention, nevertheless shows the universal belief in the
necessity for cultivating a grateful attitude towards those who do
something for us, however small that service be. As Citizens, there are
few who have no cause to be grateful. Great generals who have given
devoted service gratuitously, statesmen, poets and philosophers, all
those who have stood for right, justice and freedom of thought, have
conferred inestimable benefits upc;n their countrymen.

When deeds are impossible, the expression of thanks is the best that
can be done. The inscriptions on the tombs and monuments erected by
a nation to its great men are an expression of thanks in words. As for
deeds, an old story will serve as an excellent illustration. An old man
was found planting fruit trees by a friend who came to him and said,
“Why do you plant trees, the fruit of which I enjoy. [ now plant trees
that those who come after may enjoy fruit.”

In conclusion, no good man wishes to give pain, especially to those
who have done him good. The ungrateful man hurts the feelings of his

benefactor and cannot, therefore, be a good man.

(i) Define circuit and star network under network in communication.
OR
(i) Discuss the term “physical non — verbal communication” in

communication.

ZP¥-H
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(b) (i) Choose the word which best expresses the meaning of the given
word :
Nostalgic
(1) Sharp
(2) Painful

10. (a)

(b)

(©)

(3) Delighted
(49) Homesick

(ii) Choose the word which best expresses the meaning of the given
word :
Economise
(1) Reduce
(2) Save
(3) Minimise
(4) Accumulate

(iif) Change the following sentence into indirect speech :

He said to him, “Please wait here till I return.”

Draft a circular to warn the employees of Packing Department not to
participate in strike.

How do organizational structure barriers affect communication ?

(i) Change the sentence from Active to Passive Voice.
Rama was making a kite,

(ii) Change the sentence from Passive to Active Voice.
The lion was shot by the hunter.

(iii) Change the following sentence to indirect speech. _
Father said to his son, “Work hard for success in life”.

Write an article of about 250 words on the topic “The Pleasures of
reading”.
ZPF-H
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(a) What do you mean by diagonal communication ?

(b) Select the correct meaning of Idioms/Phrases given below:

(i) Pen and Ink
(1) Modern day technology
(2) Extensively
(3) Wastage
(4) In writing

(i) A snake in the grass
(1) Unforeseen happening
(2) Secret or hidden enemy
(3) Unreliable person
(4) Unrecognizable danger

(iii) Change the sentence into Active Voice
Twenty runs were scored by him.

(iv) Choose the word which best expresses the meaning of the given
word.
Applaud
(1) Flatter
(2) Praise
. (3) Pray
(4) Request

(c) Mr. ABC is an IT manager in Quick Software Solutions Private
Limited. Write a mail on behalf of Mr. ABC to Mr, MNJ, dealer of HP
Laptops seeking quotation for 100 new laptops of model HP - 610. The
laptops are required for new branch of Quick Software Solutions

Private Limited.

ZPF-H
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(Hindi Version)

qdeniia % for aeegt frdw

WP 3 % Sl 1 I wemef 3 S wrem gm R, e QR | =
wrereft v et wmeam 3 R, afe R F aww A 2, o so o
&3 ™ IR 1 et T @

it wemiie (et e % whenfiet @) st =) St wm T, H
TEH1 T TR S A & g 2 |

Tt I gt # g W BT I AT R |

-3 (60 Marks)
ST HEAT 1 AR R |
A gl et & § e ww et 6 IR A |
(2) 5894 1 7Y F A T (S) Th T Riwm # wrEid | 97 @

I 1 FTige B e 3 | simr € (D) Y ime T (S) Y 3 ve
ﬁﬁ%ﬁ%ﬁg&éﬁ%ﬁmwm@mmﬁm)ﬁ
gﬁ%wmﬁwﬁmm@slaﬁmaﬁm)ﬁsﬁmm@)ﬁ
TR <7 % et 8§ wftwer % &9 % 7 10 g %1 ywE @ | |
HIHT T (S) 7 TES @ TR ez, fh 5w 32 yhwe % w9 &
ST B T8 TR 1 qeioh R | & wret AR S R
GRF ST & A1 36 G il w1 6 T e | 9 Shiwe
THR T & o Tam 8 g ofit 32 Jafighy % Re e of &1
&S TR AT e | V
TN I AR W= B ? W S ST, 1872 % Waem %
e dawemed |
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© ft dt (ABC) fifirde ! Graiaier Hmt & ¥4 # GSfihd fhaT T
o7 | SO | 245 Ho &, I a0 56 THR 8

e 37X 37 Tt 190

HHAR 15

e STt

(T8 9 FHHIT & T8 N et w2 20

3= 20

(10 T R T7h I TR &9 & firar 3R g7 3 7 @ ¥ aifa
TR gu 2 3% witfera &ed g2 )

F % Fewe T 3 38 T Pl wer § geem -1 s fe |
FeTTE 2 o ST % T Fewil i G § S HATEwE 8 A1 T 2

3 3 @ fem g It Franh s ) 91e @ foma sififem, 1930 %
i fafefm s & 2

e Srgay Affaem, 1872 % Sieria Wi st TRTST SR | 9y
itepfar 3 ey # dunfaes faem Y fora=m H |

wHifera g amsigrt srffem, 2008 % arefia 37 aRfRufa i wared
f5es aga difia ardiertt 3R 3T amEeRT w1 i gl w1 9T
ST T HHa1 ¢ |

() W grerert srfrfam, 1932 % 3ieria fodhy amgert & Sma =
qAFA & 7
e
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(i) W Hreer arfifem, 1932 % Jiarla FmETE % WEER S R
3R I 1 R B 2

TR Tt o G a3 @ Rt % g wf % fore e @ wu

Tora s =nfee |7 v wrEierd arffeem, 1932 % aidla 3@ e

%! faa=an il |

o <t (B) 7 o T8 (S) Y 3T G HUAT €L 2 10 A7 & 9= % 0
TEATE 10 A 2020 Y AT | T8 0 12 I 2020 F 4t TH (S) qH
U1 & | 98 U I 13 31 2020 Hi g R |

T (S) 16 IV 2020 Y ST THpfer T Vo & 3K 77 v A

(B) T 20 TV 2020 Y T§= ST & | 17 31 2020 F 5t w&r (S)

T o aee e 3R T An (o) S St Wity

19 o T | 19 378 2020 Y AR o <t (B) 7o wE=an R |

It ey srferfam, 1872 % wwed & wderor &t .

() Torm artia =1 st ft (B) & grr =fE s @ A 2

(i) Ehpia hH dgar ==t A= |

(iii) e TfeEToT i1 w1 3R Wi 1 7 U w1y uge e A whphy
61 Quer =1 EfY 2

fosha argery & siela v e aTeETEE % W w@ =R § 7 T
foera arfafem, 1930 % afarfa o= ft Rd=m e 7% e wd s Y
AT W1 HET 1 2

ZPF-H

© The Institute of Chartered Accountants of India

Marks

2

4



(15)
ZPF-H

(b) TH (M), T (N) 3R @t (P) Tk %l & wifigm & | w3 weffer 1 rgfd

(a)

W S BT 3 3 R) fafies =t amew fean | (P) WX T 8 3K
W (M) T T (N) BH & 1 W HRER TH T@d § | A 3 6 (P) Al
a3 IR F T A1 HH Y B HW AT AR B DIE G
T& & | f (P) g F o BH B HeAT GG ToRAT T | GG B
TSR BRI T AR RE R TG TR IR A
feaferan Y I £ 3t S 3R (JR) FAfiee @) iR Y Hiaa e A
fawet T 2 |

HIT Gigd IaqTed : —

() w g Elie MY wHte A hima & forg & (p) i e el
IR & & 2 |

(ii) T SEE S IR I Gehatl & IR I IR (JR) fifies 3@ wH
iR 1 gl Tg fervema S gU HE o6 wH & Il AIEER
Shiferd & 2

oft & (T) fafir= err % dE % Geu = & | off T (M) TR T
W 3R 3R @S & fo7u Freer g 7 | ot & (T) 3 3= ArT- 3T
Fve fe@d ok off T (M) T Tk TR s Ao § 3R 39 foe
YA RRAT | 98 IHeh OR T T o T o i Gie & §1g 3=
qr T 9% T 3 ¥ A1 | SRR & (T) Y e e gae S Al
SR & | 3t & (T) 3 I8 hed §T 3T Fee & TR L fean & v
1 gt 3R B YT 3 g HiereT <Y qfd &1 gt § | == B 1 -

() g T arfufim, 1930 % s=wia @ st & () 95 ¥

FAHTE R ?

(i) # T (M) T T IR ITTH g ?
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He] ST, 2013 F TEa T=RE Y9 ¥ g #) g9 |
I uRfefertt @7 ¢t Seoi@ ¢ e STEt e ST TERY % ST
T UEG (relief) o1 TTaT T&1 T Gehd |

T e 7% 2 T fam wfower % srgey Y1 € R | 39 T w
==t T o afma % ergey wiedtw sigey ofifEm, 1872 %
IFER A1 3R Ferafela g |

W awreierd arffam, 1932 % IER AR gEeR ¥ R
mﬁw%mwﬁaﬁ?mﬁ%w%%ﬁwm%a&a
% g9l |

T8 % (SK) $3pregarer foifiree i g 37w ot 6,00,000 S 2 100
% qwar o & frira & | et F 2,00,000 THAT 31 FE THER F
TE 3R 1,20,000 T I TENY THR & U § | FHr A,
2013 % wEfR@ WEuH % e § wand B ® W F (SK)
IR foifiee ) TR it & w9 & 7T o g & 2
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Questions in Section-A are to be answered in the medium opted by the candidate. If a
candidate has not opted for Hindi Medium, his/her answers in Hindi will not be
| evaluated. h
Questions in Section-B, are to be answered in English only, by all the candidates,

including those who have opted for Hindi medium.

R— " Answer to both the Sections are to be written in the same answer book.

SECTION-A

Question No. 1 is compulsory.

Answer any four questions out of the remaining five questions.

PYC-H P.T.O.
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State

void

@

(i)
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Section A

with reason(s) whether the following agreemer_its are valid or

A clause in a contract provided that no action should be brought

upon in case of breach.

Where two courts have jurisdiction to try a suit, an agreement

. between the parties that the suit should be filed in one of those

(i)

Gy

courts alone and not in the other.

X offers to sell his Maruti car to Y. Y believes that X has only
Wagon R Car but agrees to buy it.

X, a physician and surgeon, employs Y as an assistant on a salary
of X 75,000 per month for a term of two years and Y agrees not

to practice as a surgeon and physician during these two years.

Y incorporated a “One Person Company (OPC)” making his sister Z as

nominee. Z is leaving India permanently due to her marriage abroad.

Due to this fact, she is withdrawing her consent of nomination in the

said OPC. Taking into considerations the provisions of The Companies

Act, 2013 answer the questions given below :

(@)

(ii)

Is it mandatory for Z to withdraw her nomination in the said

OPC, if she is leaving India permanently ?

Can Z continue her nomination "'in the said OPC, if she

maintained the status of Resident of India after her marriage ?

“Risk Prima Facie passes with property.” Elaborate in the context of
The Sales of Goods Act, 1930.

PYC-H
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(a) Explain the term Contingent Contract with reference to The Indian 7
Contract Act, 1872 with the help of an example. Also discuss the rules
| relating to enforcement of a contingent contract. | '
(b) Limited Liability Partnership (LLP) gives the benefits of limited 5
. liability of a company on one hand and the flexibility of a partnership

on the other. Discuss.

(a) Define Implied Authority. In the absence of any usage or custom of 6
trade to the contrary, the implied authority of a partner does not
empower him to do certain acts. State the acts which are beyond the
implied authority of a partner under the provisions of Tl"ne Indian
Partnership Act, 1932 ?

(b) X, Y and Z jointly borrowed X 90,000 from L. De01de each of the 6
following in the light of The Indian Contract Act, 1872 :

(i) Whether L can compel only Y to pay the entire loan of T 90,000 ?

(i) Whether L can compel only the legal representatives of Y to pay
the loan of 90,000, if X, Y and Z died ?

(iiiy Whether Y and Z are released from their liability to L and X is
released from his 1iabjlity to Y and Z for contribution, if L
releases X from his liability and sues Y and Z for payment ?

(a) Discuss the rights of an unpaid seller against the buyer under The 6
Sales of Goods Act, 1930. :

(b) Mr. M is one of the four partners in M/s XY Enterprises. He owes a [
sum of Z 6 crore to his friend Mr. Z which he is unable to pay on due
time. So he wants to sell his share in the firm to Mr. Z for settling the
amount. |
In the light of the prov1s1ons of The Indian Partnership Act, 1932,

discuss each of the following :

PYC-H P.T.O.
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(1) CanMr. M validly transfer his interest in the firm by way of sale ?
(i) What would be the rights of the transferee (Mr. Z) in case Mr. M
wants to retire from the firm after a period of 6 months from the
date of transfer ?

Mr. Das, a general store owner went to purchase 200 kg. of Basmati
Rice of specific length from a whole seller. He saw the samples of rice
and agreed to buy the one for which the price was quoted as ¥ 150 per
kg. While examining the sample Mr. Das failed to notice that the rice
contained a mix of long and short grain of rice.

The whole seller supplied the required quantity exactly the same as
shown in the sample. However, when Mr. Das sold the rice to one of
his regular customers she complained that the rice contained two
different qualities of rice and returned the rice.

With reference to the provisions of The Sales of Goods Act, 1930,
discuss the options open to Mr. Das for grievance redressal. What
would be your answer in case Mr. Das specified his exact requirement
as to length of rice ?

Explain the classification of the companies on the basis of control as

per The Companies Act, 2013,

Explain what is meant by ‘Supervening Impossibility’ as per The
Indian Contract Act, 1872 with the help of an example. What is the
effect of such impossibility ?
Subject to agreement by partners, state the rules that should be
observed by the partners in settling the accounts of the firm after
dissolution under the provisions of The Indian Partnership Act, 1932.
What is the main difference between a. Guarantee Company and a
Company having Share Capital ?

PYC-H
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SECTION-B

Question No. 7 is compulsory.

Answer any three questions out of the remaining four questions.

Section B

(a) The employee turnover rate in an Organisation refers to the proportion

of employees who leave the Organization during a certain time period.
Almost every Organisation is facing the acute problem of high
employee attrition. To every Organization, high employee turnover is
undesirable and can have a significant adverse impact. A high
employee turnover rate results in an unfavourable effect on the morale
of the remainiﬁg empldyees. Existing employees may face additional
stress, resulting in lower productivity. In addition lower productivity of
the existing employees due to a decline in morale, additional
productivity is lost as existing employees must guide new incumbent
how to adapt to the organizational culture and the new position.

To address the problem, it should be compared to the average within
the industry. It should not be compared across industries, as the
turnover rate differs significantly in various industries. It is in the best
interest of the Organization to reduce it as it is detrimental to the

Organization. When an employee leaves the Organization, the

Marks

PYC-H P.T.O.

© The Institute of Chartered Accountants of India



(6)

PYC-H Marks
Organization incurs costs to find a replacement, recruitment costs,
advertising costs, administration costs, background cfreck costs, and
interviewing costs. In addition, there are costs of lost product1v1ty«
when the employee is attending a training program. Second 1mportant
aspect is Organizations with a high employee turnover rate may suffer
from an unfavourable public image. For example, working in the call
centre is seen as undesirable due to its turnover rates.
To overcome such problem, Organizations have to hire right
manpower for the right position. Second important aspect is to have
competitive pay structure matching -with the industry. However,
providing employees with a higher salary is not enough. It is important -
to understand the benefits that employees wants and to take that into
consideration when determining an employee’s pay structure.
Employees need to be acknowledged and given praise when due.
Another important aspect is career path. Employees want to progress
in their cateers. A career path should be orovided to employees to give
them a sense of direction and what they can attain if they stay with the
Organization. Last but not the least way to offer flexibility, a flexible
work schedule is highly desirable. In fact, studies have shown that a
flexible work arrangement has a positive impact on employee
retention. Allowing etnployees to choose their work time and
providing a flexible work schedule gives them the ability to balance
their work and personal life and, hence, improves employee
satisfaction.
(i) What do you understand by employeegttr‘ition rate ?
(i) Explain the ways to reduce high employeg attrition ? : 2

PYC-H
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+, (iii) What.is the importance of employee turnover in an Organisation ? 1
(iv) How does employee turnover rate affect brand image of an Organisation ? 1

(b) Read the péésage :

(i) Make Notes, using Headings, subheadings and abbreviations 3
" wherever necessary. |

(i) Write Summary by giving a suitable title. 2
Artificial intelligence (AI) is making a difference as to how legal work
is done, but it isn’t the threat it is made out to be. Al is making
impressive progress and shaking up things all over the world today.
The assumption that advancements in technology and artificial
intelligence will render any profession defunct is just that, an
assumption and a false one. The only purpose this assumption serves is
creating mass panic and hostility towards embracing technology that is
meant to make our lives easier.
Introducing Al to this profession will primarily be for the purpose of
automating mundane, tedious tasks that require negligible human
intelligence. The kind of artificial intelligence that is employed by
industries in the current scene, when extended to the law will enable
quicker services at a lower price. Al is meant to automate a number of
tasks that take up precious working hours lawyers could be devoted to
tasks that require discerning, empathy, and trust- qualities that cannot
be replicated by even the most sophisticated form of Al The legal
profession is one of the oldest professions in the world. Thriving over
1000 years; trust, judgment, and diligence are the pillars of this
profession. The most important pillar is the relationship of trust
between a lawyer and clients, which can only be achieved through
human connection and interaction. |
While artificial intelligence can be useful in a number of ways in legal

field like translation 'of documents in other languages, mining of data

PYC-H P.T.O.
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pertaining to cases for analyses helping decision making, scanning and
organizing documénts p'er'taining to a case, it cannot -perform higher-_
level tasks such as sharp decision making, relatiohship’abuilding with
valuable clients and writing legal briefs, advising clients, and

appearing in court. These are over and above the realm of

computerization.
(a) Physical barriers are a result of our surroundings. Discuss. 2
(b) (i) Choose the word which best éiﬁr_esses the meaning of the 1
given word :
ADHERE

(a) separate
(b) split
(c) humility
(d) fasten
(ii)‘ 'Select a suitable antonym for the word given under : 1
CANDID
(a) deceptive
(b) frank
(c) sincere’
(d) subordinate
(iii) Change the following sentence to indirect speech : 1
He said to me, “It would be nice if I could see you again.”

(c) Wirite a précis and give an appropriate title to the passage given below : 5

PYC-H
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Naval architects:never claim that a ship is unsinkable, but the sinking
of the passenger-and-car ferry Estonia in the Baltic surely should have
never happened. It was well designed and carefully maintained. It
carried the proper number of lifeboats. It had been thoroughly
inspected on the day of the voyage. Yet, hours later, the Estonia rolled
over and sank in the cold, stormy night. It went down so quickly that
most of those on board, caught in the dark, flooding cabins had no
chance to save themselves : Of those who managed to scramble
overboard, only 139 survived. The rest died of hypothermia before the
rescuers could pluck them from the cold sea. The final death toll
amounted to 912 souls. However there were an unpleasant number of

! ,j.:_;ql_le'lstions ’_{ébout why Estonia sank and why so many survivors were
men in the prime of life, while most of the dead were woman, children

and the elderly.

Distinguish between General English and Business English.
OR

Focus and Attention is an important characteristic of effective
communication. Explain.

(i) Change the sentence from Active to Passive Voice.
Bring the culprit.
(i) Change the sentence from Passive to Active Voice.

Three cleanliness campaigns will be launched by the authorities
in the park.

(ili) Change the following sentence to indirect speech.

The group shouted, “Honesty is the best policy”.

Marks

PYC-H P.T.O.

© The Institute of Chartered Accountants of India



(10)
PYC-H Marks

(c) Draft a Newspaper Report .on the “Government’s decision to ‘Oopen

multiplexes after almost a year” to be pub’li's‘hed in a national ;
newspaper. d
10. (a) Write essentials of oral communication. 2
(b) (@) Chéﬁge the sentence from Active to Passive Voice. 1
Did they like paintings in the exhibition ?
(i) Change the sentence from Passive to Active Voice. 1
Food ﬁ'orﬁ roadside vén'dor should not be eaten during Covid
pandemic as a safety precaution.
(iii) Change the following sentence to indirect speech, 1

Mr. X to the Cashier : “Do you have change for five hundred
rupees?”

(¢) Write an article of about 250 words on the topic ‘Covid’ Certificate 5
must for attending Parliamentary session,

11. (a) Define the term communication. When the communication is supposed 2
to be effective ?

(b) Select the correct meaning of Idioms/Phrases/words given below :
(i) Storm in atea cup : 1
(@) Crave for something
(b) Something fishy
(c) Make a big issue out of a smail thing

(d) Get into quarrels
PYC-H
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~ (i)} Core Competency 1

S (a) Dec{é;;;m taken by a competent authority
(b) Head of a department or a company authorised to ta‘kel
decision |
(c) Basic strength of a group or company
(d) Minimum skill/professional qualification:
(iii) Change the sentence into Active Voice. 1

Who were not liked by you at the party ?

(iv) Choose the word which best expresses the meaning of the given 1

word.
FIASCO

(@) Shock
(b) Win
() Learning
(d) Failure

(c) Write a letter to your landlord requesting him to reduce rent in the light 4

of ‘Covid 19’ pandemic.

PYC-H P.T.O.
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(Hindi Version) KAL

I eI o e feghY Rt Ameam 5 &, it ¥ vt F S
Faet Sl A <A & | teef? o Rt e e g 8, 9R R s a2,
o a fedt ¥ 8 TR werdl T i Tl B |
wft wliegriefal g - 3 S 3 I Sheier it i €1 23 €, o i gro o
« =g fidt w1 s R 2
QAT T 36 IR T Sy o fora § |

Hi-A
T G 1 AREE R |
ﬂﬁﬂhuﬁﬁﬁﬁﬁﬁwmﬁ%wtﬁml

Marks
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L (@) Frefien sy sast 3 AR & s afe s f @ & sewe
(valid agreement) 31 =% SEE (void agreement) & :
() T FFY | Th I BT BT 9 A R B et e
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(ii) Q1 9EH % = U g B B 6 T e 1 A F A e

;- Tafre e & € I R Sem st Tg A & =Rt

(ifi) T (X) T AIE(T HR = T 9T (V) Y A9 BT S | 918

L. (V) T 2 6 o (x) % T o et 3 3R R R weg
FT GG H T R |

(iv) TR (X) T T TSfReA qon w5 Q@ al % g o (v)
AT TH M i T 75,000 T ATE Fe W T@at & 3R (V)
T Q) T o Fol et e & wu § w7 %0 % aw 2
gl

91§ (Y) ¥ T One Person Conipany (OPC) %1 qH™eH frar foed

Yt i WS () i TS TR | S (2) R & s W@ % wro

WId ! ST &9 | BIE & ] | 39 S0 § 98 OPC & 310 7191 61

Henfd v & @ 8 | e FRifEm, 2013 % e § PrefeRed

TSI % ST E ,

() I (2) W w9 § wRa i @ 2 @ w0 3w fw opc @
FY AT BT FTUE ST STETH & 7

(i) M I 7oAt ;Y & wveta wa 6 Fameh &1 eott wadt 2 9
€ OPC | 37T ATHIoh ST 7@ et & 7

Sifan wwafty & T e 2 & ° weg R s,

1930 % HeM T =Tt &t |
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(2) " S ST Hffaaw, 1872 % e # Ieretvr afed Tafies ey ,
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% fosra arfrfimmm, 1930 % yET} % Sr=nta a1 % freg ared

fersher % arferRt w1 vl il |

aﬂmm (M) R, T T TR (s XY Enterprises) % <R & §

Emﬁlémﬁaaﬁm%(zﬁ6wﬁgm%m§sh%

%ﬁwmmqﬁﬁmaﬁslmzmm%w%ﬁﬂ,émﬁ

ﬁm%@aﬁeﬂmﬁsa)ﬁiﬁmmél

W TTRIET S, 1932 % yraumt % wed § iRy v

T == ' |

) mi:eﬁunm(M)%ﬁﬁmﬁmﬁﬁm%méqmﬁ
BRI L 70 & 7

(i) zr&aﬁmm(M)mﬁﬁrm%snﬁmﬁqaﬁw,
A s gaiaRet (s e (2)) F 0 ARBR A 7

T IR VR & A 99 9 & 9% =9l @ 200 R,
et % fafte o & T W % fre g i g 3
2 150 5 .31, 5 e 5 ) 9 e R e o o
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Paper - 2 A
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Business Law & Business

Correspondence and Reporting PDZ-H @Q
Roll No. ...... e IR L s o 0. o py i e o BesseesTiasarsen - Total No. of Printed Pages : 16
Total No. of Questions : 11 Maximum Marks : 100

Time allowed : 3 Hours

' ™
- IMPORTANT INSTRUCTIONS TO CANDIDATES

1. Questions in Section — A are to be answered in the medium opted by the
candidate. If a candidate has not opted for Hindi medium, his/her answers in
Hindi, will not be evaluated. 4

2. Questions in Section - B, are to be answered in English only, by all the
candidates, including those who have opted for Hindi medium.

38 Answers to both the Sections are to be written in the same answer book.

N /

SECTION A — (60 Marks)

Question No. 1 is compulsory.

Answer any FOUR questions from the remaining FIVE questions.

1. (a) A, B, CandD are the four partners in a firm. They jointly promised to pay ¥ 6,00,000

to F. B and C have become insolvent. B was unable to pay any amount and C could

pay only ¥ 50,000. A is compelled to pay the whole amount to F. Decide the extent to
which A cun recover the amount from D with reference to the provisions of the Indian

Contract Act, 1872. (1 Marks)

PDZ-H P.T.O.
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(b)

(c)

(a)

(b)

()

(b)

(2)
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AK Private Limited has borrowed T 36 crores from BK Finance Limited. However, as

per memorandum of AK Private Limited the maximum borrowing power of the

company is 30 crores. Examine, whether AK Private Limited is liable to pay this
debt? State the remedy, if any available to BK Finance Limited. : (4 Marks)

“A breach of condition can be treated as a breach of warranty”. Explain this statement
as per relevant provisions of the Sale of Goods Act, 1930. (4 Marks)

Explain any five circumstances under which contracts need not be performed with
the consent of both the parties. (7 Marks)

State the rules regarding registered office of a Limited Liability Partnership (LLP)

-and change therein as per provisions of the Limited Liability Partnership Act. 2008.

(5 Marks)

Define partnership and name the essential elements for the existence of a
partnership as per the Indian partnership Act, 1932. Ex_plain any two such elements
in detail. : (3 + 3 = 6 Marks)

Examine the validity of the following contracts as per the Indian Contract Act, 1872

giving reasons. ‘ (6 Marks)

(i) X aged 16 years borrowed a loan of T 50,000 for his personal purposes. Few
months later he had become major and could not pay back the amount
borrowed on due date. The lender wants to file a suit against X.

(ii) J contracts to take in cargo for K at a foreign port. J’s government afterwards
declares war against the country in which the port is situated and therefore the

contract could not be fulfilled. K wants to file a suit against J.

PDZ-H
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(a) " Distinguish between ‘Sale’ and ‘Hire Purchase’ under the Sale of Goods Act, 1930.
(6 Marks)

(b) State whether the following are partnerships: (6 Marks)

(1) A and B jointly own a car which they used personally on sundays and holidays

and let it on hire as taxi on other days and equally divide the earnings.
(1) Two firms each having 12 partners combine by an agreement into one firm.
(ii1) A and B, co-owners, agree to conduct the business in common for profit.

(iv) Some individuals form an association to which each individual contributes

T 500 annually. The objective of the association is to produce clothes and

distribute the clothes free to the war widows.

(v) A and B, co-owners share between themselves the rent derived from a piece of

land.

‘(vi) A and B buy commodity X and agree to sell the commodity with sh‘aring the
profits equally.

(@) (@) TK ordered timber of 1 inch thickness for being made into drums.-&Th,e seller
agreed to supply the required timber of 1 inch. However, the timber supplied by
the seller varies in thickness from 1 inch to 1.4 inches. The timber. is
cominercia]ly fit for the purpose for which it was ordered. TK rejects the timber.
Explain with _relevant provisions of the Sales of Goods Act, 1930 whether TK
can reject the timber. ) (3 Marks)

PDZ-H P.T.O.
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(i) AB sold 500 bags of wheat to CD. Each bag contains 50 Kilograms of wheat.
AB sent 450 bags by road transport and CD himself took remaining 50 bags.
Eefore CD receives deliver); of 450 bags sent by road transport, he becomes
bankrupt. AB being still unpaid, stops the bags in. transit. The official receiver,
on CD’s insolvency claims the bags. Decide the case wit.h reference to the

provisions of the Sale of Goods Act, 1930. ; (3 Marks)

(b) What do you mean by the term Capital? Describe its classification in the domain of

Company Law. : (1 + 5 =6 Marks)

(a) What is meant by ‘Quasi-Contract’? State any three salient features of a

quasi-contract as per the Indian Contract Act, 1872. (5 Marks)

(b) “Sharing in the profits is not conclusive evidence in the creation of partnership”.

Cominent. (4 Marks)

(©0 BC Private Limited and its subsidiary KL Private Limited are holding 90,000 and
A70>,000 shares respectively in PQ Private Limited. The paid-up share capital of PQ
Private Limited is ¥ 30 Lakhs (3 Lakhs equity shares of ¥ 10 each fully paid).
Analyse with reference to provisions of the Companies Act, 2013 whether PQ Private
Limited is a subsidiary of BRC Privuale Limited. What would be your answer if KL
Private L'imit‘ed is holding 1,60,000 shares in PQ Private Limited and no shares are

held by BC Private Limited in PQ Private Limited? (3 Marks)

PDZ-H
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(HINDI VERSION)

T

IMPORTANT INSTRUCTIONS TO CANDIDATES

1. o ftenfift o srge R foedt meam 9T 3, W - of & oAt & IR et aiiieht A o
1 =g wheneff frem R memm 7 g 2, ol e o sow @ B, o wes ol | o S
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3. @ wml % I TH @ sw-gierenr § forem ¥

HWAT 3T — (60 Marks)
vy w1 sAfrant 2

Iy uie 994 § A fordl v Ryl % s
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C feaifermn & T B Fo o uft o3 & sr@we an siv € %ae €50,000 # 2 w1 T H wEE A
3 % faw A 9 are R ) ol v £ vt sgeea st 1872 % sraamt % o &

Afrg €M 7% D ¥ TR agw X awT 37 5 (43%%)
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() TK g9 s # W0 g4 aret 1 §9 9 @kl o earew e fagar 139 WMo areh
aHg! <t qfd % e wema & mm S fo feshar grr ofd Y TS orRdt F W 15 1.4
59 T il off| IR ®T @ ahel gH SR % [ T ot TK dehdl Sl 2 3
I&q fasra wrfafaem, 1930 % rauml & gER Fdqrd F91 TK Tt ST T 9okt 27

(3 31F)
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BC Private Limited 3R 3wl wgme F¥9A1 KL Private Limited % 9@ PQ Private
Limited & s#¥: 90,000 3R 70,000 3™ ¥ PQ Private Limited i Yex dsft € 30 @@ 2
(3 o FwHaT 3w Afd T10 YO1 PTa oTet) | FEEHT AT 2013 F wEEE! % @ed # fyer
R foF F91 PQ Private Limited, BC Private Limited it H8/® SF0t 27 791 3T 1 8000
gf¢ KL Private Limited % & PQ i?rivate Limited % 1,60,000 3f% & a1 BC Private

Limited % 9% PQ Private Limited %1 SIS 3% 7 g1 ? (3 3fF)
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SECTION B — (40 Marks)
Question No.7 is compulsory.

Answer any THREE questions from the remaining FOUR questions.

(a) Read the passage given below and answer the questions that follows :

Academics has always been an essential part of human development. It prepares us
to survive in the outside world and establish an identity of our own. In India, from an
early age, we have been taught that education 1s limited to the boundaries of
academics only; the idea of getting out into the field, for gaining practical experience,
is always considered a hoax. This has hindered students’ development. But, the truth
is that education represents a considerably broader field than we know of it. Our
teaching, from the basicé, has been focused on getting good grades and job offers,
rather than being creative and unique.

In the 21¢t century, the pure academic type of education is slowly paving way for a
whole new type. The paradigm shift in the whole education system is evident. People
have now come to understand that education is a 360 degree activity that should
focus on students overall development, rather than restricting him/her to the
classroom. Co-curricular activities tha‘f take place outside the classroom but reinforce
or supplement classroom curriculum, in some way, have become a point of focus
today. Participating in such act1v1t1es helps youngsters grow mentally, socially and .

" individually. Intellectual development of a student is developed in the classroom, but
for the aesthetic development such as team-building, character building, and
physical growth, students must step out into the outside world.

Similarly, in colleges and 1nst1tut10ns there is a need for practlcal exposure so that
the qfudents can experlence the actual working of an industry. Catering (v this
change, most professional colleges including B schools have started providing
practical exposure to students through regular guest lectures, industrial visits,
conferences, seminars, cultural festivals; and so on. With industry visits, students
are ablé to better identify their prospective areas of work in the overall

organizational function.

PDZ-H B1.O.
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Through such events, students are made to participate and coordinate different
events wherein, they get to know how exactly things are managed. Co-curricular or
extra-curricular activities provide practical exposure and opportunities to implement
what students learn in the classroom. This helps in developing the overall
personality of the students, inculcating various soft-skills in them, which otherwise
are difficult to teach. Clearly, life beyond academics creates creative and empowered

professionals.
@) What has not been the focus of education from earlier times? (1 Mark)
(i) Where should students go for aesthetic development? (1 Mark)

(ii1) What kind of co-curricular activities have become points of focus today?

(1 Mark)
(iv) What will give children a better insight into industry? (1 Mark)

(v)  Why are soft skills difficult to teach in the classroom? ' (1 Mark)

(b) Read the Passage *
(i) Make notes; using headings, sub-headings and abbreviation whenever
necessary giving a suitable title. (3 Marks)
(ii) Write a summary. ] (2 Marks)

. Keeping cities clean, free of any kind of pollution, is essential for keeping their
residents healthy. Our health depends not just on personal hygiene and
nutrition, but critically also on how clean we keep our cities and their
surroundings. The spread of dengue, chikungunya and corona virus are
intimately linked to the deteriorating state of public health conditions in our

cities as well.

PDZ-H
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The waste management to keep cities clean is now getting attention through

the Swachh Bharat Mission. People are now more aware of the importance of

cleanliness and necessary safety precautions to be observed on day to day basis.

However, much of the attention begins and stops with the brooms and the
dustbins, extending at most to the collection and transportation of the mixed
waste to some distant or not so distant place, preferably out of sight. The
challenge of processing and treating the different streams of solid waste, and
safe disposal of the residuals in scientific landfills, has received much less
attention in municipal solid waste management than is expected from a health
point of view. One of the problems is that instead of focusing on waste
management for health, we have got sidetracked into “waste for energy”. If only
we were to begin by not mixing the biodegradable component of solid waste
(close to 60 percent of the total) in our cities with the dry waste, and instead

use this stream of waste for composting and producing a gas called methane.

(a) Completeness is an important characteristic of effective communication. Comment.

(2 Marks)

(b) (i) Choose the word that best expresses the meaning of the given word: (1 Mark)

Sloppy

(1) Drunk
2) ‘Carelesvs
(8) Tired

(4) Untrustworthy

PDZ-H PT.O.
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(i) Select a suitable antonym for the given word: (1 Mark)
Fallacy
(1) Truth
(2) Liberal
(3) Tolerant

(4) Persist
(iii) Change the following sentence to indirect speech: (1 Mark)

Alex said, “I am working dé.y and night”.

(¢) Write précis and give appropriate title to the passage given below : (5 Marks)

The most alarming of man’s assaults upon the environment is the contamination of
air, earth, rivers and sea with lethal materials. This pollution is for the most part
irrevocable; the chain of evil it initiates is for the most part irreversible. In this
contamination of the environment, chemicals arc the sinister partners of radiation in
changing the very nature of the world; radiation rclecased through nuclear explosions
into the air, comes to the earth in rain, lodgés into the soil, enters the grass or wheat
grown there and reaches the bones of a human being, there to remain until his death.
Similarly, chemicals sprayed on crops lie long in soil, entering living organisms,
passing from one to another in a chain of poisoning and death. Or they pass by
underground streams until they emerge and combine into new forms that kill
vegetation, sicken cattle, and harm those who drink from once pure wells.

It took hundreds of millions of years to produce the life that now inhabits the earth
and reached a state of adjustment and balance wifh its surroundings. The
environment contained elements that were hostile as well as supporting. Even within
the light of the sun, there were short-wave radiations with power to injure. Given
time, life has adjusted and a balance reached. For time ié‘ the essential ingredient,
but in the modern world there is no time.

PDZ-H
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The rapidity of change and the speed with which new situations are created follow
the heedless pace of man rather than the deliberate pace of nature. Radiation is no
longer the bombardment of cosmic rays: it is now the unnatural creation of man’s
tampering with the atom. The chemicals to which life is asked to make adjustments
are no longer merely calcium and silica and copper and all the rest of the minerals
washed out of the rocks and carried in the rivers to the sea; they are the synthetic
creations of man’s inventive mind, brewed in his laboratories, and having no
counterparts in nature.

(a) What is the informal communication? (2 Marks)
OR
State the common networks used in organisations. (2 Marks)

() (@) Choose the word which best expresses the meaning of the given word: (1 Mark)

Defray

(1) Sudden
(2) Rash

(3) Disclaim
(4) Spend

(i) Choose the word which best expresses the meaning of the given word: (1 Mark)

Immaculate -

(1) Spotless
(2) Tarnished
(3) Defiled -
(4) Pleasing
(iii) Change the following sentence to indirect speech : (1 Mark)

He said to her, “Are you coming to the party?

PDZ-H ' P.T.O.
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(¢) You are a student of Mother’s Global Institute. Your institute celebrated the annual
day on 30 November 2021. Draft a report on annual day celebration to be included

in your institute’s annual magazine. (5 Marks)
(a) Write about the cultural barriers in communication. (2 Marks)
(b) (@) Change the sentence from active to passive voice. (1 Mark)

By this time tomorrow we will have signed the deal.

(i) Change the sentence from passive to active voice. (i Mark)

The minister was welcomed by the people.

(iii)) Change the following sentence to-indirect speech : (1 Mark)

She said to me, “Do you know this man?”

(¢0 (@ Asa Finance head of Zeeta Private Limited, draft a circular to be distributed to
all employees of finance department informing them to attend a meeting to

finalise financial statements for the quarter ending 30t: September 2021.
(3 Marks)

(i) Write a formal email to the Reporting Manager (E-mail : RM@kkpvt.com) as
the Assistant Manager (E-mail : AM@kkpvt.com) of KK Private Limited to
request for leave of one week for personal work. ; "~ (2 Marks)

(2) Explain horizontal communication. ‘ (2 Marks)
(b)  Select the correct meaning of Idiom s/Phrases given helow ;
(i) Notch up (1 Mark)
(1) To win or create a record. -
(2) To look disappointed.
(3) To get annoyed.
(4) To be agitated.

PDZ-H
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(i) To play second fiddle (1 Mark)
(1) To be happy, cheerful and healthy
(2) To reduce importance of one’s senior
(3) To support the role and view of another person

(4) To do back seat driving
(iii) Change the sentence into passive voice: (1 Mark)
Mohan will tell you later.

(iv) Choose the word which best expresses the meaning of the given word : (1 Mark)

Novice

(1) Beginner
(2) Concrete
'(3) Reality
(4) Veteran

(¢) You are Vishnu Shreshth, 16 KY Nagar, Delhi. You wish to apply for the post of the
Marketing Manager in a reputable firm in Mumbai. Write a letter on 1% Decémber
2021 to the Public Relations Officer, ZZ Enterpnses Mumba1 applylng for the job.

" Write the letter 1nclud1ng your bio- data. - - (4 Marks)

PDZ-H ' _ P.T.O.

© The Institute of Chartered Accountants of India



Foundation (New Syllabus) JUN 2029
Paper - 2 CGS-H 5 6/06( 2o

Business Law & Buslness Lg" 2 f-m )
Correspondence and Reporting

) 1) 1 Ao T W S R o Y SOOI S Total No. of Printed Pages : 16

Total No. of Questions : 11 Maximum Marks : 100

Time allowed : 3 Hours

\
i IMPORTANT INSTRUCTIONS TO CANDIDATES

1. Questions in Section A are to be answered in the medium opted by the
candidate. If a candidate has not opted for Hindi medium, his/her answers in
Hindi, will not be evaluated.

2. Questions in Section B, are to be answered in English only, by all the
candidates, including those who have opted for Hindi medium.

3. Answers to both the Sections are to be written in the same answer book.

\o J

SECTION A — (60 Marks)

Question No. 1 is compulsory.

Answer any FOUR questions from the remaining FIVE questions. Marks
1. (a) Sheena was a classical dancer. She entered into an agreement with Shital 4

Vidya Mandir for 60 dance performances. As per the contract, she was

supposed to perform every weekend and she will be paid ¥10,000/- per

performance. However, after a month, she was absent without informing, due

to her personal reasons. Answer the following questions as per the Tndian

Contract Acl, 1872. ; ‘

(i)  Whether the management of Shital Vidys Mandir has right to terminate
the contract?

(i) If the management of Shital Vidya Mandir informed Sheena about its
continuance, can the management still rescind the contract after a
month on this ground subsequently?

(i) Can the Shital Vidya Mandir claim damages that it has suffered because
of this breach in any of the above cases?

CGS-H
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(b) The Articles of Association of Aarna Limited empowers its managing agents 4
to borrow loans on behalf of the company. Ms. Anika, the director of the
company, borrowed ¥18 Lakhs in name of the company from Quick Finance
Limited, a non-banking finance company. Later on, Aarna Limited refused to
repay the money borrowed on the pretext that no resolution authorizing such

" loan have been actually passed by the company and therefore the company is
not liable to pay such loan.
Decide whether the contention of Aarna Limited is correct in accordance with

the provisions of the Companies Act, 20137

(c) What are the consequences of destruction of specified goods, before making of 4
contract and after the agreement to sell under the Sale of Goods Act, 1930.

(a) “The general rule-is that an agreement made without consideration is void.” 7
State the exceptions of this general rule as per the Indian Contract Act, 1872.

(b) Explain the incorporation by registration of a Limited Liability Partnership 5
and its essential elements under the LLP Act, 2008.

(d) @) What do you mean by Partnership for a fixed period’ as per the Indian 2

Partnership Act,1932?

() Can a minor become a partner in a partnership firm? Justify your 4

answer and also explain the rights of a minor in a partnership firm.

CGS-H

© The Institute of Chartered Accountants of India



(b)

()

. (b)

(3)
CGS-H

Srishti, a minor, falsely representing her age, enters into an agreement with
an authorised Laptop dealer Mr. Gupta , owner of SP Laptops, for purchase
of Laptop on credit amounting % 60,000/- for purchasing a laptop. on
1st August 2021. She promised to pay back the outstanding amount with
interest @ 16% p.a by 312t July 2022. She told him that in case she won’t be
able to pay the outstanding amount, her father Mr. Ram will pay back on her
behalf. After One year, when Srishti was asked to pay the outstanding
amount with interest she refused to pay the amount and told the owner that
she is minor and now he can’t recover a single penny from her.

She will be adult on 1t January 2024, only after that agreement can be
ratified. Explain by which of the following way Mr. Gupta will succeed in
recovering the outstanding amount with reference to the Indian Contract
Act, 1872.

(1) By filing a case against Srishti, a minor for recovery of outstanding
amount with interest?

(i) By filing a case against Mr. Ram, father of Srishti for recovery of
outstanding amount?

(i) By filing a case against Srishti, a minor for recovery of outstanding
amount after she attains maturity?

What are the implied conditions in a contract of ‘Sale by sample’ under the
Sale of Goods Act, 1930? Also state the implied warranties operative under
the Act?

M/S ABC Associates is a partnership firm since 1990. Mr. A, Mr. B and Mr. C
were partners in the firm since beginning. Mr. A, Being a very senior partner
of aged 78 years transfers his share in the firm to his son Mr. Prateek, a
Chartered Accountant. Mr. B and Mr. C were not interested that Mr. Prateek
join them as partner in M/S ABC Associates. After some time, Mr. Prateek
felt that the books of accounts were displaying only a small amount as profit
despite a huge turnover. He wanted to inspect the book of accounts of the
firm arguing that it is his entitlement as a transferee. However, the other
partners believed that he cannot challenge the books ‘of accounts. Can
Mr Prateek, be introduced as a partner if his father wants to get a
retirement? As an advisor, help them resolve the issues applying the
necessary provisions from the Indian Partnership Act, 1932.

CGS-H
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Sonal went to a Jewellery shop and asked the sales girl to show her diamond
bangles with Ruby stones. The Jeweller told her that we have a lot of designs
of diamond bangles but with red stones if she chooses for herself any special
design of diamond bangle with red stones, they will replace red stones with
Ruby stones: But for the Ruby stones they will charge some extra cost. Sonal
selected a beautiful set of designer bangles and paid for them. She also paid
the extra cost of Ruby stones. The Jeweller requested her to come back a
week later for delivery of those bangles. When she came after a week to take
delivery of bangles, she noticed that due to Ruby stones, the design of bangles
has been completely disturbed. Now, she wants to terminate the contract and
thus, asked the manager to give her money back, but he denied for the same.
Answer the following questions as per the sale of Goods Act, 1930.

(i) .State with reasons whether Sonal can recover the amount from the

Jeweller.
(i) What would be your answer if Jeweller says that he can .change the

design, but he will charge extra cost for the same?

Explain the 'doctrine of ultra vires under the Companies Act, 2013. What are
the consequences of 'ultra vires' acts of the company?

“Liquidated damage is a genuine pre-estimate of compensation of damages
for certain anticipated breach of contract whereas Penalty on the other hand
is an extravagant amount stipulated and is clearly unconscionable and has
no comparison to the loss suffered by the parties”. Explain the statement by
differentiating between liquidated damages and penalty with reference to
provisions of the Indian Contract Act,1872.

Explain the grounds on which court may dissolve a partnership firm in case
of any partner files a suit for the same.

Mr.R is an Indian citizen, and his stay in India during the immediately
preceding financial year,is for 130 days. He appoints Mr. S, a foreign citizen,
as his nominee, who has stayed in India for 125 days during the immediately
preceding financial year. Is Mr. R eligible to be incorporated as a One-Person
Company (OPC)? If yes, can he give the name of Mr. S in the memorandum of
Association as his nominee? Justify your answers with relevant provisions of

the Companies Act, 2013.

CGS-H
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IMPORTANT INSTRUCTIONS TO CANDIDATES

1. 3 et @t stga Rrgia f=ht e gar @, avn -1 § gvel & SW e el B @ 7
&1 7 whemefi foraw fa=dt wream 7t g 2, afe et & aw 3w @, o e et A fod ™ =

T YeATh TEt g
2. afi giignfol grr wmnr - & % Wyl & SW S # & 2 &, 37 whenfoat grr off Ry F R
HILw &7 94 fora 2l
3. I W & IR U & Iw-Y e | forem g
% J
HET A — (60 Marks)
T HE&AT 1 IfHant 2|
A9 qrer T3 A A Rl = avEt & I A Marks

1. (a) 0 O Al FmEn off 98 Siaa foem |3f & |91 60 T Segdt S 3gUa Hdt B 4
Y ¥ IHER I W AEE F ofd § uh wegdl 3 ot Rk fiw @ 210,000
| A% TRl X W T TR S| foheg O WER % 91E 98 319 AR R
oz & form g feR orgufea @ St 31 sl sy sifufem 1872, % oHaw =
T = I R

() = e foen i@ & veg F qE sigEy it gy 1 IR 37

(i) 3 Sfiae foen wfex 1 Yoo 39 ogey & I TR F TR A M1 B gloa W IR 8, @
T Ve e Toh TR o1e o 59 MR 9T IS Y T L el 27

(i) = At forem AfR Iwies foreft i At & 3@ IgEA % RO §U THEM AT R
Gehd 37
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(b) It fifine w7 e s oY YEY el it FEE M or SuR o i st 4

a1 21 st st e i Friws, e wedw fafies, w6 R dEed fada we
R}, S F AW W 718 T IR & ot 21 w5 A o fAfiRs T T FRO T g IR

 fore T O g @ TR A fan TR @ e % WO Y S F Al K S
aera  FEE g aia e R T R e saiie et T SR e S o feg
EUCRIECE
vt e Fs o ol v 1 g e TP, 2013 % U 3 AR
27

|

©) & o siffmm, 1930%@%%%@%@@@@1&@3@%%
Uy T8 B o T aiere 8 ?

(@) ‘@ fram 2 5 fm sRwa & fRn T FE oft oemE e Qar 71 wRdE gy -
sifufiem, 1872 ¥ U 39 W fEW F sma = fafay|

(b) it i ae sfRm, 2008 Jiwla Th Hiftd e aEedt & ISR g .
IO TYT 3TF SAEvdh vl i THSE|

(@) () wr aEEd situfEm, 1932 ¥ AR ‘T Trua eafy & fag weed’ @ e
T TS & 7

Gi) T T ST, U TR G A WTHER S el 2 7 3T I h wEienr i
AT Toh TEEH! B T U TaIEh & ARRI HI T HIT
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gfy, e T, 101 37 TTerd ST S g 1 TR 2021 i TH it 2Aueiq o Hifefeh, Th
Sra ATerd Sier A ITE & 260,000 SR hT RT W AT Glfed 1 S F
2| 98 31 TS 2022 T 16% TS shi & A bl TR Yebr ohl &1 FA | FE el
6 3R o8 wehraT Ui e el ard R A SHehT oTR @ Iqen e e T, TR A P
FT| TF T e 5 G Y A F w1y e ARt B G i S @ 7 a9 R
ST T & T 3 1 € o ek oh swarel) § o6 a1oft e overeh @ ST 9% 39d wh €
6 +ft ol € o wAT| 1 Sl 2024 1 o8 57k B St ST st aweltd H ge fohar
ST AT B Wt STe fufRm, 1872 % rgaR warsd f s Tm e 4 @ e
W Yt SR T Sger H 9het Qi 7

G) ST SIS % e SR TR <A et 3 fore gy, T e % foreg e g |
(i)  3ToeR weRTa T oY St % for shter am, gfe & fiar & foreg ame ST =hieh)

(i) STot SR TRt ot el 3 o i, Wk STeh o, SRl STH S o ST foes:
1 T

4 (2) g Fo sfufim, 1930 % sgER T g0 fasa’ Y fif v @@ 87 9o g At

(b)

3l FaTfera T ST s+t forersor it

M/S ABC Associates, 1990 & T WT2ei &4 21 Mr. A, Mr. B 991 Mr. C {&aE &
T w8 WRER 1 Mr. A, 78 916 % aiE WIHER 81 5 owe & B 1 SO ferr 31 O
&ﬁﬂﬂm,aﬁ%@a@m%‘,mﬁmﬁaﬂ%ﬁ%l Mr. B @ Mr. C R €4
7 off, T 9w st M/S ABC Associates H HTSER % &9 | | T §HY 918 2w,
TIeteh 3 e T fh cran Qe A Siftieh SHellat & SIaNE W % T A Th SId R
TRl € W@ ¥ 98 qe o 4 U B i dE Gkt i e s = v,
TEITRUTERA! % Y & U8 I HARIH B | TIelileh 3= WIHIRT 1 A ¢ foh o€ feamst Al
TEeR! Sh ST T & Tk | T SHT, Selloh Y T HIHGR o &9 U WICer HTaraT ST Hehal
2 Fife 7% frar Yanfige ST wTed 37 T GTeHR % €9 H, WA AR rfkiem,
1932 3 STTEwI WEHHT ! T YIS a1 Tal ohl 3 o | Soh! Gl i
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(2) TNS TH T I GHE R Tt § T A" T K T F et & gy @R A e

(b)

(@

(b)

(©)

fGam & fou st §1 Sed sarar @ 5 7% o ore geodl & |y € Sl 6
feomsa wivg ¥, R 97 gg & g g e o g wh €, @ 98 At ved
1 Tl & ool o ATy Sfowr # T feeg A% w6l % vl % fu st qe o)
e T e gfedt o1 @2 7o Gl 3 3 w6l % wed & arfofes gew & Wy,
Sfel it Hia g W St }) el I T e F gyl F o v 7R F 9 om
I TR HTAT 2| I Tg Th TR % 18 (At ht gyarht & forg ot & oo g ww ot @
fo ==l & el it oo & 7 Gfed w1 e 9 q @ @ @ W0 R0 9 9% Sigey
T Rt & o weivw § 1 At w0 % RIT et @ AfT a7 3 g w AR
<o 31 g foska erfufiem, 1930 % AR fim WAl 1 3w AR

() R afeq faflae fF w1 9he sieh @ ofyr 6 aget =

(i) SIS FA1 BT AN el T8 Fga1 7 98 feomga sga I | 35 Afifew

e T ?

FA iR, 2013 & Sfaria ‘it wTg w1 Rigra’ aHsTsd | R ° - ‘Yite w1
%+ 1 qRemy B & :

‘Treita gt sigaee o et @1fim o & fo aife 3 &=y 1 o areafere qd orgae 2
4 i erfevs, qEl oY, © Wil @A @ S wefE § AU waEA: GiER € qen aeen
3 338 E T F G FE o TE R WA gy aififEm, 1872 % wawEl %
FFER Feaita g qen 31eigus # =R Sard §Y 39 FUH H gHeEd|

foreft v & aTg R W W I g ATEER BH % FATH % SRl s aaeed|

Mr. R & YR A0TR 2, 3R fued et o & S wrq & e war| 130 feat =t
2138 Mr. S, U fasft amifeh =t oy ifia =afte & &9 # fige w2, st % foa
foxfta.ad % g 125 Tt % e wig @ ® 81 =1 Mr. R ‘T =afw e’ (OPC) =t
it & I 87 afg &, @ |1 98 Mr. S 1 91 i diams 7 31 A1t safe &
w0 2wy #| weeh afufiam, 2013 % SEUE % SHER AW I w1 S

Hifr)
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SECTION B — (40 Marks)

Question No.7 is compulsory.

Answer any THREE questions from the remaining FOUR questions.
Read the passage given below and answer the questions that follows:

Electricity is the life force of modern world. The use of electricity in daily life
at all levels is far too elaborate to be measured. The electric power has
transformed human life into an amazing experience of convenience, luxury,
comfort and ease. A push by a finger to a button brings the light on and the
same act sets hundreds of thousands of gadgets in action. This giant dinosaur
has become slave of a human finger which now controls the electric power. It
simply is a miracle, very real and more bountiful than any other thing
available on the planet. The electricity has revolutionized our houses,

drawing rooms and kitchen with useful equipment.

The array of entertainment aids powered by electricity has created a fancy
world around us. The coming into the existence of a power like electricity that
obeyed the command of the human finger’s touch inspired the inventions and
innovations of a mind boggling range of electric equipment. In fact, all thfa

manmade machines ar gadgets whally or partly run on electricity.

It created wonders of entertainment like cinema, radio, television, other
audio-video systems. The electricity has enabled the man go to space, land on
moon and harness natural powers and resources. Thé mining, construction,

irrigation, transport, printing and other industrial activities are dependent

CGS-H
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on electric power. Even the computers won’t work any wonders without the
electricity. The electricity has penetrated in our lives to such an extent that if
it is cut off for some time, the life comes to a standstill. Today, the progress of
a society or a nation or economy is so dependent on electric power that all the
power generating resources and options are being exploited or explored so
that we have unrestrained supply of electric power. Oil, coal, water, air,
sun light, tidal waves and atomic phenomena are being used for power
generation. The research on hydrogen as fuel and controlled fusion process

are going on at feverish pitch.

The oil and coal are non-renewable resources. Hydel power has limitations as
no new rivers can be created. Solar energy is yet costly to harness. The wind
energy too has limitations. The tidal wave processes are yet at an
experimental stage. And so are hydrogen and fusion ideas. Conventional
atomic energy clearly is the best pollution free option but it entails the tricky

problem of atomic waste disposal.

Questions:

(i) What has created a fancy world around us? 1
(ii) What part of the human body controls the power of electricity? 1
(iii) What happens when the electricity is cut off in the modern day city? 1
@iv) Why hydel power has limitations? 1
(v) Write one merit and demerit of nuclear power generation. 1

CGS-H
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(b) Read the Péssage :

Cholesterol is a wax like substance that is present in our body. It's an
important component of our cell walls and other tissues, but it is considered to
be harmful if in excess. It can lead to blockages caused by plaque formation in
the heart’s arteries causing heart disease and heart attacks. éuch blockages
can also happen in arteries, in the legs or in the brain.' Cholesterol is produced
in the liver, ‘and the amount produced is influenced by our genes and many
other factors. The food consumed by us has also an effect on cholesterol levels.
Fatty foods, especially those high in saturated fats and foods high in simple
sugars sucl; as cold drinks increase cholesterol levels. Lack of physical
activity and exercise also leads to elevated levels of cholesterol.

Cholesterol levels can be reduced by following a heart-healthy ]ifesityle,
which includes lregular physical activity for at least 30 minutes daily and a
diet high in.fruits and vegetables and low in saturated sugar. Statins are a
group of drugs most recommended for those with high cholesterol. Red yeast
rice has been shown to be effective in lowering cholesterol. Garlic and
flaxseed can be included in the daily diet. Olive oil, Canola oil or other oils

rich in monounsaturated fatty acids can be used for cooking in order to reduce

cholesterol through food.

CGS-H P.T.O.
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The ill-effects of high cholesterol take time to show up, and one may not
realise it until it’s a bit too late. Cholesterol, by itself is important beca\use it
insulates nerve cells and membranes. Being a fatty substance, it does not
dissolve in the blood and is packaged into protein. There are ‘good” HDL
cholesterol and ‘bad’ LDL cholesterol. Bad cholesterol can stick to the smooth
lining of the blood vessels, where it is absorbed, while HDL mops up excess
bad cholesterol and removes it from blood vessels. Even moderate physical

activity on a regular basis can help increase HDL cholesterol.

Exercise five days a week, whether you are overweight or underweight.
Aerobic exercises like walking, cycling, swimming, slow jogging, dancing etc.
for 45 minutes, three times a week and anaerobic exercises like weight .
training, and sprinting for another three days will help increase .good and
reduce bad cholesterol. In order to maximize your cardiovascular fitness,
aerobic exercises should raise your heart to a certain level. This level is called
heart zone. One should keep the heart rate elevated for at least 20 minutes.
Always warm-up, stretch, and relax before and after any workout to avoid

injuries. All these contribute to 4 healthicr and fitter life.

(i) Make notes, using headings, sub-headings and abbreviation wherever

necessary giving a suitable title. 3

(1)) Write a summary.

CGS-H
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(a) “A well dressed and groomed person is presumed to be organised and methodical,
whereas a sloppy or shabby person fails to make a favourable impression”. Discuss. 2

(b) (@)  Choose the word which best expresses the meaning of the given word: 1

GERMANE
(1) ‘Responsible
® Logen

| (3) Possible

(4) ‘Relevant

(i) Select a suitable antonym for the word given under : 1
FIDELITY

(1) Commitment
(2) Inconstancy
(3) Ambitious

(4) Devotion

' / : - s " '
(iii) Change the following sentences to indirect speech: - \ 1
S . .

!Why don't you go away for a few days? Jenifer sai'd, to me.

CGS-H P.T.0.
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(c) Write a précis and give an appropriate title to the passage given below : 5

We are bombarded by noise and sound in all our waking hours. We ‘hear’
conversations, news, gossips and many other forms of speech all the time.
However, most of it is not listened to carefully and therefore, not understood,
partially understood or misunderstood. A good listener does not only listen to
the spoken words, but observes carefully the nonverbal cues to understand the
complete message. He/she absorbs the given information’s, processes it,

understands its context and meaning and to form an accurate, reasoned,

intelligent response.

Listening starts with hearing but goes beyond. Hearing, in other words is
necessary but is not a sufficient condition for listening. Listening involves
hearing with attention. Listening is a process that calls for concentration.
While, listening, one should also be observant. In other words, listening has to
do with the ears, as well as with the eyes and the mind. Listening is to be
understood as the total process that involves hearing with attention, being
observant and making interpretations. Good communication 1s essentially an
interactive process. It calls for participation and involvement. It is quite often
a dialbgue rather than a monologue. It is necessary to be interested and also
show or make it abundantly clear that one is interested in knowing what the

other person has to say.

Good listening is an art that can be cultivated. It relates to skills that can be
developed. A good listener knows the art of getting much more than what the
speaker is trying to convey. He knows how to prompt, persuade but not to cut
off or interrupt what the other person has to say. At times the speaker may or
may not be coherent, articulate and well organised in his thoughts and
expressions. He may have it in his mind and yet he may fail to marshal the

right words while communicating his thought.

The listener has to be objective, practical and in control of his emotions. Often
the understanding of a listener is coloured by his own emotions, judgments,

opinions, and reactions to what is being said.

CGS-H
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(i)  Define chain network in communication. 2
OR
(i) How ‘Technology barrier’ affects communication?
(1)  Choose the word which best expresses the meaning of the given word: 1
Sluggard
(1) Cheat
(2) Lazy
(3) Old
(4) Talkative
(i) Choose the word which best expresses the meaning of the given word: 1
Turbulence
(1) Stillness
(2) Repose
(3) Agitation
(4) Calmness
(iii)) Change the following sentence to indirect speech: 1
Mother said to her daughter, “May God grant you success in your
examination”.
You are a purchase manager of Global Traders Pvt Ltd. You had ordered 5

100 units special kind of Bolts from a company SN Nut Bolts Pvt. Ltd in
Mumbai. While checking, the consignment was found to be very poor in
quality. Write a complaint letter to the Sales Manager to replace the order.

“Human behaviour is not under the sole control of emotion or deliberation but
results from the interaction of these two processes”. Explain. ' 2

(i) Change the sentence from Active to Passive Voice.
I ran the obstacle course in record time.

(i) Change the sentence from Passive to Active Voice. ) 1
Money was generously donated to the homeless shelter by Larry.
(iii) Change the following sentence into indirect speech. ’ 1

The students said to their teacher, ‘please allow us to watch the cricket match.’

Corruption has become the order of the day. It has entered all walks of life.
Write an article for your school magazine in 250 words on ‘The Role of Youth
in combating corruption’. 5

CGS-H P.T.O.
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“Understanding cultural aspects of comm unication is absolutely necessary
otherwise it will become a barrier to comm unication”. Discuss. o

Select the correct meaning of Idioms/ Phrases given below:

(@)

(it)

(iii)

@iv)

In the pink of health

(1) Prolonged suffering
(2) Emergency situation
(3) Challenging situation
(4) Best of health

-~

Out of the blue

(1) Quietly

(2) Unexpectedly
(3) Angrily

(4) Revengefully

Change the sentence into passive voice.
The builder is building the flat.

Choose the word which best expresses the meaning of the given word.

Precedence
(1) Priority
(2) Uprise

(3) , Present
(4) Insignificance

There is an urgent job opportunity in an established chartered accountancy
firm for the job of qualified / competent Chartered Accountant. Prepare a
detailed resume for a candidate applying for the post.

CGS-H
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/
IMPORTANT INSTRUCTIONS TO CANDIDATES o

1. Questions in Section A are to be answered in the medium opted by the
candidate. If a candidate has not opted for Hindi medium, his/her answers in
Hindi will not be evaluated.

2. Questions in Section B, are to be answered in English only, by all the
candidates, including those who have opted for Hindi medium.

3. Answer to both the Sections are to be written in the same answer book.

SECTION A — (60 Marks)

Question No. 1 is compulsory.

Answer any FOUR questions out of the remaining FIVE questions. Marks

1. . (a) Radha invited her ten close friends to celebrate her 25t birthday party
on 1¢t January, 2023 at 7.30 P.M. at a well-known “Hi-Fi Restaurant” at
Tonk Road Jaipur. All invited friends accepted the invitation and
promised o atlend the said parly. On request of the holel manager,
Radha deposited T 5,000/- as non-refundable security for the said party.
On the scheduled date and time, three among ten invited friends did not
turn up for the birthday party and did not convey any prior
communication to her. Radha, enraged with the behaviour of the three
friends, wanted to sue them for loss incurred in the said party. Advise as
per the provisions of the Indian Contract Act, 1872.

Would your answer differ if the said party had been a “Contributory
2023 New Year celebration Party” organized by Radha? 4

PMQ-H
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(b) ABC Limited has allotted equity ,shares with voting rights to
XYZ Limited worth ¥ 15 crores and convertible preference shares worth
€ 10 crores during the financial year 2022-23. After that the total share

capital of the company is ¥ 100 crores.

Comment on whether XYZ Limited would be called an Associate
Company as per the provisions of the Companies Act, 2013? Also define

an Associate Company.

(¢) Mr. A contracted to sell his swift car to Mr. B. Both missed to discuss
the price of the said swift car. Later, Mr. A refused to sell his swift car to
Mr. B on the ground that the agreement was void being unce.rtain about
the price. Does Mr. B have any right against Mr. A under the Sale of

Goods Act, 1930?

2. (a) As per the general rule, "Stranger to a contract cannot file a suit in case
of breach of contract”. Comment and explain the exceptions to this rule

as per the provisions of the Indian Contract Act, 1872. 7

(b) Discuss the liabilities of Limited Liability Partnership (LLP) and its
partners in case of fraud as per the provisions of the Limited Liability

Partnership Act, 2008.

PMQ-H
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3. (a) Explain about the registration procedure of a partnership firm as
prescribed under the Indian Partnership Act, 1932. 6

(b) (@) Mr. A, the employer induced his employee Mr. B to sell his one room
flat to him at less than the market value to secure promotion.
Mr. B sold the flat to Mr. A. Later on, Mr. B changed his mind and
decided to sue Mr. A. Examine the validity of the contract as per the
provisions of the Indian Contract Act, 1872. ‘

(i) Mr. S promises Mr. M to paint a family picture for ¥ 20,000 and
assures to complete his assignment by 15 March, 2023.
Unfortunately, Mr. S died in a road accident on 1 March, 2023 and
his assignment remains undone. Can Mr. M bind the legal
representative of Mr. S for the promise made by Mr. S? Suppose
Mr. S had promised to deliver some photographs to Mr. M on
15 March, 2023 against a payment of ¥ 10,000 but he dies before
that day. Will his representative be bound to deliver the
photographs in this situation?

Decide as per the provisions of the Indian Contract Act, 1872. 4

4. (a) Describe in brief the rights of the buyer against the seller in case of

breach of contract of Sale.

(b) P, Q and R are partners in a partnership firm. R retires from the firm
without giﬁng public notice. P approached S, an electronic appliances
trader, for purchase of 25 fans for his firm. P introduced E, an employee
of the firm, as his partner to S. S believing E and R as partners supplied
25 fans to the firm on credit. S did not receive the payment for the fans
even after the expiry of the credit period. Advise S, from whom he can
recover the payment as per the provisions of the Indian Partnership
Act, 1932.

PMQ-H P.T.O.
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(i) An auction sale of the certain goods was held on 7 March, 2023 by
the fall of hammer in favour of the highest bidder X. The payment
of auction price was made on 8 March, 2023 followed by the delivery
of goods on 10 March, 2023. Based upon on the provisions of the
Sale of Goods Act, 1930, decide when the auction sale is complete.

(ii) Certain goods were sold by sample by J to K, who in turn sold the
same goods by sample to L and L by sample sold the same goods to M.
M found that the goods were not according to the sample and
rejected the goods and gave a notice to L. L sued K and K sued J.
Can M reject the goods? Also advise K and L as per the provisions of
the Sale of Goods Act, 1930.

Explain the concept of ‘Corporate Veil’. Briefly state the circumstances
when the corporate veil can be lifted as per the provisions of the

Companies Act, 2013.

Distiniguish between Void Contract and Voidable Contract according to
the Indian Contract Act, 1872.

What are the rights of partners with respect to conduct of the business
of a firm as préscribed under the Indian Partnership Act, 1932?

ABC Private Limited is a registered company under the Companies Act,
2013 with paid up capital of ¥ 35 lakhs and turnover of T 2.5 crores.
Whether the ABC Private Limited can avail the status of a Small
Company in accordance with the provisions of the Companies Act, 20137

Also discuss the meaning of a Small Company.

PMQ-H
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37 qfienffal w siewt g o wream 1 8, wm -3 ° wwEi % I FHawr st F & 21
g el fga = mem 7 g 7, afe fadht & S e 2, o 3o e § @ I &
e g gl '

ot TRETRIG g NI - @ % S % e sl § @ 23 4, 9 venRid g o Rl R
s &1 999 fhan 21

SHI WFT & 3T T & I-feaet § forad gl

T A — (60 Marks)
e g 1 atfad g
Ay gig g 4 B fordl 9R 391 & S G %

1. (37) T A 3 10 Frere sl Y 1 S0 2023 Y AW 7.30 S Ik U, TP @
T i C“Hi-Fi W § 319 25 3 SRifeq 1 ardf @ o 1 s feant aft
Ffa B ¥ R wher ot faan it ol § SufRm @ w1 9= o) dea
geryer 6 g 9T, e Y Iwled uidl % fIw T 5,000 FqU R-amE wioy %
¥ & o1 ! fifvaa fafyr ok o W, g@ # @ 7 fim smefe 9 & foe
Jufedrd € gu SR U1 B Hix q@ g ot T <) e, 37 A Bl & sgeEn
¥ ¢ g8 3N I 9l A g THE & AU a1g Wqa AT IRl 2| A
arfufam 1872 % yayM! % FTET TR )

FIT YT I TN BT AR a1 gRT ST Iudert Ol ““stwrerft 2023 Foed
Ioqa Uil gt ? 4
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(@) fam =98 2022-23 % @ ABC f&1. 3 XYZ 4. = #qafusr afga z 15 *s
T % gHal W 3N 210 TS qev % IRedsiier rftmm st frifa few) soeh

TE HI hl Hel IS € 100 S & T

feuoft ifsw 5 w0 XYZ & = weft arfofem 2013 & wegm & g

g FHIIHT T AWM ? Grag ST bt giemiya oft L)

(@) A A Swift R B I S T I [HA1| S ST Swift HR AT 64
frafon we 9% M) e § A 3 3@ H 0 B ARfEad F AER | =AY
A §Y, B FI Swift HR J=4 § TR fean w axg feea arfufem 1930 %
AT B A & foreg g Frftrepr 7

2. (37 wm= FEm % IgER “oEsy % A et fd gy ¥ g f g F 91
WA A8 B whar’ ool fRlT ok wrdla sigerw sfifEm 1872 % wEuEt
& ITIEY 39 (W & ST 1 9viF B

(@) it g afeed sfafem 2008 % IgER Fue 6 Rt & Hifva e
FieigHt qT Wb TWIAGHT b gIAca! T JUH Hi!
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3. (3) H@aﬁmﬁwmw%aﬁmgﬁmmﬁ%mﬁaﬁ%&ww@@
|

@ @) Mr. A BT 3 30 =i Mr. B ) Ga-fd i S oht 30T Th
%nimﬁzz@rwmésﬁmu@méaﬁ%%qwlmﬁ,
Mr\.BﬁWWWWﬁMr.A%WWWWEW
ﬁﬁmwrtaﬁaaﬂmaaqﬁﬁwmnaamaﬁmﬁawﬁaﬁﬁl 2

(ii) Mr. S 3 Mr. M #! % 20,000 ¥ & w5 afaiieh qefit Hi ferd F
s foa 39K 39 FRREGET ®1 15 T 2023 T 90 F H1 AR fe
guferEw 1 W 2023 H! TF FSH e § Mr.S H 7g & T8 I ITA
WHTHE[(TTS’E‘IWMr.M,Mr.S%ﬁ‘aﬂrﬁ%mﬁWﬁﬂﬁMr.S
mﬁmwﬁwmﬁ%hmﬂaﬂm%?mf\aﬁqm.sﬁ
2 10,000 77 % sedd Mr. M %1 15 A, 2023 ! HB Bl o FH T
fean e o saht 3@ Rty & o gy & T A w0 W a7 IR
TR W G % fe wer g AR sge st 1872 %
ma%‘m*ié;aﬂwﬁvhtérl

4. () ﬁﬁ%mﬂﬁﬂ@ﬁﬁmﬁmﬁ?ﬁm%uﬁmsﬁrﬁmaﬂhﬁl 6

@) P, Q3 R wh el i § wider 21 R e fd ardate gem S w8
ST S ST 2 P A S o TR frsret Suew w1 SRl 2, @ wH % foe 25
%8 @he % R gris R P 3 o & wel B o O S ¥ T SRR 5
w0 § F@mn S ¥ E 3 R # % #1 giEer ad g B w25 Tl A 36N
mﬁaﬁlsﬁawmmﬁﬁ%wﬁﬁ@ﬁéﬂuﬁmﬁ@
st st 1932 % TEUFE!  FHER S FREd TaF TR ST R 8,
Ty < |
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5. (31 () 7HHE 2023 H Fv PR awgan € fandh ey 98 S Ot 23 9
X % ugl 8 gefigt oo & g8 framh 7 1 e 8 7 2023 F g 7
10 5 2023 = FEgait H wagdh g8 w5 fils w1930 % gyl
%mﬂgmgﬁﬁ%ﬁﬁﬁﬁﬁﬁﬁmm@@m
(i) T3 AER W J I K B PifRea segqd 39, K o awgd T3 F omuR |
L) 3f 3t L 3 733 % 3mar @ M %) o aeqt s M 3 o s et
T % SMUR W TET off 3R IE aegd srfeR & R L @ e fam)
LI K & feg 3t K 3 J % foeg a1¢ wga e & M 9w oreton
FEHAT 27 K 3 L oft g Fafis arfram 1930 % argem e 3|

(§) “‘THEEE MW’ Y FEUNN H qU HY H RFET 2013 ¥ =i
Hftrea @ 37 aRfeufedt &1 aofs ot @ “wmmiem s’ =) f5fa fear 51 gwar
37

6. (3) WRdRr gy rffam 1872 % AR =y ey IR el se § ow
G ,
(#) w%wméaﬁawmmﬁmwwﬁm%w
it fafeq 27 :

() ABC Private Limited % 35 W@ 1 Ygd ot 3 T 2.6 HUS I HTA 6 T
FEOH1 SAfRFIH 2013 F t=iTa dSfia 81 w0 wRdE wEE siffEE 2013 %
WEHHI % =T ABC Private Limited ‘St wmY’ Waﬁmaﬂm%?
B T & 31 H @ off w:
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SECTION B — (40 Marks)

Question No. 7 is compulsory.

Answer any THREE questions out of the remaining Four questions.
. (a) Read the passage carefully and answer the questions given below :

Air pollution is an issue which concerns us all alike. Air pollutant is
defined as a substance which is present in air while normally it is not
there or present in an amount exceeding the normal concentrations. It
could either be gaseous or a particulate matter. The important and
harmful polluting gases are carbon monoxide, carbon dioxide, ozone and
oxides of sulphur and nitrogen. The common particulate pollutants are
the dusts of various inorganic or organic origins. Although we often talk
of the outdoor air pollution caused by industrial and vehicular exhausts,
the indoor pollution may prove to be as or a more important cause of
health problems.

Recognition of air pollution is relatively recent. It is not uncommon to
experience a feeling of ‘suffocation’ in a closed environment. It is often
ascribed to the lack of oxygen. Fortunately, however, the composition of
air is remarkably constant all over the world. There is about 79 percent
nitrogen and 21 percent oxygen in the air and the other gas forming a
very small fraction. It is true that carbon dioxide exhaled out of lungs
may accumulate in a closed and overcrowded place. But such an increase
is usually small and temporary unless the room is really airtight.
Exposure to poisonous gases such as carbon monoxide may occur in a
closed room, heated by burning coal inside. This may also prove to be
fatal.

What is more common in a poorly ventilated home is a vague
constellation of symptoms described as the sick-building syndrome. It is
characterized by a general feeling of malaise, headache, dizziness and
irritation of mucous membranes. It may also be accompanied by nausea,
itching, aches, pains and depression. Sick building syndrome is getting
commoner in big cities with the small houses, which are generally over
furnished.

PMQ-H P.T.O.
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By products of fuel combustion are important in houses with indoor
kitchens. It is not only the burning of dried dung and fuel wood which is
responsible, but also kerosene and liquid petroleum gas. Oxides of both
‘nitrogen and sulphur are released from their combustion.

Smoking of tobacco in the closed environment is an important source of
indoor pollution. It may not be high quantitatively, but significantly
hazardous for health. It is because of the fact that there are over 3,000
chemical constituents in tobacco smoke, which have been identified.

These are harmful for human health.

Microorganisms and allergens are of special significance in the
causation and spread of diseases. Most of the infective illnesses may
involve more persons of a family living in common indoor environment.
These include viral and bacterial diseases like tuberculosis.

Besides infections, allergic and hypersensitivity disorders are spreading
fast. Although asthma is the most common form of respiratory allergic
disorders, pneumonias are not uncommon, but more persistent and
serious. These are attributed to exposurcs to allergens from various
fungi, moulds, hay and other organic materials. Indoor air ventilation
systems, coolers, air conditioners, dampness, decay, pet animals,
production or handling of the causative itéms are responsible for these
hypersensitivity diseases.

Obviously, the spectrum of pollution is very wide and our options are
limited. Indoor pollution may be handled relatively easily by an
individual. Moreover, the good work must start from one’s own house.

(1) What is an air pollu’cant?\ 1
(i) Why do we feel suffocated in a closed environment? 1
(iii) How the sick building syndrome can be characterized? 1
(iv) How is indoor smoking very hazardous? 1
(v) How can one overcome the dangers of indoor ai;r pollution? 1

PMQ-H
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(b) Read the passage:

Effective speaking depends on effective listening. It takes energy to
concentrate on hearing and to concentrate on understanding what has
been heard. Incompetent listeners fail in a number of ways. First, they
may drift. Their attention drifts from what the speaker is saying.
Second, they may counter. They find counter-arguments to whatever a
speaker may be saying. Third, they compete. Then, they filter. They
exclude from their understanding those parts of the message which do
not readily fit with their own frame of reference. Finally, they react.
They let personal feelings about a speaker or subject override the
significance of the message which is being sent.

What can a listener do to be more effective? The first key to effective
listening is the art of concentration. If a listener positively wishes to
concentrate on receiving a message his chances of success are high.

It may need determination. Some speakers are difficult to follow, either
because of voice problems or because of the form in which they send a
message. There is then a particular need for the determination of a
listener to concentrate on what is being said.

Concentration is helped by alertness. Mental alertness is helped by
physical alertness. It is not simply physical fitness, but also positioning
of the body, the limbs and the head. Some people also find it helpful to
their concentration if they hold the head slightly to one side. One useful
way for achieving this is intensive note-taking, by trying to capture the
critical headings and sub-headings the speaker is referring to.

Note-taking has been recommended as an aid to the listener. It also
helps the speaker. It gives him confidence when he sees that listeners
are sufficiently interested to take notes; the patterns of eye-contact
when the note-taker looks up can be very positive; and the speaker’s
timing is aided-he can see when a note-taker is writing hard and can

then make effective use of pauses.

- PMQ-H P.T.O.
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Posture too is important. Consider the impact made by a less competent
listener who pushes his chair backwards and slouches. An upright
posture helps a listener’s concentration. At the same time it is seen by
the speaker to be a positive feature amongst his listeners. Effective
listening skills have an impact on both the listener and the speaker.

() Make notes, using headings, sub-headings and abbreviation
whenever necessary.

(i) Write a summary. 2
8. (a) Comment on following statement :

“Communication does not simply involve sending of a message
by a person.”

(b) (@) Choose the word which best expresses the meaning of the given
word:
ADAMANT
(1) Willing
(2) Inflexible .
3) Poor
4) Unfavourable
(i) Fill in the blanks with the most suitable option : 1

The study of coding-decoding involves various
clues.

(D) Healthy
2) Obvious
3) Verbose
(4) Cryptic
(i1i) Change the following sentence to indirect speech :

He said, “I clean my teeth twice a day.”

PMQ-H
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(¢) -Write Précis and give appropriate title to the passage given below : 5

Almost every organism has the tendency to react to certain stimuli for
survival. This reaction to each and every situation has an evolutionary
basis of adaptation. The study of human emotions dates back to the
19th century and psychologists have since then discovered many reasons
for every emotion, yet these are just theories. The arousal of emotions
and their assumed structures is said to occur due to repeated
encounters with a situation followed by the adaptation of the encounter.
Human emotions have been linked to adaptively regulate emotion-
gathering mechanisms. The emotion of fear which is associated with
ancient parts of the brain has presumably evolved among our
pre-mammal ancestors while the emotion of a mother’s love called the
‘filial emotion’ has seen to evolve among early mammals. Various
emotions work as manipulative strategies that favour survival. Feigning
emotions by an accused person may help him be saved from the
punishment. An exaggerated display of anger is also associated with
manipulating or threatening someone.

Despite there being several emotions for various events, ironically the
most interesting emotion is the emotion of disgust. Disgust is aroused
when the body senses a danger to the immunity or the physiology of the
human. The disgusted memory is associated with alerting the brain of a
potentially dangerous substance. A few studies have shown that the
encoding triggered in adaptive memory for problems is stronger than
any other behaviour. This makes us instantly have a disgusted
expression at the sight of something that makes us uncomfortable or
uneasy. These expressions are also closely linked to self-protective

communication.
9 (a) Concreteness is an important characteristic of effective communication.
Comment. 2
Or
What do you mean by Visual communication? 2
(b) (i) Choose the word which best expresses the meaning of the given
word: 1
RELISH
(1) Like
(2) Abhore
3) Hate
(4)  Loathe ‘
PMQ-H P.T.O.
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(ii) Choose the word which best expresses the meaning of the given word: 1
MESSY
(i) Organised
(2) Dirty
(3) Hygienic
(4) Clean
1

(i) Change the following sentence into direct speech :

‘_;Shg‘_ said thattshe vvot;lfl buy a new house if she had been rich.

(¢) Write a report in 250 words on the topic: “Climate Change”. 5
10. (a) Define Wheel and Spoke Network in Communication. 2
(b) (@) Change the sentence from Active to Passive Voice : 1

Please help me.

(i) Change the sentence from Passive to Active Voice : 1
Jobs will have been lost by thousands of individuals due to
the pandemie.

(iii) Change the following sentence to direct Speech : 1

The teacher suggested the boys that they should . gO

swimming since it was so warnw.

PMQ-H
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(¢0 You are Bhupendra, a resident of B-128 Rajeev Gandhi Nagar,
New Delhi. You are worried about your younger brother’s habit of
excessive use of Internet for completing his homework. Write a letter to
the Editor of a popular newspaper, expressing your opinion on the
advantages, disadvantages of the dependence of youth for utilizing
Internet as a homework tool in the present times. Also send it by email
(assume emails of yourself and the receiver appropriately).

11. (a) How ‘Emotions’ of a person become barrier of communication? 2

(b) Select the correct meaning of Idioms/ Phrases given below :

(i) Bone of contention
@) To be cautious
2 Subject of dispute
3) Area of agreement
4) Of least importance 1

(11) Face the music
1) To anticipate good response of something you have done
2 To accept award for something you have done
3) To accept criticism for something you have done

4) To wait for result of something you have done

(ii1)) Correct the following sentence :

I cannot explain that why I like her so much. 1

() You are Karunesh Vijay, a resident of 123 Mahaveer Nagar, Indore,
Madhya Pradesh. You came across a notice on the website of a CA Firm
‘Saha and Company’ posted on 24 February, 2023, for the recruitment of
an Article Assistant. Prepare a resume along with a cover letter in
response to this notice. 5

PMQ-H P.T.O.
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J

SECTION A — (60 Marks)

Question No. 1 is compulsory.

Answer any FOUR questions out of the remaining FIVE questions. Marks

(a) T owes G, the following debts as per the table given below :

Amount of the Debt Position of Debt
(in %)
5,000 Time barred on 01¢t July, 2023 as per the
provisions of the Limitation Act, 1963
3,000 Time barred on 01st July, 2023 as per the
provisions of the Limitation Act, 1963
12,500 Due on 15t April, 2022
10,000 Due on 15t July, 2023
7,500 Due on 25t Nevember, 2023

THF-H
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G makes payment on 1st April, 2023 .mentioned as below without any

notice regarding how to appropriate the amount/payment.

(1) ‘A cheque of T 12,500

(i1) A cheque of ¥ 4,000. :

In such a situation how the appropriation of the payment is done
against the debts as per the provisions of the Indian Contract Act, 1872

by assuming that T also has not appropriated the amount received 4

towards any particular debt.

(b) The State Government of X, a state in the country is holding 48 lakh
shares of Y Limited. The paid-up capital of Y Limited is ¥ 9.5 crore
(95 lakh shares of ¥ 10 each). Y Limited directly holds 2,50,600 shares of
Z Private Lirﬁited which is having share capital of T 5 crore in the form
of 5 lakh shares of ¥ 100 each. Z Private Limited claimed the status of a
subsidiary company of Y Limited as well as a Government company.
Advise -as a legal advisor, whether Z Private Limited is a subsidiary
company of Y Limited as well as a Government company under the -

provisions of the Companies Act, 2013?

(¢) Discuss the various types of implied warranties as per the Sale of Goods

Act, 1930.

2. (a) Explain the terms “Trafficking relating to public offices and titles” and

|

“Stifling prosecution” as per the Indian Contract Act, 1872.

(b) Explain the provisions relating to the registration of changes in partners

under the Limited Liability Partnership Act, 2008. ’ 5

THF-H
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3. (a) Discuss the rule regarding a partner’s implied authority to bind the firm
for his acts. Also, explain the situations when the partner has no implied

authority to bind the firm.

(b) (1) A mobile phone was displayed in a shop with a price tag of T 10,000
attached to the mobile display box. As the price displayed was very
less as compared to M.R.P. of the mobile phone, Y, a customer
rushed to the cash counter and asked the shopkeeper to receive the
payment and pack up the mobile phone. The shopkeeper refused to
hand over the mobile phone to Y in consideration of the price
indicated in the pric.e tag attached to the mobile phone. Y seeks
your advice whether he can sue the shopkeeper for the above cause
under the Indian Contract Act, 1872.

(i) On 1% March 2023, T Readymade Dress Garments, Shimla enters
into a contract with J Readymade Garments, Jaipur for the supply
of different sizes of shirts ‘S’ (Small), ‘M’ (Medium), and ‘L’ (Large).
As per the terms of the contract, 300 pieces of each category i.e. ‘S’
@ T 900; ‘M’ @ 1,000 and ‘L’ @ 1,100 per piece have to be supplied on
or before 31st May, 2023.

" However, on 1t May, 2023, T Readymade Dress Garments , Shimla
informed J Readymade Garments, Jaipur that the firm is not
willing to supply the shirts at the ahove rate due to the rise of
prices in the raw material cost. In the meantime, prices for similar
shirts have gone up in the market to the tune of ¥ 1,000; ¥ 1,100;
and ¥ 1,200 for ‘S’, ‘M’ and ‘L)’ sizes respectively.

Examine the rights of J Readymade Garments, Jaipur in this

regard as per the provisions of the Indian Contract Act, of 1872.

THF-H
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4. (a) Can an unpaid seller who has possession of goods exercise the Right of
lien? If yes, mention such circumstances. When does he lose his right of

lien as per the provisions of the Sale of Goods Act, of 19307

(b) State giving reasons whether the following are partnerships as per the

provisions under the Indian Partnership Act, 1932:

(1) X, Y, and Z agree to divide the profits equally, but the loss, if any, is

to be borne by X alone. Is it a case of partnership?

(i) X, a publisher, agrees to publish a book at his own expense written
by Y and to pay Y, half of the net profit. Does this create a
relationship of partnership between X and Y? Is Y liable to a paper-
dealer for paper supplied to X to print Y’s book?

(i) A and B purchase a tea shop and incur additional expenses for
purchasing utensils etc. each contributing half of the total expense.
The shop is leased out on daily rent which is divided between both.
Does this arrangement constitute a partnership between
A and B? ‘ 3x2=6

5.. (a) () X, afurniture dealer, delivered furniture to Y under an agreement
of sale, whereby Y had to pay the price of the furniture in three
instalments. As per the terms of the agreement, the furniture will
become the property of Y on payment of the last instalment. Before
Y had paid the last instalment, he sold the furniture to Z, who
purchased it in good faith. X brought a suit against Z for the
recovery of the furniture on the ground that Z had no title to it.
Decide the case on the basis of the provisions as per the Sale of
Goods Act, 1930. 4
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(ii) Against B's tender, R agrees to sel] and deliver 1,000 kg tomatoes
@ ¥ 100 per kg which shall be delivered on 15t July, 2023. Due to
the rise of the prices of tomatoes in the market, R delivered only
700 k;g of tomatoes on 15th July, 2023 and agrees to deliver the
balance quantity in the next month. B accepted 700 kg of tomatoes
sent by R. Later, R failed to deliver the balance quantity and so B
refused to pay the price of 700 kg of tomatoes to R as he had failed
to fulfill the tender conditions stipulated in the contract of sale.

Can B refuse to pay R as per the provisions of the Sale of Goods

Act, 1930? z

(b)  Explain the kinds of share capital as per the Companies Act, 2013. Also,
explain when the capital shall be deemed to be preference capital. 6

(&) “Mere silence does not amount to fraud.” Explain the statement as per g
the provisions contained in the Indian Contract Act, 1872.

(b) State the rules that should be observed by the partners in settling _th'e
accounts of the ﬁrm after dissolution under the Indian Partnership Act, p
19322 - -

(©@ MTK Private Limited is a company registered under the Companies Act,

2013 on 5th January, 2021. The éompany has not started its business till

now. On T7th April, 2023, a notice has been réceived from ROC for

non-filing of FORM No-INC-20A. Identify under which category

MTK Private Limited company is classified. Explain the definition of

the category of the company in detail. 3
THF-H P.T.O.
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L mqﬂmﬁﬁaﬁﬁwﬁﬁﬁﬁﬁrﬁmﬁ%,m—aﬁuﬁ%m%ﬁaﬁﬂ@ﬁﬁﬁﬁ%l
a‘s‘qﬂmﬁﬁmﬁfﬁmaﬁgﬂ%,ﬂﬁ%ﬁﬁm%ﬂ%,aﬁmﬁﬁﬁ%fﬁﬁﬁﬂ
i T8l B

2. mﬁwmﬁﬁﬁmmﬂ-a%mﬁ%m@sﬁﬁﬁﬁﬁ,mqﬁaﬁﬁm\ﬁﬁ%ﬁ%ﬁ
e %1 939 R 21

3. o it ¥ I @ I-gfww § el 2

N )
AT 3 — (60 Marks) .
wv GE 1 AfEr R
ﬁqqﬁu&ﬁﬁﬁﬁ%‘faﬂﬁ%waﬁml Marks

1. (a) 413 @ 8 qRrE ¥ AR T R G 7 PR o o @
" SROT I =01 1 Rafa
o (T H) :

5.000 i sfufRm, 1963 ¥ WEUM F ITER 1 s, 2023
STt e 1 ' |

3,000 uhemn afufeEm, 1963 % yEuE % IEER 1 AR, 2023 £
FHATdia L e @

12,500 1 30, 2022 H A
10,000 15 e, 2023 I

7500 25 TR, 2023 I 0l
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G 1 3099, 2023 &I o feeh g & 6 5 ufyt 1 yram & fafrem e

ST, 36 e & A= Igaq yman s @

() % 12,500 %1 9H

(i) ¥ 4,000 1 %

e Ry A, wwdte argeey ifufam, 1872 % yEYE! & IFER FO & faeg

A 1 AFRE $8 R o @, 78 wed g i T oft feeht fomi s & ferg

o8 Tl <1 fafem & R 2 4

(b) W F TH THA X, F T R & 9@ Y foafies % 48 @@ wow 21 Y foifes
1 a1 gt 9.5 HAS (F&H T 10 & 95 @ IRW) B| Y fafies & wa #ha
R | 7 wzae fafies & 2,50,600 I 2, 53F T 100 % 5 @@ WA &% FAH
5 wiE T 6 qE Gt §1 Z e Rife 1 Y fafivs # weww sl %
HIY-F1Y T THE HeT g1 1 ot g foman )
fifter TeiEHR % &9 § dog AR B = Z wgae fafiee, Y fafiee &
TERE FA B 5 wg-ur Fef arfufEm, 2013 % wEwHl % 9@

| e wt R 7 | 4

¢ u& fawa sfufem, 1930 % sEw fafm yer $it fafia (ffa) s
(FR=R) W ==t Hifl 4

y, () wwehd aie-y sRiNaw, 1872 F d8d ‘FwH val H e ot ‘wrm W1 an
JaEG FA Hl AW _ 7

(b) T TR aEied sfifRm, 2008 % JFeia FigeRl # ufEdd % Teiww @
Geforg yrag™i 6l STE Hiig | 5

THF-H P.T.O.
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(a) TorEll ATSiGR g1 1 3T Fl & A ey w3 F g wieeR ¥ Fey &
frm ==t i 37 ffadl & ot s it S9 aEer ¥ g 51w
T FHA HT his Hfga A 78 §)

(b) () PM U TH HiEEa BH Yehfa fhar o a1 ok Oewa weifd d@E «
| T 10,000 %1 Feg &0 @M g el df weRld Hwa, Aega wW 6
AR, K g ° wgd w9 ofl| Y, TF WiEh 9wl W ugEr 3k
IHFMER & YIAH FH w4 I FGEa B 36 F0 % 70 F811 gHreR 3
AeTEE B § I8 Y 31 F quiHh 1 e w1 o= F @ g0 Y ) vend
B FiTH & SR &R e ¥ oned gee =i @ B @ ag vl smey
rfyfEm, 1872 % d&q IWIG HAW F Y gHARR W qEH (TQ) W

HHaT 87

(i) 17T 2023 I, T ifeis mAw, fmen ¥ fafte s i v A amyfif
& fou J Wis iew, AR & Ty w sgEw B S (Be)
‘M (rem) 3R L (F31) | IgEy h w6l F AER T2F F 300 g Aot
L3l ‘S’ @ T900, ‘M @ él,oooaﬁt L @ T 1,100 3f gea i amgfd
31 ¥, 2023 ¥ UgSA H qf
gl 1 7%, 2023 #Y, T A 3@ wiww, Rmer 3 J Wis s,
SR HT Ga o 6w wre i Bt § 9fg F o i swie @ w
wé 1 gl F B FR T R 3w e, IO A S, M 3L TR
UM wém fi Aimd wEw: T1,000; T1,100 3N £1,200 9% § TE F

T Ty 4 YR g sfufam, 1872 % yEuEl ¥ aER J WA
TRE=H, SRR & AR 6 AT hifm)

THF-H
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4. (a) HN K A fokar EF T O 8, EIHER (TEMEER) % TR #
T T Hehdl 87 Afe &, a1 UE uiteufadl %1 sgw hifvw) aeg fasg arfufem,
1930 % YEHTHI o IR 98 qaifter %1 Afrer wa @ a1 87 =

(b) R T Fw A e e FrefiRaa e e e, 1932 % AR
% AN ATger 7
@) X, Y, 3N Z ™ % gae w9 9 e w0 & foe agaa 8, dfe fedt @
THAE 3Thal X 1 Tg HTT 1| 1 I§ TTRICR HT FTIHAT 82

(i) X, T TR, Y g fifad U T Y oo @9 W YR % 3R g
T T I T Y Y aE w0 % T wehe 2, wsaﬁXaﬂtYaa
1= driet w1 e s9ar 22
=Y, Y H frae s & e X &t f@ ™ s % fag fedt dw e
% uft ITErRt B 7

(iii) A 3R B % gFM ¥ 9@ Tlad 8 IR Tl W 32 Afiies @ w0
Wm%aﬁ#mﬁ%%ﬁlmﬁﬁéwaﬂmm@émélw
ﬁ%ﬁ%%@mﬁmw%sﬁwaﬁ%aﬁaﬁnﬁa%lmﬁw _

A 31 B % i adedt s 22 3x2=6

5. (a) () X, T Brtex faskar, 7 fosh & v awsia % qga Y # B faia e,
&l Y 1 Bl A hina O fevdl § el 0| aweia B wdl F IgEn
sifom fF % AR W R Y A Tull &9 S 3EE 9E S B Y 3
it e &1 yram B s w7 w39 R, feR W o
Tefivamd % @19 @hEr X ¥ R A auelt F R Z % feg 39 e W
Tehenl eRR e 6 2 & soe w@nfe adt o g fasea srfdifam,
1930 % WEYH! % YR W AW 1 Forg il 4

THF-H P.T.O.
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i) B fifse % feg R 1,000 fheimma i, 100 SRy femm w =3
3t frafa w0 % g gema 8, @ 15 9o, 2023 i foafa fean smm|
R § et f Himdl § 9fg F SR, R A 15 I8, 2023 H S
700 Reeiem e fafa fed aik armet 7@ & 9w A fafa 0 % forg

. wewd 31 BY R g0 99 Y 700 Reetwm e wheen s Rl e 8, R

.99 g1 & § fawe @1 3t 3@fiw BA R &1 700 FRemm gHT i shid
1 YA &0 & 3R K fean FifF a8 fosht F srgera 7 fuffa fifewr
It B qU KA | fawa @

71 B a&q faspa aifufgm, 1930 % gyl % JHER R &1 YaH FH |
FohR L THAT 8 7

Hr AffEm, 2013 F IFER W G F THR H = Hifw) I7 W wE
R fop ot =t Fa anferee &t wmn SR ? :

“qT 99 & a9 ] R ey fufEm, 1872 § fika el %
AR HYF Y SFRAT AT

TR g awsh % I, I Fam w Igw R fre wwrdle aEer
rfufram, 1932%mm%mwﬁ%@ﬁmﬁmwﬁmmﬁmm
W%mmar%m

5 SHadt, 2021 ¥, SR FFEE, 2013 % 980 MTK WEae ffies #wh
Tofiohe g3 1 IO ¥ 3T o U HRIGR HY JEIH T&l Hl 2l 7 3T, 2023 i
ROC & i Fer-31mé w1 #i-20A et 7 %t & forg w AMew W g3M MTK
e fftRe wmeh few Rt § s 8, wa%rﬁiﬁﬁmm:ﬁsﬁavﬁsﬁ
it <t foream @ =men Aifv)

THF-H
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SECTION B — (40 Marks)

Question No. 7 is compulsory.

Answer any THREE questions out of the remaining Four questions.
7. (a) Read the passage carefully and answer the questions given below :

There are ‘several indicators of a developed nation. It is economically,
agriculturally and technologically advanced. There is all round
prosperity. The benefits of prosperity reach the common people. They
have a reasonable life span and enjoy the basic comforts and good
health. They are able to educate and feed their children well. Poverty,
illiteracy, ignorance, disease and inequalities are reduced to a
minimum. Quality goods are produced in abundance and exports keep
on rising. The nation is able to protect its sovereignty as it is self-reliant
in defence and has a standing in the international forum. India, even
after more than seventy-six years since independence is branded as a
developing country. Achieving a developed status means the major
transformation of our national economy to make it one of the largest
economies of the world, where people live well and above the poverty
line. The transformation can be materialised within the next 15 to
20 years as India has the necessary potential. Our natural resources are
richer as compared to those of many other countries. We have abundant
supplies of all the ores and minerals. We have rich bio-diversity,
abundant sunshine, varied agro-climatic conditions and plenty of
rainfall all over India. The country either already has the necessary
technologies or can develop them easily. Our people and our farmers not
only have a great learning capability but most of them also have an
entrepreneurial and competitive spirit. Avenues to channelise this spirit
constructively and productively are required. We need the will to take

action and commit ourselves to be one of the world leaders. We must

THF-H P.T.O.
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resolve to work hard with a long-term vision. Technology is the highest
wealth generator in the shortest possible time. It can provide us with
infrastructure and help transform education and training, food and
processing, industries and agriculture. It is the key to achieving quality
products in an increasingly competitive market and to continually
upgrading human skills. It is the only vital input for ensuring health
security and better living conditions for people. It can enable us to
double cereals by 2030 and to make arrangements for their storage,
transportation, distribution and marketing. It can make us leaders in
machine tool industries. Through software engineering, we can enter
computer-aided design and computer-aided manufacturing. Therefore,
the major role in India's development is to be played by the vast pool of
our talented scientists, researchers and technologists. They should shed
pessimism and think big because they are the only ones who understand
the forces of technological modernization. They should take it as a
challenge to make India a developed country. They must spearhead the
movement by talking about what can be done and encouraging people
that difficulties can be overcome. They must extend all possible help to

industries, business managers, administrators, and others.

(i) Mention the basic fields in which a developed country is advanced. 1

(u) What is required for achieving the developed status for India? 1

(iii) "Technology is the highest wealtli generator in the shortest time".

1

How?
(iv) Who can play a major role in India's development? 1
1

(v) How can India enter computer-aided design and manufacturing?

THF-H
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(b) Read the passage :

How does television affect our lives? It can be very helpful to people who
carefully choose the shows that they watch. Television can increase our
knowledge of the outside world; there are high quality programmes that
help us understand many fields of study, science, medicine, and the arts
and so on. Moreover, television benefits very old people who can’t often
leave the house, as well as patients in hospital. It also offers non-native
speakers’the advantage of daily informal language practice. They can

increase their vocabulary and practice listening.

On the other hand, there are several serious disadvantages to television.
Of course, it provides us with a pleasant way to relax and spend our free
time, but in some countries, people watch the ‘boob-tube’ for an average
of six hours or more a day. Many children stare at a television screen for
more hours each day than they do anything else, including studying and
sleeping. It's clear that the tube has a powerful influence on their lives

and that its influence is often negative.

Recent studies show that after v;)nly thirty seconds of watching
television, a person’s brain ‘relaxes’ the same way that it does just
before the person falls asleep. Another effect of television on the human
brain is that it seems to cause poor concentration. Children who view a
lot of television can often concentrate on a subject for only fifteen to
twenty minutes.- They can pay attention only for the amount of time

between commercials.

THF-H P.T.O.
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Another disadvantage is that télevision often causes people to become
dissatisfied with their own lives. Real life does not.seem as exciting to
these people as the lives of actors on the screen. To many people
television becomes more real than reality and their own livés boring.
Also many people get upset or depressed when they can’t solve problems

in real life'as quickly as television actors seem to.

Before a child is fourteen years old, he or she views.eleven thousand
murders on the tube. He or she begins to believe that there is nothing
strange about fights, killings and othef kinds of violence. Many studies
- show that people become niore violent after certain programmes. They

may even do the things that they saw in a violent show.

(i) Make notes, using headings, sub-headings and abbreviation

whenever necessary. )
(ii). Write a summary giving a suitable title. 2
8. (a) What do you mean by Verbal communication? 2

(b) () Select the suitable antonym for the word given under :

TYRANNY

[€)) Hatred

2) Mystery
3) Autonomy

4) Oppression 1

THF-H
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(i) Correct the following sentence :
If he came to me, I would have given him a pen. 1

(ii1) Root of the word ‘Anthropology’ is :
@) Study
(2)  Anthrop
3) Mankind
4) Man

() Write a précis and give appropriate title to the passage given below :

English education and English language have done immense goods to
India, in spite of their glaring drawbacks. The notions of democracy and
self-government are the born of English education. Those who fought
and died for mother India's freedom were nursed in the cradle of English
thought and culture. The West has made contribution to the East. The
history of Europe has fired the hearts of our leaders. Our struggle for
freedom has been inspired by the struggles for freedom in England,
America and France. If our leaders were ignorant of English and if they
had not studied this language, how could they have been inspired by
these heroic struggles for freedom in other lands? English, therefore, did
us great good in the past and if properly studied will do immense good in

future.

English is spoken throughout. the warld. For international contact, our
commerce and trade, for the development of our practical ideas, for the
scientific studies, English is indispensable "English is very rich in
literature," our own literature has been made richer by this foreign
language. It will really be a fatal day if we altogether forget
Shakespeare, Milton, Keats and Shaw. 5

THF-H P.T.O.
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9. (a) What do you mean by Star Network Communication? °

o

OR

“Coherence” is an important feature of Communication. Discuss. 2

(b) (@) Choose the word which best expresses the meaning of the given

word :

FERRY

(D) Bargain
(2) Celebrate
(3) Transport

(€)) Drown 1
(i) Change the following sentence to indirect speech :
My friend said to me, “Has your father returned from Kolkata”? 1
(iii) Change the following sentence into Passive Voice :
“Please sit here and wait till I return”. 1
(c) Drepare the Minutes of a Meeting, presided by a committee under the
chairmanship of the Managing Director Ms. U; Product Head and Sales
Head of LHO Private Limited, a Garments Company. The inain agenda

of the meeting was introducing a new Denim Jeans, analysing the cost,

discussing the sales and marketing strategies. 5

THF-H
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10. (a) How does organization structure become a barrier to communication?

(b)

()

Explain.

@) Change the sentences from Active to Passive Voice :

They forced him to steal the money out of his-dad’s room.
(i) Change the sentence from Passive to Active Voice

Let:-the class not be disturbed.
(iii) Change the following sentence into direct speéch. -

The boys exclaimed with joy that they had won the match.

You are a Fina_nc’e Manager of XYZ Limited, A to Z Complex,
Technology Nagar, FF State, India (e-mail: atz@gmail.com,
Tel.: XXXXX). Your company is going to distribute 500 laptops to a
resaarch institute under its Corporate Social Responsibility (OSR),

initiatives. Write an enquiry letter to Z Tech Limited, NK Complex,

FF State, India for supply of 500 Laptops making comprehensive enquiry

about configuration, costs, delivery and terms and conditions ete.

THF-H
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11. (a) Whatis Para language in communication? Explain it.

(b) Select the correct meaning of Idioms/Phrases given below :

@ ‘Gift of the gab’
(1) Talent for speaking
(2)  To win a prize
(3) To get something free
(49  Todistribute gifts |

(i) Ared-letter day
() Animportant day
2 An auspicio\isadai
B3 A dapgeroﬁs &ay .

(4) An unimportant day

(iii) Select the correct meaning of the collocation given below :
Dollar diplomacy )
(1) Make money
(2)  Go bankrupt
(3) Profit earnings
(4) Cash Flow

(¢©) The number of women in the police force seems insufficient especially
when we see the increasing involvement of women in terrorist activities.
Write an article in 250 words for “The Hindustan Chronicle”, on the
need of having more women in the police force.

THF-H
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1. (a)r

Hindi will not be evaluated.
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Answer any four questions from the remaining five questions.

Working notes should form part of the answers.

Marks

R owns an electronics store. P visited the store to buy a water purifier priced at
¥ 54,000/-. He specifically requested R for a purifier with a copper filter. As P wanted
to buy the purifier on credit, with the intention of paying in 9 equal monthly
instalments, R demands a guarantor for the transaction. S (a friend of P) came
forward and gave the guarantee for payment of water purifier. R sold P, a water
purifier of a specific brand. P made payment for 4 monthly instalments and after that
became insolvent. Explain with refqrencé to the Indian Contract Act 1872, the
liability of S as a guarantor to pay the balance price of water purifier to R.

What will be your answer, if R sold the water purifier misrepresenting it as having a
copper filter, while it actually has a normal filter? Neither P nor S was aware of this
fact and upon discovering the truth, P refused to pay the price. In response to P’s
refusal, R filed the suit against S, the guarantor. Explain with reference to the
Indian Contract Act 1872, whether S is liable to pay the balance price of water

‘purifier to R? (7 Marks)
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A company, ABC limited as on 31.03.2023 had a paid-up capital of ¥ 1 lakh
(10,000 equity shares of ¥10 each). In June 2023, ABC limited had issued additional
10,000 equity shares of €10 each which was fully subscribed. Out of 10,000 shares,
5,000 of these shares were issued to XYZ private limited company. XYZ is a holding
company of PQR private limited by having control over the composition of its board of

‘directors.

Now, PQR private limited claims the status of being a subsidiary of ABC limited as
being a subsidiary of its subsidiary i.e. XYZ private limited. Examine the validity of

the claim of PQR private limited.

State the relationship if any, between ABC limited & XYZ private limited as per the
provisions of The Companies Act, 2013. (7 Marks)

The Indian Partnership Act does not make the registration of firms compulsory, yet

the consequences or disabilities of non-registration have a persuasive pressure for

their registration. Still, there arc some cases where non-registration of firm does not
affect certain rights. — Explain with reference to the provisions of the Indian
Partnership Act, 1932. i (6 Marks)

Sony, a friend of Priya wanted to buy her two-wheeler. Priya agreed to sell her
two-wheeler to Sony and it was decided that price of her two-wheeler will be fixed by
Priya’s father, who is an auto dealer. Priya immediately handed over the keys to
Sony. However, Priya’s father refused to fix the price as he did not want Priya to sell
her vehicle. Priya expressed her inability to sell the two-wheeler to Sony and asked

for return, but Sony refused to return the same. Explain —
(i) Can Priya take-back the vehicle from Sony?

(ii) Will your answer be different, if Priya had not handed over the vehicle to Sony?
(7 Marks)
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Ram wants to incorporate a company in which he will be the only member. According

to provisions of The Companies Act, 2013, what type of company can be incorporated?

What are the salient features of this type of company? y (7 Marks)

A LLP is a new form of legal business entity with limited liability. It's an alternative

corporate business vehicle that only gives the benefits of limited liability at low

compliance cost but allows its partners the flexibility of organizing their -internal

structure as a traditional partnership. Keeping in view of above, define the following

characteristics of LLP.

@
(ii)
(1i1)
(v)

@

(i1)

Body Corporate
Mutual Agency
Foreign LLPs

Artificial legal persan (6 Marks)

P, Q, and R formed a partnership agreement to operate motor buses along
specific routes for a duration of 12 years. After operating the business for four
years, it was observed that the business incurred losses each year. Despite this,
P is determined to continue the business for the remaining Period. Examine
with reference to the Indian Partnership Act, 1932, Can P insist to continue the
business? If so, what options are available to @ and R who are reluctant to

continue operating the business? (4 Marks)

A and B operate a textile merchant business in partnership. Mr. A finances the
business and is a sleeping partner. In the regular course of business, B acquires
certain fabric goods belonging to C. However, B is aware that these goods are
stolen property. Despite this knowledge, B proceeds to purchase and sell some
of these stolen goods. Moreover, B records proceeds from these sales in the
firm's books. Now, A wants to avoid the liability towards C, on the grounds of
misconduct by B. In the light of the provisions of the Indian Partnership Act,
1932 discuss the liability of A and B towards C. (3 Marks)
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XYZ is a company incorporated under The Companies Act, 2013 .

The paid up share capital of the company is held by others as on 31.03.2024 is

as under :

(1) Government of India . 20%
(2)  Life Insurance Corporation of India (Public Institution) . 8%
(3) Government of Tamil Nadu 10%
(4) Government of Rajasthan 10%
(5) ABC Limited (owned by Government Company) 15%

As per above shareholding, state whether XYZ limited be called a
government company under the provisions of The Companies Act, 2013.
(4 Marks)

M and N holding 70% and 30% of the shares in the company. Both died in an
accident. Answer Wifh reference to the provisions of the Companies Act, 2013,
what will be the legal effect on the company as both the members have died?

(8 Marks)

Explain in brief with reference to the provisions of The Indian Contract Act, 1872,

what are the rights enjoyed by Surety against the Creditor, the Principal Debtor and
Co-Sureties? (6 Marks)

@)

Mr. J entered into an agrecement with Mr. S to purchase his house for
%20 lakh, within three months. He also paid %50,000/- as token money. In the
meanwhile, in an anti-encroachment drive of the local administration, Mr. S’s
house was demolished. When Mr. J was informed about the incident he asked

for the refund of token money.

Referring to the relevant provisions of the Indian Contract Act, 1872 state
whether Mr. J is entitled to the refund of the amount paid. : (4 Marks)
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(i) Rama directs Shyam to sell laptops for him and agrees to give Shyam eleven
percent (11%) commission on the sale price fixed by Rama for each laptop. As
Government of India put restrictions on import of Laptops, Rama thought that
the prices of laptops might go up in near future and he revokes. Shyam’s
authority for any further sale. Shyam, before receiving the letter at his end,
sold 5 laptops at the price fixed by Rama. Shyam asked for 11% commission on
the sale of 5 Laptops for %1 lakh each. Explain under the provisions of
The Indian Contract Act, 1872 :

(1)  Whether sale of laptops after revoking Shyam’s authority is binding on "

Rama?

(2)  Whether Shyam will be able to recover his commission from Rama, if yes,

. what will be the amount of such commission? (8 Marks)

A promissory note, payable at a certain period after sight, must be presented to the
maker thereof for payment. Under which scenarios presentment for payment is not
necessary and the instrument is dishonoured at the due date for presentment

aécbrding to the provisions of The Negotiable Instrument Act, 18817 (7 Marks)

Describe in brief about the following Regulatory bodies of the Government of India: -
(i)  Securities Exchange Board of India
(i) Reserve Bank of India

(1i1) Illsolvei1cy & Bankruptcy Board of India (6 Marks)

PTC Hotels in Bombay decided to sell their furniture by auction sale. For this

purpose, they appointed RN & Associates as auctioneer. They invited top ten

renowned Architects in Bombay for bidding. A right to bid was not notified by them.

Furniture was put qu in lots for sale. It was decided that for every lot of furniture

XSH-H P.T.O.
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there will be a reserve price. On 25t Feb 2024, Auction sale was started at 10.a.m in
the lawn of PTC Hotels Bombay. For a special lot of furniture three parties came for

bidding Mr. Neel, Mr. Raj and Mr. Dev on behalf of their respective companies.

Bidding was as follows:

Mr. Neel 5.70 lakh
Mzr. Raj ¥4.85 lakh
Mr. Dev £6.10 lakh

The sale was completed in favour of Mr. Neel by RN & Associates by fall of hammer.
Mr. Dev’s Bid was rejected on ground that Right to bid was reserved and company of

Mr. Dev was not invited to bid.

For another bid of Italian Furniture was made by two parties as follows:
Mr. Dheer €15 lakh

Mr. Madhu (on behalf of R N & Associates) T 15.20 lakh

Sale was completed in favour of Mr. Dheer instead of Mr. Madhu.

Mr Dev and Mr. Madhu argued that auction sale was not lawful. Give your opinion
with reference to provisions of thersale of Goods Act, 1930 whether Auction Sale will

be considered lawful or not? (7 Marks)

“Dissolution of partnership doesn’t mean dissolution of firm”. Do you agree with this

statement? State any three situations where court can dissolve the partnership firm.

(7 Marks)
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“Where a party to a contract refuses altogether to perform, or is disabled from
performing his part of it, the other party has a right to rescind it”. Discuss this
statement and the effects of such refusal under the provisions of The Indian Contract
Act, 1872. (6 Marks)

Mr. Y issued a cheque for ¥ 10,000 to Mr. Z which was dishonoured by the Bank
because Y did not have enough funds in his account and has no authority to
overdraw. Examine as per the provisions of the Negotiable Instruments Act, 1881
whether-

(i) Mr. Y is liable for dishonour of cheque, if yes, what are the consequences for
such an offence?

(i) What would be your answer if Y issued a cheque as a donation to Mr. Z?
(7 Marks)

Explain the term Wagering agreement in the light of the Indian Contract Act, 1872.
Also, explain some transactions resembling with wagering transaction but which are

not void.
OR

What is the meaning of contingent contract? Write briefly its essentials. Also, explain

any three rules relating to enforcement of a contingent contract.
(6 Marks)

dJ, a wholesaler of premium Basmati rice delivered on approval 100 bags of rice of
10 kg each to a local retailer, on sale or returnable basis within a month of delivery. .
The next day the retailer sold 5 bags of rice to a regular customer K. A week later
K informed the retailer that the quality of rice was not as per the price.

The retailer now wants to return all the rice bags to J, including the 4 bags not used
by K. Can the retailer do so?

Also briefly describe the provisions underlying in this context of the Sale of Goods
Act, 1930. : (7 Marks)
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